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19-29AM| (329) | 3.54 3.08 2.86

30cH (315) | 3.36 3.09 2.88

- 40r§ (386) | 3.44 2.99 2.96

50LH (417) | 3.56 2.92 2.94

60cH (365) | 3.75 3.02 3.03

70| of & (188) | 3.88 3.12 3.04

SEA (1018), 3.55 3.02 2.94

=53 (210) | 3.52 3.00 2.95

= z254 (192) | 3.53 3.02 2.88

ok 24 (302) | 3.58 | 3.05 | 2.93

dalA (191) | 3.72 3.06 3.13

Z/HF (87) | 3.52 2.95 2.80

M2 (329) | 3.60 2.93 2.92

ERZ (229) | 3.43 3.07 3.00

(e slo|EZ (971) | 3.56 3.04 2.96

A e (142) | 3.68 3.18 3.06

Elgt (92) | 3.63 3.14 2.82

7|Et (237) | 3.58 2.92 2.88

2002k ojgk | (265) | 3.43 2.85 2.80

AHa 200-400%+ o|2H (690) | 3.51 2.98 2.95

717 |400-6002H o|2H (570) | 3.59 3.09 2.94
A= )
)

8002Hy o4 | (213



[H6] =ME SHY M3 Hz 58 HA SUMMARY (A1)

~ = = = oA | 7|t =
M OR L dHE AR eg2  susg | WEF
[ BBl | (2000)| 3.57 3.02 2.95 3.33 2.56 3.73
PES IE olst (510) | 3.48 2.96 .88 3.23 255 3.66
B L= oAb (1490)] 3.60 3.05 2.97 3.36 2.56 3.75
19 (338) | 3.42 2.97 2.86 3.25 2.49 3.53
sl o0 (568) | 3.60 3.02 2.97 3.29 2.60 3.73
* 3-4 (1013)|  3.59 3.04 2.97 3.37 257 3.79
59 0|t (81) | 3.62 2.95 283 3.38 256 3.89
A JE (339) | 376 = 324 | 312 | 340 276 | 3.87
=
%4;5 gle (1661)| 3.52 2.98 2.91 3.31 252 3.70
HE3 A2 (89) | 3.69 3.39 3.20 3.44 3.04 3.80
]
=0}
ZAIR gls (1911)| 3.56 3.01 2.94 3.32 2 54 3.73
=33 ola | (772) | 3.70 3.11 3.05 3.38 2.67 3.82
o= ;
de = 1-23| (670) | 3.56 3.05 2.94 3.37 2.56 3.76

obgt (658) | 3.37 2.87 2.81 3.22 2.41 3.58

98 |



[#7] =it SRE 47 = _HF 2 SUMMARY

==

600-8002H o|gH (262) |60.3/158(29.0| 76 (27.5/ 72 |48.1/126|13.7| 36 |67.9/178

NEES oF | @HR e %OJQET —’Fﬁg% H=F

% N| % N|% | N|%| N|%| N| % N

m Hx . (2000) 56.2112425.5/ 509 |23.8 475 42.6 851 |14.4/ 288|63.9/1277

o =4 (1008)|57.0/ 575 25.8/ 260|24.7| 249|41.5/ 418 /15.3/ 154|57.7| 582

o{d (992) |55.3/ 549 |25.1| 249 22.8/ 226 |43.6 433|13.5/13470.1| 695

19-29A (329) |55.3/182(29.2 96 |25.5 84 (46.2/152/14.9 49 |56.5 186

30cH (315) |43.5/137/30.5/ 96 |21.0 66 43.2 136(14.3 45 |51.4/162

o124 40ty (386) |51.3/198|22.5/ 87 |22.8 88 (43.5/168/13.2 51 |61.9 239

50LH (417) |54.4/ 227|22.8 95 |21.8 91 38.4/160(12.7| 53 |71.0/ 296

60CH (365) |67.1/245|23.6/ 86 |26.6/ 97 |41.9 153|14.5 53 |71.5 261

70M| of & (188) |71.8/135/26.1| 49 |26.1| 49 |43.6 82 [19.7 37 |70.7/133

+zH (1018)|55.5/565(26.3 268|24.1/ 245 45.3/ 461 |14.6 149/64.7| 659

=53 (210) |50.0 105/21.9| 46 |22.4/ 47 |40.0 84 | 9.5 20 |59.5 125

A= d=3 (192) |56.3/108|27.1| 52 |22.4/ 43 |40.6 78 |18.8 36 |65.6 126

% a3 (302) |58.3/176|25.8/ 78 |23.2 70 |33.4/101/12.9 39 |64.9 196

dalA (191) |66.0 126|24.1| 46 |29.3 56 (47.1| 90 |18.3| 35 |66.0, 126

ZRl/HF (87) |50.6 44 |21.8 19 [16.1 14 |42.5/ 37 [10.3 9 |51.7| 45

xR (329) 59.6/ 196 /22.2| 73 |20.7| 68 |44.1/145/11.9 39 |72.6 239

ERZ (229) |45.9 105|27.5/ 63 |24.9 57 |35.4/ 81 |14.4/ 33 |59.0, 135

ol slo| EZ (971) |55.8 542 |25.4/ 247 |24.3| 236 |44.3 430 |14.8 144/63.2/ 614

eSfeal

bl (142) |62.0 88 [35.9 51 |29.6 42 |45.1| 64 |17.6 25 |64.8 92

g (92) |64.1) 59 [33.7 31 |22.8 21 |46.7| 43 [12.0/ 11 |59.8 55

7|Et (237) |56.5/134|18.6/ 44 21.5 51 |37.1| 88 |15.2 36 59.9 142

2002 o|gk | (265) |46.0/122|20.0 53 |18.9 50 (36.2| 96 [13.2| 35 |57.4/ 152

Ygz 200-4002+2 o|2H (690) 52.5 362 |24.1/166/23.2/ 160 /40.4/ 279 |15.4/ 106 59.1| 408

JI'—Z 400-6002H 0|2t (570) |58.9/336|27.4/ 156|23.2/ 132|44.2/ 252|13.5/ 77 |67.5/ 385
=5 )
)

800TH Of A+ (213) |68.5/146/27.2 58 |28.6/ 61 |46.0, 98 |16.0 34 |72.3 154



(H7] =it2 SFE
[ RSB |
EYES 1nE olst
E L= oAt
19
e 2
AL
T 3-44
5% o|4t
ofE ojo
xl‘l‘ﬂ PN=]
=
- oo
Z)dg HATS
IHEE L=
T4
ZOf
EJYIA] A=
F 33 of4
*E = -
F 1-23|
HIE
obgt

100 |

At 5
% | N | %

(2000)|56.2[112425.5
(510) |50.6/ 258 |21.6
(1490)58.1/ 866 |26.8
(338) |47.3/160|24.3
(568) |58.8/ 334 |25.2
(1013)|57.7/585|26.2

(81) |55.6 45 |23.5

(339) 167.0 227/34.8

(1661)/54.0/89723.5

(89) |55.1) 49 |41.6

(1911)/56.3/107524.7

(772) |64.8500/29.0
(670) |55.1/369|26.0
(558) |45.7/255(19.9

A

AR | ses
N| % | N | % | N

509/23.8 475/42.6| 851
110/22.4 114/36.3/ 185
399|24.2/ 361 44.7 666
82 |21.9) 74 140.5137
143/23.4/133/40.3/ 229
265|24.9/252/44.0 446

19 119.8 16 |48.1) 39

118(32.4/110/45.1/ 153

391/22.0/ 365/42.0 698

37 |34.8/ 31 |43.8 39

472123.2/ 444 142.5 812

224/27.3/211/46.0/ 355
174123.0 154 44.0 295
111]19.7,11036.0/ 201

EX]

ol

% | N

14.4 288|63.91277
13.3 68 |61.8/ 315
14.8 220|64.6/ 962
15.7 53 |53.8/ 182
12.0, 68 |64.8 368
15.4/156|65.8/ 667

13.6 11 |74.1] 60

20.9 71 |71.4 242

13.1/217]62.31035

32.6 29 64.0 57

13.6/ 259|63.8/1220

17.7/137/68.4| 528
14.8/ 99 |65.2/ 437
9.3| 52 55.9/ 312



]
*
+
>
Mo
o
Jn
UE
x
4
re
|.|-|
<
Jn

x5 L] BDE AF of AE
A4 OF o | MF o TS| MmEE | wa

% N | % N | % | N | % | N| %/ N

[ RSN | (2000) 0.7 14 8.2 164 34.9 698 46.3 926 9.9 198

o A (1008) 0.8 | 8 | 7.3 | 74 |34.8) 351 |45.4 458 |11.6| 117
oy (992) | 0.6 | 6 | 9.1 | 90 |35.0/ 347 47.2 468 8.2 81

19-294| (329) | 1.8 6 |10.3| 34 |32.5 107 42.9 141 12.5 41

30th (315)| 1.3 | 4 |[11.1] 35 |44.1 139 /37.5| 118 | 6.0 | 19

o 40t} (386) | 0.8 3 |12.2| 47 | 35.8 138 45.1 174 6.2 | 24
50CH (417) 0.0 0 | 6.7 | 28 38.8 162 46.5 194 7.9 33

60cH (365) | 0.3 1 | 4.1 | 15 28.5 104 54.8 200 12.3 45

70A O[A | (188) 0.0 | O 2.7 5 255 48 52.7 99 19.1| 36

+=H (1018) 0.7 | 7 | 91 | 93 34.7 353 45.5 463 10.0| 102

53 (210)| 0.5 1 | 48| 10 44.8 94 424 89 7.6 16

= z=4d (192) | 0.5 1 |11.5| 22 |31.8) 61 46.9 90 9.4 18
X 2 (302) 1.0 3 | 7.6 23 33.1 100 48.7 147 | 9.6 | 29
e (191) | 1.0 2 | 37| 7 293 56 53.9 103 12.0 23

Zel/HF (87) ' 0.0 0 10.3 9 39.1| 34 391 34 11.5 10
S (329) 0.9 3 | 58| 19 33.7 111 51.4 169 82 27

g2y (229) | 1.3 3 | 7.9 | 18 45.0 103 38.0 87 7.9 18

el slo| ez (971) | 0.4 | 4 | 8.7 | 84 351 341 46.5 452 9.3 90
NEES (142) 0.7 | 1 | 7.0 10 |30.3| 43 47.2 67 14.8 21

SH4Y (92) ‘22| 2 76 7 (261 24 533 49 10.9 10

7|Et (237)| 0.4 | 1 |11.0/ 26 |32.1| 76 |43.0| 102 |13.5| 32

2009kl O|gk | (265) | 1.1 | 3 | 10.2 27 42.6 113 36.2 96 9.8 | 26

e 200-4002+2l oO|gH (690) | 0.9 | 6 | 7.4 | 51 |39.3| 271 |44.8/ 309 | 7.7 | 53
7k |400-6002H 0|2k (570) | 0.7 | 4 | 8.1 | 46 32.3 184 49.8 284 91 | 52
*5 600-s002k olet (262) 0.4 | 1 | 84| 22 309 81 47.3 124 13.0 34
800k ofab | (213) 0.0 O | 85 18 23.0 49 531 113 155 33
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NE
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25
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[ RSP |
A
o{N
19-29A|
30th
40cH
50CH
60CH

70M| of At

200-4002H4
400-6002+H
600-8002+H

8002+ of

u}

u}

u}

At
=

=[3
2t

2t

HE= 1) o7 AH
N EIFSEN (28]
% | N | % | N
(2000)| 8.9 | 178 | 34.9| 698
(1008)| 8.1 | 82 |34.8| 351
(992) | 9.7 | 96 |35.0/| 347
(329) |[12.2| 40 |32.5 107
(315) |[12.4| 39 |44.1| 139
(386) |13.0/ 50 |35.8| 138
(417) | 6.7 | 28 |38.8| 162
(365) | 4.4 | 16 |28.5| 104
(188) | 2.7 | 5 |25.5| 48
(1018) 9.8 | 100 | 34.7| 353
(210) | 5.2 | 11 |44.8| 94
(192) |[12.0| 23 |31.8| 61
(302) | 8.6 | 26 |33.1] 100
(191)| 4.7 | 9 |29.3| 56
(87) [10.3| 9 |39.1 34
(329) | 6.7 | 22 |33.7| 111
(229) | 9.2 | 21 |45.0| 103
(971)| 9.1 | 88 |35.1| 341
(142)| 7.7 | 11 |30.3| 43
(92) | 9.8| 9 |26.1| 24
(237) |11.4| 27 32.1| 76
(265) | 11.3| 30 |42.6| 113
(690) | 8.3 | 57 [39.3| 271
(570) | 8.8 | 50 |32.3| 184
(262) | 8.8 | 23 |30.9| 81
(213)| 8.5 | 18 1 23.0| 49

(5% &)

3.57
3.60
3.53
3.54
3.36
3.44
3.56
3.75
3.88
3.55
3.52
3.53
3.58
3.72
3.52
3.60
3.43
3.56
3.68
3.63
3.58
3.43
3.51
3.59
3.64
3.76

(1007 &t
g
64.13
64.93
63.31
63.45
58.97
60.95
63.91
68.70
72.07
63.75
62.98
63.28
64.57
68.06
62.93
65.05
60.81
63.90
67.08
65.76
64.56
60.85
62.75
64.65
66.03
68.90



| b |
3= IE o|st
o
= LE oAt
14
el 24
A
T 3-49
5% o|&t
0‘[1% ol
XIQ‘:' =]
=
A as
5
HE S L=
o
2o}
Z AR} A=
Z 33| ofat
25 = _
F 1-2%]|
BT
ozt

HF HE 1) oF
s
Az | A3 ket
% | N
(2000)| 0.7 | 14
(510)| 1.0 | 5
(1490) 0.6 | 9
(338) | 1.2 | 4
(568) | 0.4 | 2
(1013) 0.7 | 7
(81) | 1.2 1
(339) 0.6 | 2
(1661) 0.7 | 12
(89) | 1.1 1
(1911)| 0.7 | 13
(772)| 0.5 | 4
(670)| 0.6 | 4
(558) | 1.1 | 6

5.6

8.7

4.5

8.4

4.9
8.1
12.9

38
54
72

34.9
38.6
33.6
40.5
33.5
34.0
33.3

26.8

36.5

39.3

34.7

29.8
36.3
40.3

607

35

663

230
243
225

MimE<JENES
EEE]
=

%
46.3
41.8
47.9
39.6
49.8
47.3
37.0

51.0

45.3

34.8

46.8

53.1
44.6
38.9

N
926
213
713
134
283
479

173

753

895

410
299

e RE
M3
% N
9.9 | 198
8.8 | 45

10.3| 153
7.7 26
9.0 51

10.5| 106

18.5| 15

15.9| 54
8.7 | 144

20.2| 18
9.4 | 180

11.71 90

10.4| 70
6.8 38

i | 103



[H8] =itE2 SRYE
| b |
EYES 1E olst
=t 0z ola
14
e 24
AL
T 3-49Y
5% o|4t
0{13-_5 ol
=
A He
Z)dg HA'DS
IH=E B ole
T
2ot
EJYIA] e
+ 3% o4
2= - .
o 1-23]
iz T
okst

104 |

F HIE 1) OlF
CIESES
NEES [ .
% N
(2000) 8.9 | 178
(510) | 10.8| 55
(1490) 8.3 | 123
(338) [12.1| 41
(568) | 7.7 | 44
(1013) 8.3 | 84
(81) [11.1] 9
(339) 6.2 | 21
(1661)| 9.5 | 157
(89) | 5.6 5
(1911), 9.1 | 173
(772) | 5.4 | 42
(670) | 8.7 | 58
(558) | 14.0| 78

39.3

34.7

29.8
36.3
40.3

137
190

344
27

607

35

663

230
243
225

55.1

56.3

64.8
55.1
45.7

1124
258
866
160
334
585

45

227

897

49

1075

500
369
255

(5% &)

3.57
3.48
3.60
3.42
3.60
3.59
3.62

3.76

3.52

3.69

3.56

3.70
3.56
3.37

(1007 shet
gz]
64.13
61.91
64.88
60.43
64.92
64.81
65.43

69.03

63.12

67.13

63.98

67.62
64.07
59.36
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o
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a
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N
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% N | % | N| % | N| %| N| %

[ RSPl | (2000)| 1.4 | 28 | 23.7| 473 49.5/ 990 22.2 443 | 3.3

e e (1008)| 1.6 | 16 |22.9| 231 | 49.7| 501 | 22.6| 228 | 3.2
014 (992) | 1.2 | 12 |24.4| 242 |49.3| 489 | 21.7| 215 | 3.4

19-294 (329) | 3.0 | 10 |22.8| 75 |45.0| 148 |21.6| 71 | 7.6

3ot (315)| 1.9 | 6 |21.3| 67 |46.3| 146 |27.3| 86 | 3.2

- 40CH (386)| 0.5 | 2 |24.9/ 96 |52.1| 201 |19.9| 77 | 2.6
50C4 (417) | 1.4 | 6 |28.8| 120 |47.0/ 196 22.1| 92 | 0.7

60CH (365)| 0.8 | 3 |22.5| 82 |53.2| 194 |20.8| 76 | 2.7

70M| 0|4t (188)| 0.5 | 1 |17.6| 33 |55.9| 105|21.8 41 | 4.3

| (1018)] 1.2 | 12 |25.6| 261 | 46.9| 477 |22.8 232 3.5

ek (210)| 0.5 | 1 |22.9 48 | 54.8| 115|20.5 43 | 1.4

= a4 (192) | 1.6 | 3 |25.0| 48 |46.4| 89 |24.0| 46 | 3.1
X 2 (302) 2.3 7 |18.9 57 53.0/ 160 22.8 69 | 3.0
MakA (191)| 2.1 | 4 [18.3| 35 | 55.5| 106 |19.4 37 | 4.7

UA/HF (87) | 11| 1 |27.6| 24 |49.4| 43 |18.4| 16 | 3.4
HeFs (329) | 1.8 | 6 |27.7| 91 |48.3| 159 |20.1| 66 | 2.1

e (229) | 2.2 | 5 |18.8| 43 |51.5| 118 |24.9 57 | 2.6

Al slo|EZ (971)| 0.6 | 6 |23.4| 227 | 50.6| 491 |22.7| 220 | 2.8
Rpd e (142)| 0.0 | 0 |22.5| 32 |41.5| 59 |31.7) 45 | 4.2

B (92) | 65| 6 |17.4 16 |42.4 39 |22.8| 21 [10.9

7|t (237)| 21| 5 |27.0| 64 |52.3| 124 | 14.3| 34 | 4.2

2002l ojgk | (265) 2.3 | 6 | 34.0| 90 |43.8| 116 17.0| 45 | 3.0

AHa 200-4002+el O|2H (690) | 1.9 | 13 1 24.6| 170 | 49.4 341 |21.3| 147 | 2.8
7} |400-6002H o|gH (570) | 0.9 | 5 |20.4) 116|51.4 293 23.3 133 | 4.0
=5 600-8008+2 O|2H (262) | 1.1 | 3 |21.8| 57 |48.1| 126 26.7| 70 | 2.3
8002k O|4F | (213)| 0.5| 1 |18.8) 40 |53.5 114 22,5 48 | 4.7



RS i B Bl - T “0%%]%“
% N | % | N | % | N
[ RSPl | (2000) 25.1| 501 | 49.5 990 | 25.5 509 3.02 50.58
o 4o (1008) 24.5| 247 | 49.7| 501 | 25.8| 260 3.03 50.72
oM (992) | 25.6| 254 | 49.3| 489 | 25.1| 249 3.02 50.43
19-294A| (329) |25.8| 85 |45.0| 148 |29.2| 96 3.08 51.98
30cH (315) | 23.2| 73 1 46.3| 146 |30.5| 96 3.09 52.14
- 40t (386) |25.4| 98 |52.1| 201 |22.5 87 2.99 49.81
50CH (417) 130.2| 126 1 47.0| 196 | 22.8| 95 2.92 47.96
60ch (365) | 23.3| 85 |53.2| 194 23.6| 86 3.02 50.55
70M| o4t (188) |18.1| 34 |55.9| 105 26.1| 49 3.12 52.93
3 (1018)26.8| 273 | 46.9| 477 | 26.3| 268 3.02 50.47
XA (210) | 23.3| 49 |54.8 115 /21.9 46 3.00 49.88
HE= a54 (192) | 26.6| 51 |46.4 89 27.1 52 3.02 50.52
% Zu (302) 21.2| 64 53.0 160 25.8| 78 | 3.05 51.32
el (191) | 20.4| 39 |55.5 106 24.1| 46 3.06 51.57
2 /M (87) |28.7| 25 |49.4) 43 21.8 19 2.95 48.85
Meixs (329) |29.5| 97 |48.3| 159 22.2| 73 2.93 48.25
sy (229) |21.0| 48 |51.5 118 27.5 63 3.07 51.75
. slo| EZY (971) | 24.0 233 | 50.6| 491 | 25.4| 247 3.04 50.90
R (142) |22.5| 32 | 41.5| 59 |35.9| 51 3.18 54.40
£ (92) |23.9| 22 |42.4| 39 |33.7 31 3.14 53.53
71t (237) |29.1| 69 |52.3| 124 |18.6| 44 2.92 47.89
2002l ojgk | (265) 36.2 96 | 43.8| 116 20.0| 53 2.85 46.13
. 200-400%+ o]k (690) | 26.5| 183 | 49.4| 341 | 24.1| 166 2.98 49.60
7 |400-6002+ O]k (570) | 21.2| 121 | 51.4| 293 | 27.4| 156 3.09 52.32
o 600-8002+ 0|2t (262) 22.9| 60 |48.1| 126 |29.0| 76 3.07 51.81
800%H oAb | (213) | 19.2| 41 |53.5 114 |27.2| 58 3.12 53.05

106 |



| b |
EYES IE o|st
= L= ofAb
19
el 24
A
T 3-49
5% o|&t
oz e
XI°_|:' =]
=
A )
5
HE S L=
Tk
2o}
Z AR} A=
= 39| o|4
2= - _
= 1-23]
Bl T
ozt

(1911)

(772)
(670)
(558)

0.0

1.5

1.3
0.6
2.5

13.5

241

19.9
22.5
30.1

417

49.5
51.4
48.9
46.7
50.7
49.9
48.1

47.8

49.8

44.9

49.7

49.7
50.9
47.5

828

40

950

384
341
265

ulmE xF

EEE]

%

N

22.2| 443
19.4] 99

23.1
20.7
22.4
22.7
19.8

24.5
22.8
18.1

344
70
127
230
16

94

349

2.9

4.5
3.1
1.8

56

35
21
10
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(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

%
25.1
271
24.4
29.0
241
24.0
28.4

17.4

26.6

13.5

25.6

21.2
23.1
32.6

442

489

164
155
182

44.9

49.7

49.7
50.9
47.5

162

828

40

950

384
341
265

25.5
21.6
26.8
24.3
25.2
26.2
23.5

34.8

23.5

24.7

29.0
26.0
19.9

509
110
399
82
143
265

118

391

37

472

224
174
11

(5% &)

3.02
2.96
3.05
2.97
3.02
3.04
2.95

3.24

2.98

3.39

3.01

3.1
3.05
2.87

(1007 shet
gz]
50.58
48.92
51.14
49.33
50.62
51.11
48.77

55.90

49.49

59.83

50.14

52.75
51.34
46.64



ulmE xF

INETES N

% N | % | N| % | N| %| N

[ RSPl | (2000)| 2.9 | 58 |25.7| 514 | 47.7| 953 | 21.3| 425

o A (1008)| 2.5 | 25 |24.1| 243 | 48.7| 491 | 22.0| 222
04y (992) | 3.3 | 33 |27.3| 271 | 46.6| 462 | 20.5 203

19-29A| (329)| 8.5 | 28 |26.1| 86 |39.8 131 |22.2| 73

30cH (315)| 5.1 | 16 |25.7| 81 |48.3| 152 |18.1| 57

- 40y (386)| 1.6 | 6 |26.4| 102|49.2) 190 | 20.5| 79
50C4 (417) | 1.0 | 4 |26.9| 112|50.4| 210 20.4| 85

60CH (365)| 0.5 | 2 |23.8| 87 |49.0 179 24.9 91

70M oAt (188) | 1.1 | 2 |24.5| 46 |48.4| 91 |21.3] 40

| (1018)| 3.1 | 32 |26.1| 266 | 46.7| 475  21.5 219

ek (210)| 2.4 | 5 |25.2| 53 |50.0 105 19.5 41

= z284 (192) | 3.6 | 7 |28.6| 55 |45.3| 87 |20.8 40
X 2 (302) 2.0 6 |27.8 84 47.0 142 21.2 64
MakA (191)| 2.6 | 5 |[15.2| 29 |52.9| 101 |25.7| 49

ZA/HF (87) | 3.4| 3 [31.0 27 |49.4) 43 |13.8] 12
HeFs (329)| 1.2 | 4 |28.0| 92 |50.2 165 18.5 61

e (229)| 2.6 | 6 |22.3| 51 |50.2| 115|22.7| 52

Al slo|EZY (971) | 3.1 | 30 |24.7| 240 | 47.9| 465 22.1| 215
Rpd e (142)| 0.7 | 1 |27.5| 39 |42.3| 60 23.9 34

i (92) | 9.8 | 9 |23.9 22 |43.5 40 20.7| 19

7|t (237) | 3.4 | 8 |29.5| 70 |45.6| 108 |18.6| 44

2002Hl o|gk | (265)| 4.2 | 11 |32.5| 86 |44.5| 118 |16.6| 44

e 200-4002+el O|2H (690) 2.6 | 18 | 25.2| 174 |49.0 338 |21.2| 146
7H# |400-600%H 0|2H (570) | 3.0 | 17 |25.8| 147 | 48.1 274 21.1| 120
=5 600-8002+ 0|2t (262) | 2.7 | 7 |23.7| 62 |46.2| 121 |24.8| 65
800gH oA | (213)| 2.3 | 5 |21.1 45 |47.9 102 |23.5 50



RS i B Bl - T “0%%]%“
% N | % | N | % | N
[ RSPl | (2000)| 28.6| 572 | 47.7 | 953 | 23.8 475 2.95 48.69
" e (1008)| 26.6 | 268 | 48.7 | 491 | 24.7| 249 2.98 49.58
0y (992) | 30.6| 304 | 46.6| 462 | 22.8| 226 2.91 47.78
19-294A| (329) 1 34.7) 114 /39.8| 131 |25.5 84 2.86 46.43
30ch (315) | 30.8| 97 |48.3| 152 21.0/ 66 2.88 46.98
- 40ty (386) | 28.0 108 | 49.2| 190 | 22.8| 88 2.96 48.90
50CH (417) | 27.8| 116 1 50.4| 210 | 21.8| 91 2.94 48.62
60ch (365) | 24.4| 89 |49.0) 179 26.6| 97 3.03 50.82
70M| oAk (188) |25.5| 48 |48.4) 91 26.1 49 3.04 51.06
=23 (1018)29.3| 298 | 46.7 | 475 | 24.1| 245 2.94 48.55
XA (210) | 27.6| 58 | 50.0| 105 |22.4| 47 2.95 48.81
HE= a54 (192) |32.3| 62 |45.3 87 |22.4 43 2.88 47.01
x| a4 (302) | 29.8| 90 | 47.0| 142 23.2) 70 | 2.93 48.34
el (191) |17.8| 34 |52.9| 101 29.3 56 3.13 53.14
2 /M (87) |34.5| 30 |49.4 43 [16.1| 14 2.80 4511
Meixs (329) |29.2| 96 |50.2| 165 |20.7| 68 2.92 48.10
sy (229) |24.9| 57 |50.2| 115 |24.9| 57 3.00 49.89
. slo| EZY (971) | 27.8| 270 | 47.9| 465 | 24.3| 236 2.96 48.89
R (142) | 28.2| 40 |42.3 60 29.6/ 42 3.06 51.58
£ (92) |33.7| 31 |43.5 40 22.8 21 2.82 45.38
7| et (237) 132.9| 78 1 45.6| 108 |21.5| 51 2.88 47.05
2002l ojgk | (265) 1 36.6| 97 | 44.5| 118 18.9| 50 2.80 45.09
. 200-400%+ 0|2k (690) |27.8| 192 | 49.0| 338 |23.2| 160 2.95 48.70
7} |400-6002H o|gk (570) | 28.8| 164 | 48.1 274 | 23.2| 132 2.94 48.38
o 600-8002+ 0|2t (262) |26.3| 69 |46.2| 121 |27.5| 72 3.01 50.29
8009k O|&F | (213) | 23.5| 50 |47.9| 102 |28.6| 61 3.08 52.00
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| b |
EYES IE o|st
= L= ofAb
19
el 24
A
T 3-49
5% o|&t
oz oo
XI°_|:' =]
=
A )
5
HE S L=
o
2o} -
Z AR} A=
Z 33| ofat
25 = _
F 1-2%]|
HT
ozt

g3 gz 3) iF
s
Az | A3 ket
% | N
(2000)| 2.9 | 58
(510)| 3.1 | 16
(1490)| 2.8 | 42
(338) | 4.4 | 15
(568) | 2.6 | 15
(1013)| 2.3 | 23
(81) 1 6.2 5
(339)| 1.2 | 4
(1661)] 3.3 | 54
(89) | 0.0 0
(1911)| 3.0 | 58
(772) | 1.8 | 14
(670) | 2.7 | 18
(558) | 4.7 | 26

23.6

25.8

22.3
25.4
30.8

439

47.7
45.3
48.5
45.3
50.2
47.3
44 .4

44.2

48.3

47.9

48.6
49.0
44.8

803

37

375
328
250

ulmE xF

EEES

%
21.3
20.8
21.4
20.4
20.4
22.5
14.8

28.6

19.7

25.8

23.8
21.0
17.9

N
425
106
319

100

3.8

2.2

9.0

2.2

3.5
1.9
1.8

42

27
13
10
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[ JESEol |
IE olst

tHE old

(1911)

(772)
(670)
(558)

23.6

28.8

241
28.1
35.5

551

186
188
198

47.7
45.3
48.5
45.3
50.2
47.3
44 .4

44 .2

48.3

47.9

48.6
49.0
44.8

722
153
285
479
36

150

803

37

916

375
328
250

23.8
22.4
24.2
21.9
23.4
24.9
19.8

32.4

22.0

34.8

23.2

27.3
23.0
19.7

475
114
361
74
133
252

110

365

444

211
154
110

(5% &)

2.95
2.88
2.97
2.86
2.97
2.97
2.83

3.12

2.91

3.20

2.94

3.05
2.94
2.81

(1007 shet
gz]
48.69
47.11
49.23
46.52
49.34
49.28
45.68

52.95

47.82

55.06

48.39

51.23
48.54
45.34



[
+
2
o
o
Jn
g
x
i
re
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e
=
otn
o
Jn

% N | % | N| % | N| %| N

[ RSPl | (2000)| 1.4 | 28 |12.4| 248 | 43.7| 873 | 37.0| 740

e e (1008)| 1.5 | 15 |11.7| 118 | 45.3| 457 | 36.1| 364
04y (992) | 1.3 | 13 [13.1] 130 | 41.9| 416 | 37.9 376

19-29A| (329)| 3.3 | 11 |[13.1| 43 |37.4| 123 |37.4| 123

30th (315)| 2.5 | 8 |12.7| 40 |41.6| 131 38.7| 122

. 40y (386)| 1.0 | 4 [13.7| 53 |41.7| 161 |37.6| 145
50CH (417)1 0.5 | 2 |12.0| 50 |49.2| 205 |34.5| 144

60CH (365)| 0.5 | 2 [11.0| 40 |46.6 170 | 37.0 135

70M oAt (188) | 0.5 | 1 |11.7| 22 |44.1| 83 |37.8| 71

| (1018)| 1.3 | 13 [12.2] 124 | 41.3| 420 | 39.3| 400

ek (210)| 1.0 | 2 |17.1] 36 |41.9| 88 | 35.2| 74

= z284 (192)| 21| 4 |13.0| 25 |44.3| 85 |35.9] 69
A 2 (302) 1.0 3 |[11.9 36 53.6 162 29.8 90
MakA (191) | 1.6 | 3 | 8.4 | 16 |42.9| 82 |40.3| 77

ZA/HF (87) | 3.4| 3 |12.6/ 11 |41.4 36 |34.5 30
HeFs (329)| 1.5 | 5 [10.0| 33 |44.4 146 39.2 129

74 (229) | 2.6 | 6 | 9.6 | 22 |52.4| 120 |31.4| 72

Al slo|EZY (971) | 1.1 | 11 |12.0| 117 | 42.5| 413 |38.8| 377
Rpd e (142)| 0.0 | 0 [12.7| 18 |42.3| 60 |36.6| 52

i (92) | 3.3| 3 |13.00 12 |37.00 34 |35.9| 33

7|Et (237) | 1.3 | 3 [19.4| 46 |42.2/ 100 |32.5| 77

2002kl o|Bk | (265)| 3.4 | 9 |20.4| 54 | 40.0| 106 |31.7| 84

e 200-4002Hel O|2H (690) 1.2 | 8 |11.7| 81 |46.7| 322 |35.7 246
7k |400-600%H olgH (570) | 1.2 | 7 [10.7| 61 |43.9| 250 38.2| 218
=5 600-8002+ 0|2 (262) | 1.1 | 3 | 9.2 | 24 |41.6/ 109 43.1| 113
8002k o|4F | (213)| 0.5| 1 |13.1| 28 |40.4 86 |37.1| 79
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12

Ag
71+

=
25

114 |

[ JRSbl |
=1
oM

19-29A|
30cH
40ti
50cH
60cCH

70M| of At

2002+t of
200-4002H4
400-6002+H
600-8002+H
8002+ of

|:|‘_|.
o
o
o

A}
o

|:|‘_|.
|:|‘_|.

|:|‘_|.

At

(2000)
(1008)
(992

(1018)

ElSE

%
13.8
13.2
14.4
16.4
15.2
14.8
12.5
11.5
12.2
13.5
18.1
15.1
12.9
9.9
16.1
11.6
12.2
13.2
12.7
16.3
20.7
23.8
12.9
11.9
10.3
13.6

276
133
143

48
57
52
42
23
137

43.7
45.3
41.9
37.4
41.6
4.7
49.2
46.6
44 1
41.3
41.9
44.3
53.6
42.9
41.4
44.4
52.4
42.5
42.3
37.0
42.2
40.0
46.7
43.9
41.6
40.4

205
170
83
420
88
85
162
82

146
120

413
60

100
106
322
250
109
86

%
42.6
41.5
43.6
46.2
43.2
43.5
38.4
41.9
43.6
45.3
40.0
40.6
33.4
471
42.5
441
35.4
44.3
451
46.7
37.1
36.2
40.4
44.2
48.1
46.0

279

252
126
98

(5% &)

3.33
3.32
3.34
3.35
3.30
3.34
3.29
3.35
3.37
3.37
3.26
3.28
3.23
3.42
3.31
3.36
3.24
3.35
3.41
3.38
3.20
3.14
3.31
3.37
3.42
3.41

(1007 &ht
g
58.23
58.04
58.42
58.81
57.46
58.42
57.31
58.70
59.18
59.14
56.43
57.03
55.79
60.60
57.76
58.97
56.11
58.86
60.21
59.51
54.96
53.40
57.79
59.25
60.40
60.21
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T 3-49
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=
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5
HE S L=
T
2o}
Z AR} A=
+ 3% o4
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F 1-23|
BT
oFst

At

(2000)
(510)
(1490)
(338)
(568)

(1911)

(772)
(670)
(558)

1.4

1.4

dF HE 4) AN

23

27

o=
%E'rr

=E]
=

o3

%
12.4
14.9
11.5
13.9
13.9

2
[e]X=13

e}

ol

Z

248
76
172
47
79

9.0 8

12.6| 240

12.4| 96
10.4, 70
14.7, 82

A%

28

%
43.7
47.6
423
42.6
44.7
43.9
37.0

441

46.1

43.5

40.4
443
47.3

ulmE xF

AF e

%
37.0
32.0
38.7
36.1
35.7
37.7
40.7

35.7

39.5
38.4
31.9

N
740
163
577

305
257
178

5.3

6.5
5.7
41

101

50
38
23
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[ JESEol |
IE olst

tHE old

At

ElSE

%

N

(2000) 13.8| 276

(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

16.1
13.0
16.9
15.0
12.0
14.8

13.3

13.9

10.1

14.0

13.6
11.6
16.7

82
194
57
85
122
12

45

231

267

105
78
93

43.7
47.6
42.3
42.6
44.7
43.9
37.0

44 1

46.1

43.5

40.4
44.3
47.3

732

832

312
297
264

42.6
36.3
44.7
40.5
40.3
44.0
48.1

451

42.0

43.8

42.5

46.0
44.0
36.0

851
185
666
137
229
446
39

153

698

39

812

355
295
201

(5% &)

3.33
3.23
3.36
3.25
3.29
3.37
3.38

3.40

3.31

3.44

3.32

3.38
3.37
3.22

(1007 shet
gz]
58.23
55.83
59.04
56.29
57.22
59.33
59.57

59.96

57.87

60.96

58.10

59.42
59.22
55.38



p
= ot
i

600-800%2+ o

9.9 | 26 [35.9 94 |40.5 106 |11.1| 29 | 2.7
11.7) 25 |36.6| 78 |35.7| 76 |14.6/ 31 | 1.4

% | N | % N % N| %] N| %

mEA W (2000) 11.6 232 36.5 730 37.5 750 13.0 260 1.4

- LA (1008) 9.2 | 93 | 34.6| 349 | 40.9 412 |14.0 141 1.3

0fAd (992) | 14.0| 139 | 38.4 381 34.1| 338 12.0 119 1.5

19-20A (329) 25.8 85 |31.9 105 27.4| 90 12.2 40 | 2.7

30cH (315) |18.7| 59 |40.3| 127 |26.7| 84 [13.0 41 | 1.3

s a0t (386) | 9.8 | 38 |42.2| 163 | 34.7| 134 11.9 46 | 1.3

50t (417)| 8.9 | 37 36.7 153 41.7 174 11.8 49 | 1.0

60} (365) | 2.7 | 10 |32.9) 120 49.9| 182 13.7 50 | 0.8

704l Ol4 | (188)| 1.6 3 133.0| 62 |45.7 86 18.1 34 | 1.6

e (1018) 12.8 130 | 38.4| 391 | 34.2 348 | 13.3 135 1.4

ExA (210) | 12.9| 27 |34.3 72 43.3 91 8.1 17 | 1.4

= z=a (192) | 10.4 20 |38.0 73 |32.8 63 17.2 33 | 1.6

A 2 (302) | 8.6 26 32.8| 99 |45.7 138 12.9 39 | 0.0

Hab (191) | 10.5 20 |36.6| 70 34.6, 66 15.2 29 | 3.1

2el/HF (87) 110.3 9 |28.7 25 50.6| 44 8.0 7 | 2.3

Moz (329) | 9.4 31 36.2 119 42.6 140 10.6, 35 | 1.2

S22 (229) | 10.5 24 |32.3 74 42.8 98 13.5 31 | 0.9

o | STOISEE (971)117) 114 1387 376 347 337 135 131 1.3

il (142) | 4.9 7 |30.3 43 47.2| 67 14.8 21 | 2.8

e (92) 129.3 27 |34.8 32 23.9 22 9.8 9 | 22

7|E} (237) [12.2| 29 |36.3 86 36.3 86 13.9 33 | 1.3

2008tgl ojgk | (265) 10.6| 28 |38.1| 101 38.1 101 12.5 33 | 0.8

AHa 200-4002H 0|2k (690) |13.3| 92 | 36.2| 250 | 35.1| 242 |14.5/ 100 | 0.9

JF 400-6008H ojgH (570) | 10.7| 61 |36.3| 207 39.5 225 11.8| 67 1.8
5 (262)
(213)

8002+ o4t

o A
M

e
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o w| o Z

W W OO

~

O WIS G RND O O W W
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RS i B Bl - T “0%%]%“
% N | % | N | % | N

[ RSPl | (2000)| 48.1| 962 | 37.5| 750 | 14.4| 288 2.56 39.03
" e (1008)| 43.8| 442 | 40.9| 412 | 15.3| 154 2.63 40.87
oM (992) | 52.4| 520 | 34.1| 338 | 13.5| 134 2.49 37.15
19-294A| (329) | 57.8| 190 | 27.4| 90 |14.9| 49 2.34 33.51
30cH (315)|59.0 186 | 26.7| 84 |14.3| 45 2.38 34.44
- 40t (386) | 52.1| 201 | 34.7| 134 |13.2| 51 2.53 38.15
50CH (417)45.6/ 190 | 41.7| 174 |12.7| 53 2.59 39.81
60CH (365) | 35.6| 130 | 49.9| 182 |14.5| 53 2.77 44.25
70M| o4t (188) |34.6| 65 45.7| 86 |19.7| 37 2.85 46.28
=z (1018)|51.2| 521 | 34.2| 348 | 14.6| 149 2.52 38.02
XA (210) /471 99 |43.3) 91 | 95| 20 2.51 37.74
HE= a54 (192) | 48.4| 93 |32.8 63 18.8 36 2.61 40.36
xl a4 (302) | 41.4) 125 45.7| 138 | 12.9 39 | 2.63 40.73
el (191) /471 90 |34.6) 66 18.3 35 2.64 40.97
2 /M (87) |39.1| 34 |50.6| 44 [10.3 9 2.63 40.80
Meixs (329) | 45.6| 150 | 42.6| 140 | 11.9 39 2.58 39.51
sy (229) |42.8| 98 |42.8 98 |14.4 33 2.62 40.50
. slo| EZY (971) | 50.5| 490 | 34.7| 337 |14.8| 144 2.54 38.49
R (142) | 35.2| 50 |47.2| 67 |17.6) 25 2.80 45.07
£ (92) |64.1| 59 |23.9] 22 [12.0 11 2.21 30.16
7| et (237) | 48.5/ 115 /36.3| 86 |15.2]| 36 2.56 38.92
2002k ojgk | (265) 48.7| 129 38.1| 101 [13.2| 35 2.55 38.68
. 200-400%+ O|TH (690) | 49.6| 342 | 35.1| 242 | 15.4| 106 2.53 38.33
I} 400-6002H o|gH (570) | 47.0| 268 | 39.5| 225 13.5 77 2.58 39.39
o 600-8002+ 0|2t (262) |45.8| 120 | 40.5| 106 | 13.7| 36 2.61 4017
8002t oAb | (213)48.4| 103 |35.7 76 |16.0 34 2.57 39.32
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ozt
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At HF
%
(2000)| 11.6
(510)
(1490)[11.5
(338)
(568)
(1013)[12.2

(81)

12.0

14.8
8.5

12.3
(339) | 8.8

(1661) 12.2

(89) | 3.4

(1911)/12.0

(772)
(670)
(558)

9.2
12.4
14.0

ofst

N
232
61
171
50
48
124
10

30

202

229

71
83
78

30.1

37.8

25.8

37.0

34.8
35.1
40.5

628

23

707

269
235
226

37.5
40.0
36.6
32.2
43.3
36.0
37.0

401

37.0

38.2

37.5

38.2
37.8
36.2

295
253
202

ulmE xF

EEE]

%
13.0
12.5
13.2
15.4
11.3
13.4

9.9

18.6

11.9

28.1

12.3

15.5

N
260
64
196
52
64
136
8

63

197

25

235

120

13.4] 90

9.0

50

2.2
1.3
0.4
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(1911)

(772)
(670)
(558)

48.1
46.7
48.6
52.1
44.7
48.6
49.4

38.9

50.0

29.2

49.0

44.0
47.5
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962
238
724
176
254
492
40

132

830

26

936

340

304

38.2

37.5

38.2
37.8
36.2

136

614

34 132.6

716 | 13.6

295 17.7
253 | 14.8
202 | 9.3

217

29

259

137
99
52

(5% &)

2.56
2.55
2.56
2.49
2.60
2.57
2.56

2.76

2.52

3.04

2.54

2.67
2.56
2.41

(1007 shet
gz]
39.03
38.87
39.08
37.28
39.88
39.14
38.89

43.88

38.03
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19-29A| (329) | 3.98 3.78 4.04
30ch (315) | 3.90 3.75 3.97
o1 40rH (386) | 4.08 3.96 4.09
50cH (417) | 4.15 3.90 4.09
60LH (365) | 4.22 3.81 4.08
70M| of At (188) | 4.26 3.79 412
| (1018), 4.09 3.81 4.04
=53 (210) | 4.02 3.80 4.03
= z254 (192) | 4.07 3.74 4.07
| A= (302) 413 | 3.95 | 4.12
MajA (191) | 4.13 3.98 418
ZA/H (87) 410 3.78 3.95
HAFH (329) | 4.14 3.72 4.02
=74y (229) | 4.02 3.76 3.95
i slo| EZ (971) | 4.10 3.89 4.10
N bal (142) | 4.19 3.85 4.06

1
a4 (92) 4.05 3.89 4.10
4.01 3.87 4.07
3.96 3.75 3.98

slz 7 200-4008 4.04 | 379 | 4.04

o
g8 8 &
e

rio
[m]
re
S o e st
©
o

7F# 1 400-6002F 570 410 3.84 4.06
25 1600-8002+ 0|2 (262 4.19 3.90 413
800TH Of A+ 213 4.27 4.06 418

i

+
W0

Ix
rol i go > 2

O o
b
ol



[E17] =420 gt Q1A 5™ HAa SUMMARY (AZ)

old
=
AME | FsAMO|
sz Y H2S FRPE Pei=Hz
N 2 | FAES sl W 2mE3H =, G
TeD | dEE | EE ) AME | Rgs | M2s
i MAE | SAl9| ol A sHEko| chef
AT S2 | sue | sew +uss e | e
iy | RHIF | AXE | mol | fuEZ | SuEE
j;q olct olct | MFsllob| &89l | dFlste
= st MAFske 2ol
Zo| Ect Lo
o|EC
Rkl | (2000)  4.09 3.84 4.06 3.96 4.00 2.82
5z IE olst (510) | 4.03 3.73 4.02 3.93 3.99 .88
B L= oAb (1490)| 4.11 3.88 4.08 3.97 4.00 2.80
19 (338) | 4.01 3.83 4.05 3.89 3.95 2.79
sl L (568) | 4.11 3.77 4.03 4.01 3.98 2.87
* 3-4 (1013)|  4.09 3.87 4.08 3.95 4.01 2.82
5% 0|4t (81) | 4.32 3.98 4.21 411 419 2.69
A JE (339) | 417 | 399 | 417 | 405 408 | 292
=
%4;5 glg (1661)| 4.07 3.81 4.04 3.94 3.98 2.80
HE s US (89) | 3.97 3.84 3.98 3.98 3.92 3.10
St
20}
EJVE! gle (1911)| 4.10 3.84 4.07 3.96 4.00 281

F 33 olab | (772) | 4.18 3.84 413 4.07 4.09 2.86

s= .
i F 1-23 (670) | 4.05 3.86 4.05 3.93 3.96 2.82
ok3t (558) | 4.02 3.81 3.99 3.85 3.91 2.78

138 |



orE Mol | 217,
bo=ixI2o],

gictd, €17 §
ook e
A| MBS 2t
MET L e snsol
shRet | AYs
FMES | AME
Mg | ozl
Zolct | Mztsict
[ BN | (2000)| 3.95 3.68
=y (1008), 3.93 3.64
L]
014 (992) | 3.96 3.72
19-294A) (329) | 3.82 3.40
30cH (315) | 3.82 3.41
40t (386) | 3.93 3.65
oy
50cH (417) | 3.99 3.80
60cH (365) | 4.06 3.92
70M| of At (188) | 4.10 3.98
FTAH (1018), 3.94 3.65
s5A (210) | 3.92 3.65
= 4= (192) | 3.89 3.66
Ay A (302) | 3.98 3.75
el (191) | 3.99 3.83
Zel/HF (87) 3.94 3.68
HAFR (329) | 3.97 3.79
S5 (229) | 3.92 3.66
= 2|
o] Slo|EZ (971) | 3.94 3.67
Atd e (142) | 4.07 3.88
Elgt (92) 3.93 3.42
| E (237) | 3.90 3.58
2002t ojgk | (265) | 3.86 3.56
e 200-4002+ o|gt (690) | 3.91 3.65
7t |400-6002H o|gt (570) | 3.95 3.67
&5 1600-8002+8 0|3t (262) | 4.01 3.79
800CH O|AF | (213) | 4.09 3.84

r

=10 T
"0 o AT
—mo Hn



140 |

(ISPl |

At =

(1911)

(772)
(670)
(558)

o

i}

-

T ol

t

0,

Ho
=

0
0
il
8N

02
00

ok
u
0% o

0o
0
rot

ol

o
S I
o o MO

om

\N]
gl

3.95
3.97
3.94
3.91
3.98
3.94
3.94

4.00

3.93

3.79

3.95

4.01
3.94
3.86

217,
x|,

3.76

3.67

3.72

3.68

3.81
3.61
3.60

58 W@ SUMMARY (Al%)

3.56

3.32

3.69

3.35

3.53
3.31
3.18

3.27

2.83

3.01
2.84
2.64

3.32
3.21
2.98

= lo -
0 i
=1 i

-+
MM
ol

3.84

3.71

3.83
3.67
3.60



He , °

% N | % | N| % | N| %| N| % | N
[ RSBl | (2000) 0.4 | 8 | 0 14 | 12.8| 255 | 61.8| 1235 24.4| 488
o A (1008) 0.6 | 6 | 0.9 9 |15.7 158 |57.7 582|25.1| 253
04y (992) | 0.2 | 2 | 05| 5 | 9.8 97 658 653 23.7| 235
19-204] (329) | 0.3 1 | 12| 4 |20.1| 66 |57.4 189|21.0| 69
30th (315)| 1.0 | 3 | 1.6 5 |[18.4) 58 |64.1| 202 |14.9| 47
- 40CH (386) | 0.0 0 | 1.0| 4 |14.0| 54 61.1 236|23.8| 92
50CH (417)/ 0.5 2 | 02| 1 | 9.4| 39 |64.0/ 267 |25.9| 108
60CH (365)| 0.3 1 | 00| 0 | 7.1| 26 |63.0| 230 |29.6| 108
70M| 0|4t (188)| 0.5 1 | 00| 0 | 6.4 12 59.0 111 34.0| 64
| (1018) 0.5 | 5 | 0.7 7 |11.8/ 120 |63.6| 647 | 23.5| 239
ek (210)/ 0.0 0 | 1.0| 2 |17.6]| 37 |59.5 125|21.9| 46
A= z284 (192) | 0.0 0 | 0.0| 0 |14.1| 27 |65.1| 125|20.8| 40
A 2 (302) 0.3 1 | 1.0 3 11.9) 36 58.6 177 28.1| 85
MakA (191)/ 1.0 2 | 05| 1 |[10.5| 20 |60.7 116|27.2| 52
ZA/HF 87) | 0.0 0 |11 1 [17.2) 15 |51.7| 45 |29.9| 26
HeFs (329)/ 0.3 1 | 03| 1 | 85| 28 67.2| 221 |23.7| 78
g2 (229)| 0.9 | 2 | 04| 1 [17.9] 41 |57.6| 132|23.1| 53
Al slo|EZY (971)/ 01| 1 | 0.8 | 8 |11.7| 114|63.5 617 |23.8| 231
R (142)/ 0.7 1 | 00| 0 |12.7| 18 | 52.8/ 75 |33.8 48
i (92) | 0.0 0 | 1.1 1 [13.0) 12 |65.2| 60 |20.7| 19
7|Et (237) | 1.3 | 3 | 1.3 | 3 |17.7| 42 |54.9) 130 | 24.9| 59
2008k ojgk | (265)| 1.1 3 | 1.9 | 5 18.5| 49 |57.0| 151 |21.5| 57
AHa 200-4002+e oj2H (690) | 0.3 | 2 | 0.7 | 5 |15.1| 104 |62.5 431 |21.4| 148
7+ |400-6002+2 o|2H (570) | 0.4 | 2 | 0.5 3 |12.5 71 62.5 356 |24.2| 138
=5 600-8002+ 0|2t (262) | 0.4 | 1 | 0.4 | 1 | 5.7 | 15 |66.4| 174 27.1| 71
8002k ol | (213) 0.0 O | 00| O | 7.5| 16 |57.7| 123 |34.7| 74



[E18] &= 0ff CHeh Q14 1) 4
AZ)
(]
NEIES
%
[ RSN | (2000) 1.1
A (1008)| 1.5
oSk
o{M (992) | 0.7
19-294| (329) | 1.5
30t} (315) | 2.5
40t} (386) | 1.0
il
50CH 417)] 0.7
60CH (365) | 0.3
70M| oAb (188) | 0.5
N (1018) 1.2
53 (210)| 1.0
A= a=24 (192) | 0.0
ok zuA (302) | 1.3
Metd (191)| 1.6
/A= (87) | 1.1
HF2 (329) | 0.6
=5z (229) | 1.3
sto|EZY (971) | 0.9
e
Rpied (142) | 0.7
A (92) | 1.1
7|t (237) | 2.5
2008kl Ojgk | (265) | 3.0
_,_ |200-4002F2 o|gH (690) | 1.0
dy
717 |400-6002H OBt (570) | 0.9
A=
" 1600-8002F O|2H (262) | 0.8
8oogkel o|at | (213) 0.0

142 |

— W s O N

O Wi

[& RN I N e

%

12.8 255 86.2|1723

16.7
9.8
20.1
18.4
14.0
9.4
7.1
6.4
11.8
17.6
14.1
11.9
10.5
17.2
8.5
17.9
11.7
12.7
13.0
17.7
18.5
15.1
12.5
5.7
7.5

158
97
66

120

%

82.8
89.5
78.4
79.0
85.0
89.9
92.6
93.1
87.0
81.4
85.9
86.8
88.0
81.6
90.9
80.8
87.3
86.6
85.9
79.7
78.5
83.9
86.7
93.5
92.5

N

835
888
258
249
328
375
338
175
886
171
165
262
168
71
299
185
848
123
79
189
208
579
494
245
197

(5% &)

4.09
4.06
412
3.98
3.90
4.08
4.15
4.22
4.26
4.09
4.02
4.07
413
413
4.10
4.14
4.02
4.10
4.19
4.05
4.01
3.96
4.04
4.10
4.19
4.27

(1007 &ht
g
77.26
76.46
78.07
74.39
72.62
76.94
78.66
80.41
81.52
77.21
75.60
76.69
78.31
78.14
77.59
78.42
75.44
77.52
79.75
76.36
75.21
73.96
76.01
77.41
79.87
81.81



[H18] =tt=0f CHEH
A=)
[ RSB |
EYES 1nE olst
B L= ofAb
19
el 24
3-44
5% ol4t
ol & 9l
Xlgﬁi AT
HF o
70;{‘%:..{ HA DT
IE 3 =
T
=0f
Z AR} A3
+ 3% o4
= = -
1-23
gl L

At

(2000)| 0.4

(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

0.8
0.3
0.3
0.4
0.5
0.0

0.3

0.4

1.1

0.4

0.9
0.0
0.2

- n ploo | zZ |

[« IO BN )

the gy
Solstx]
o
% N
0.7 14
0.8 4
0.7 | 10
1.5 5
0.5 3
0.6 6
0.0 O
0.6 2
0.7 12
2.2 2
0.6 12
06 5
0.7 5
0.7 4

10.9

13.1

24.7

12.2

8.5
14.9
15.9

22

233

66

89

61.8 1235

59.4
62.6
62.7
62.1
61.7
55.6

57.8

62.6

42.7

62.6

59.3
63.1
63.4

303
932
212
353
625
45

1039

38

1197

458
423
354

24.4
22.9
24.9
20.1
24.8
24.5
38.3

30.4

23.2

29.2

24.2

30.6
21.2
19.7

248
31

103

385

26

462

236
142



[E18] =At=0f CHDt
A=)
| RSB |
EYES IE olst
=t 0z ola
14
774 24
A
T 3-4
5% oA
i US
X
HE oo
z,;]la:.{ HA DT
IE B =
4k
Y
Z ALK} AnS
F 35| ol
28 =
1-23]
Hl T

144 |

QA 1) fAbE A

H| 52|
INEES [ :

% | N
(2000)| 1.1 | 22
(510) | 1.6 | 8
(1490) 0.9 | 14
(338) 1.8 6
(568) 0.9 | 5
(1013)| 1.1 | 11
(81) | 0.0 0
(339) 0.9 3
(1661)| 1.1 | 19
(89) | 3.4 3
(1911)| 1.0 | 19
(772) 1 1.6 | 12
(670) 0.7 | 5
(558) 0.9 | 5

%
12.8
16.1
11.6
15.4
12.1
12.7

6.2

10.9

13.1

24.7

12.2

8.5
14.9
15.9

255
82
173
52
69
129

37

218

22

233

66
100
89

86.8

89.9
84.3
83.2

299

1424

64

1659

694
565
464

(5% &)

4.09
4.03
4.11
4.01
4.1
4.09
4.32

417

4.07

3.97

410

4.18
4.05
4.02

[100% shet
gz]
77.26
75.74
77.79
75.22
77.64
77.27
83.02

79.35

76.84

74.16

77.41

79.50
76.19
75.45



[H#19] =420 Oigh QA4 _2) RE|Ltet=s MAXE 4= 2H[FO|C

e _ o

% | N | % N % N|%| N| %]| N
mEA N (2000) 0.4 7 3.6 71 26.0 519 51.9 1038 18.3| 365
- LA (1008) 0.4 4 | 3.6 36 23.0 232 |50.3 507 22.7| 229
0fAd (9092) 0.3 3 | 3.5 35 28.9 287 53.5 531 13.7 136

19-20A (329) 0.6 2 | 5.2 17 29.8 98 44.1 145 20.4| 67

30t (315) 0.6 2 | 5.4 17 28.9) 91 48.3 152 16.8| 53

s 40t (386) 0.0 0 | 1.0 4 228 88 54.9 212 21.2| 82
50t (417) 0.0 0 | 2.9 12 22,5 94 56.6 236 18.0 75

60} (365) 0.3 1 | 3.3 12 27| 99 54.2 198 15.1| 55

704l Ol4 | (188)| 11| 2 | 48| 9 261 49 50.5 95 |17.6| 33
>z (1018) 0.3 3 | 3.8 39 |27.3 278 |51.3 522 17.3| 176

ExA (210) 0.5 1 | 3.8 8 28.6/ 60 50.0 105 17.1| 36

H= z=a (192) 0.0 0 |47 9 30.7 59 50.0 96 |14.6 28
A 2 (302) 0.7 2 | 2.0 6 21.5 65 53.0 160 22.8| 69
Hab (191) 0.5 1 |31 6 17.3] 33 555 106 23.6 45

2el/HF (87) | 0.0 0 | 3.4 3 27.6/ 24 56.3 49 |12.6| 11
HeFs (329) 0.0 0 | 3.6 12 31.3 103 54.1 178 10.9| 36

sz (229) 0.4 1 | 5.7 13 27.9| 64 48.9 112 17.0| 39
o | THOISHEE @71 02] 2 34 33 240 233 522 507 202 19
A (142) 0.7 1 | 1.4 2 268 38 549 78 16.2| 23

e 92) 11 1 |33 3 228 21 511 47 |21.7| 20

7|t (237)| 0.8 | 2 | 3.4| 8 |253 60 48.9 116 |21.5| 51

2008tel ojgt | (265) 0.8 2 | 3.4 9 30.2 80 50.9 135 14.7| 39
AHa 200-4002+ o|2H (690) | 0.3 | 2 | 4.8 | 33 |28.3| 195]49.3| 340 |17.4| 120
JFF 400-6008¢l 0lgt (570) | 0.4 | 2 | 3.5 20 |26.3 150 51.6| 294 18.2| 104
*5 |600-s002r%! 0let (262) 0.0 0 | 31 8 |21.4 56 57.6 151 17.9 47
gooztel of&k | (213)| 0.5 1 | 0.5 1 |17.8 38 |55.4| 118 |25.8| 55



[H#19] =420 Oigh 214 2) fE|Ltets MAXY 4= 2H[FOICH (A1)

A2 [Hl=9] [2&] [=2] (5% ®3] [10;%?{\_}
% N | % | N | % | N

[ BN | (2000)| 3.9 | 78 |26.0 519 | 70.2/1403 3.84 71.04
" e (1008)| 4.0 | 40 |23.0| 232 | 73.0| 736 3.91 72.84
0y (992) | 3.8 | 38 |28.9| 287 |67.2| 667 3.77 69.20
19-294| (329) | 5.8 | 19 | 29.8| 98 |64.4| 212 3.78 69.60
30ch (315) 6.0 | 19 | 28.9| 91 |65.1| 205 3.75 68.81
- 40ty (386) | 1.0 | 4 |22.8| 88 |76.2| 294 3.96 74.09
50CH (417) 2.9 | 12 22,5/ 94 |74.6| 311 3.90 72.42
60ch (365)| 3.6 | 13 | 27.1| 99 |69.3| 253 3.81 70.14
70M| oAk (188) | 5.9 | 11 |26.1| 49 |68.1| 128 3.79 69.68
3 (1018)| 4.1 | 42 |27.3| 278 | 68.6| 698 3.81 70.36
XA (210)| 4.3 | 9 |28.6] 60 |67.1 141 3.80 69.88
HE= a54 (192) | 4.7 | 9 30.7| 59 |64.6| 124 3.74 68.62
x| a4 (302)| 2.6 8 21.5| 65 75.8 229| 3.95 73.84
el (191)| 3.7 7 |17.3) 33 | 79.1 151 3.98 74.61
2 /M (87) | 3.4| 3 |27.6) 24 69.0 60 3.78 69.54
Meixs (329) | 3.6 | 12 | 31.3| 103 |65.0| 214 3.72 68.09
sy (229) | 6.1 | 14 |27.9| 64 65.9| 151 3.76 69.10
. slo| EZY (971) | 3.6 | 35 | 24.0| 233 |72.4| 703 3.89 72.19
R (142)| 21| 3 |26.8 38 |71.1| 101 3.85 71.13
B (92) | 43| 4 |22.8 21 72.8 67 3.89 72.28
7| et (237)| 4.2 10 |25.3| 60 |70.5| 167 3.87 71.73
2002k o|gk | (265)| 4.2 | 11 30.2| 80 |65.7 174 3.75 68.87
o 200-4002H o|gk (690) | 5.1 | 35 |28.3| 195 66.7 | 460 3.79 69.67
7} |400-6002H o|gk (570) | 3.9 | 22 |26.3| 150 | 69.8 398 3.84 70.96
o 600-8002+ 0|2t (262) | 3.1 | 8 |21.4| 56 |75.6 198 3.90 72.61
goomky ol | (213) 0.9 | 2 |17.8| 38 |81.2| 173 4.06 76.41
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H XA
EYES 1ZE o|st
== HE olat
19
el 24
2
T 3-44
59 ol¢
e e
x|
=
A 8ls
5
HE S L=
T
=
Z AR} e
= 33| of4t
=3 = -
F 1-23]
BT
okgt

At

(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

23|Ltats
x5
=9|5}X|
shect
% N
0.4 7
0.6 3
0.3 4
0.3 1
0.4 2
0.4 4
0.0 0
0.9 3
0.2 4
1.1 1
0.3 6
0.6 5
0.1 1
0.2 1

MAH
S|
er=ch
% | N
3.6 71
4.7 | 24
3.2 47
4.4 15
46 26
2.7 27
3.7 3
2.4 8
3.8 63
3.4 3
3.6 68
3.4 26
3.3 22
41 23

= SH[FOICH (A1)

23solct

%
26.0
31.6
24.0
25.4
28.7
251
19.8

16.8

27.8

27.0

25.9

25.8
251
27.2

57

462

24

52.1

51.3
53.3

1038
243
795
173
287
536

42

193

845

42

996

396
357
285

%
18.3
156.5
19.2
18.6
15.8
19.0
24.7

23.0

17.3

21.3

18.1

18.9
18.2
17.4

286
63
90

192
20

78

287

346

146
122
97



[#19] =4=0f Ciet 214 _2)

148 |

[ JESEol |
IE olst

tHE old

At

(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

FolLiets MAEY

[Hl=9]
% | N
3.9 78
53 27
3.4 51
4.7 16
4.9 28
3.1 31
3.7 3
3.2 11
4.0 67
45 4
3.9 74
4.0 31
3.4 23
4.3 24

27.0

25.9

25.8
251
27.2

358
86
163
254

57

462

24

495

199
168
152

= 2H=O00 (A1F)

o

%
70.2
63.1
72.6
69.8
66.4
71.9
76.5

79.9

68.2

68.5

70.2

70.2
71.5
68.5

1403
322
1081
236
377
728
62

271

1132

1342

542
479
382

(5% &)

3.84
3.73
3.88
3.83
3.77
3.87
3.98

3.99

3.81

3.84

3.84

3.84
3.86
3.81

(1007 shet
gz]
71.04
68.19
72.01
70.86
69.23
71.84
74.38

74.71

70.29

71.07

71.04

71.11
71.53
70.34



e _ o

% | N | % N % N|%| N| %]| N
mEA W (2000) 0.2 4 1.4 28 16.3 325 56.1 1121 26.1| 522
- LA (1008) 0.1 | 1 | 1.5 15 |17.1 172 |53.0 534 28.4| 286
0fAd (992) 0.3 3 | 1.3 13 15.4 153 59.2 587 23.8 236
19-20A (329) 0.3 1 | 1.8 6 21.0 69 47.1 155 29.8 98
30t (315) 0.3 1 | 2.9 9 20.0 63 53.7 169 23.2| 73
. 40y (386)| 0.0 0 | 1.3 5 |15.0 58 |57.0| 220 |26.7| 103
50t (417) 0.0 0 | 0.2 1 14.6 61 60.9 254 24.2| 101

60} (365) 0.5 2 | 0.8 3 13.4] 49 60.0 219 25.2| 92

704l o1& | (188) 0.0 O | 2.1 | 4 |13.3 25 55.3 104 29.3| 55
Nt (1018) 0.2 2 | 1.7 | 17 |16.8 171|56.5 575 24.9| 253

ExA (210) 1.0 2 | 1.4 3 181 38 52.9 111 26.7| 56

H= z=a (192) 0.0 0 |21 4 151 29 56.8 109 26.0| 50
A 2 (302) 0.0 0 | 1.3 4 13.9] 42 56.0 169 28.8 87
Hab (191) 0.0 0 | 0.0 O 11.0/ 21 59.7 114 29.3 56

2el/HF (87) | 0.0 0 | 0.0 0 27.6/ 24 49.4 43 |23.0| 20
HeFs (329) 0.3 1 | 1.2 4 155 51 62.0 204 21.0 69

sz (229) 0.9 2 | 1.3 3 223 51 52.8 121 22.7| 52
o | STOISEEO71) 01 1 1.3] 13 141137 573 556 272 264
A (142) 0.0 0 | 0.7 1 |17.6| 25 56.3 80 |25.4| 36

e (92) | 0.0 0 |22 2 185 17 46.7 43 32.6| 30

7|et (237) 0.0 0 |21 5 |18.6| 44 49.4 117 30.0| 71

2002t o|gk | (265)| 0.4 | 1 | 1.5 4 |22.6| 60 |50.6| 134 |24.9, 66
qmz 2007400212 Dl8k (690) | 0.1 1 | 2.0 14 16.4 113 56.5 390 24.9 172
7+ |400-6002+2! Of2H (570) | 0.4 | 2 | 09| 5 |16.1] 92 57.7| 329 |24.9| 142
*5 |600-s002k oleH (262) 0.0 0 | 15| 4 126 33 | 57.6 151 28.2) 74
800Bk Ol4F | (213) 0.0 0 | 0.5 1 |12.7 27 54.9 117 31.9] 68
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rot
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ofM
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rot
1=

I ZOIC (A%)

A [H&S2l] [E2&] [S2l] (5% ®3 [10%%]§_M_+
% | N| % N | % N

[ Bl | (2000)| 1.6 | 32 |16.3| 325 82.2 1643  4.06 76.61
o =AM (1008)| 1.6 | 16 |17.1 172 /81.3| 820 4.08 77.01
oy (992) 1.6 | 16 |15.4| 153 |83.0| 823 4.05 76.21
19-29A (329) 2.1 | 7 |21.00 69 |76.9| 253 4.04 76.06
30ch (315) | 3.2 | 10 | 20.0| 63 |76.8| 242 3.97 7413
- 40tH (386) 1.3 5 |15.0 58 83.7| 323 4.09 77.27
50cH (417) 0.2 | 1 |14.6| 61 |85.1 355 4.09 77.28
60cH (365)| 1.4 | 5 |13.4| 49 |85.2 311 4.08 77.12
70M ol &+ (188) | 2.1 | 4 [13.3 25 84.6| 159 412 77.93
Sz (1018)| 1.9 | 19 |16.8| 171 |81.3| 828 4.04 76.03
=53 (210)| 2.4 | 5 | 18.1| 38 | 79.5| 167 4.03 75.71
HE= e (192)| 2.1 | 4 151 29 1 82.8| 159 4.07 76.69
% Zu (302) 1.3 4 13.9 42 |84.8 256| 4.12 78.06
MalA (191) 0.0 0 |11.0/ 21 /89.0/ 170 418 79.58
2Rl /M F (87) 1 0.0 0 |27.6) 24 |72.4| 63 3.95 73.85
HYgFs (329) | 1.5 5 15,5 51 83.0| 273 4.02 75.53
ERZ (229)| 2.2 5 |22.3| 51 |75.5 173 3.95 73.80
. 5lo| EZ 2 (971) | 1.4 | 14 141|137 | 84.4 820 4.10 77.52
R (142) 0.7 1 |17.6| 25 |81.7| 116 4.06 76.58
B (92) | 22| 2 |18.5 17 |79.3| 73 4.10 77.45
7| Ef (237) 2.1 | 5 | 18.6| 44 | 79.3| 188 4.07 76.79
2002k o|gk | (265) 1.9 | 5 |22.6| 60 |75.5| 200 3.98 74.53
. 200-4002+2 o|2H (690) | 2.2 | 15 [ 16.4| 113 |81.4 | 562 4.04 76.01
7+ |400-6002+e! oj2k (570) | 1.2 | 7 |16.1| 92 |82.6| 471 4.06 76.49
S 600-8002+2) o|2H (262) | 1.5 | 4 |12.6| 33 |85.9| 225 413 78.15
8002+l o4t | (213)| 0.5 | 1 |12.7| 27 |86.9] 185 418 79.58
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0.2 3
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% N
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1.8 9
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24| 8
1.2 7
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1.2 1
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1.5] 28
0.9 7
1.9] 13
1.4 8

16.3| 325
18.6 95
15.4| 230
17.8
17.6
15.2

13.6

9.1

17.7

21.3
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14.0
15.7
20.1
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55.3
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55.2
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386
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24.8
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% N
(2000)| 1.6 | 32
(510) | 2.0 | 10
(1490)| 1.5 | 22
(338) | 2.4 | 8
(568) 1.8 | 10
(1013), 1.3 | 13
(81) | 1.2 1
(839) 2.7 9
(1661) 1.4 | 23
(89) | 1.1 ] 1
(1911) 1.6 | 31
(772) | 1.2 | 9
(670) 1.9 | 13
(558) | 1.8 | 10
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1574
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MZOICh (A=)
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4.02
4.08
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4.08
4.21

417
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[E21] =2H=0] CHEt QIAl 4) Lf S s B AN F4ES BO|
A F[sHoF oot
e _ o
% | N | % N % N|%| N| %]| N
mEA W (2000) 0.2 4 2.5 49 20.4 408 54.9 1097 22.1| 442
- LA (1008) 0.3 3 | 3.6 36 22.7 229 50.5 509 22.9| 231
0fAd (992) 0.1 1 | 1.3 13 18.0 179 59.3 588 21.3| 211
19-20A (329) 0.0 0 | 3.6 12 29.5 97 46.8 154 20.1| 66
30t (315) 1.3 4 | 2.5 8 28.6/ 90 53.0 167 | 14.6| 46
e 40t (386) 0.0 0 | 3.4 13 18.9| 73  59.3 229 18.4| 71
50t (417) 0.0 0 | 1.9 8 19.7 82 54.2 226 24.2| 101
60} (365)| 0.0 O | 1.4 5 11.0 40 59.7 218 27.9| 102
704l ol4 | (188) 0.0 O 1.6 3 |13.8 26 54.8 103 29.8| 56
e (1018) 0.3 3 | 3.0 31 |19.9] 203 55.3 563  21.4| 218
ExA (210)| 0.0 | 0 | 1.4 3 21.4 45 56.7 119 20.5| 43
A= z=a (192) 0.0 0 | 3.1 6 18.8 36 58.9 113 19.3 37
A 2 (302) 0.3 1 | 2.0 6 21.9] 66 53.0 160 22.8 69
Hab (191) 0.0 0 | 1.0 2 16.2 31 545 104 28.3 54
Zel/HF 87) | 0.0 0 | 1.1 1 31.0 27 43.7 38 24.1| 21
Moz (329) 0.3 1 | 1.2 4 16.4 54 59.9 197 22.2| 73
=74y (229) | 0.9 | 2 | 3.1 | 7 |20.1| 46 |52.0/ 119 |24.0| 55
g | TOISEE 07001 1 23 22 205 199 561 545 21.0) 204
x5l (142) 0.0 0 | 1.4 2 19.7 28 51.4 73 27.5 39
stul (92) | 0.0 0 |33 3 27.2| 25 53.3 49 |16.3| 15
7|E} (237) 0.0 0 | 4.6 11 23.6| 56 48.1 114 23.6 56
2008tgl ojgt | (265) 0.4 1 | 3.0 8 24.5 65 51.3 136 20.8| 55
AHa 200-4002H o|2k (690) | 0.3 | 2 | 2.5 17 |23.5| 162 52.9| 365 |20.9| 144
7FF 400-6008¢l 0jgt (570) 0.0 | O | 2.6 | 15 18.8 107 58.1 331 20.5 117
*5 |600-s002k olet (262) 04 | 1 | 19 5 156 41 584 153 23.7 62
8o0Bke Ol4F | (213) 0.0 0 1.9 4 155 33 52.6 112 30.0| 64
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[H21] =th=0f Cigh Q1A 4) L ALS 23 H4 AldEoM =422 RO
SOk Shot (74I")
appig| (MBS 18] A s wa) “0%%]%“
% N | % | N | % | N

[ RSPl | (2000)| 2.7 | 53 |20.4| 408 77.0 1539 3.96 74.05
" e (1008)| 3.9 | 39 |22.7| 229 | 73.4| 740 3.92 73.04
oM (992) | 1.4 | 14 |18.0| 179|80.5| 799 4.00 75.08
19-294| (329) | 3.6 | 12 | 29.5| 97 |66.9| 220 3.83 70.82
30ty (315)| 3.8 | 12 | 28.6| 90 |67.6| 213 3.77 69.29
- 40ty (386) | 3.4 | 13 18.9| 73 |77.7| 300 3.93 73.19
50cH (417) 1.9 | 8 |19.7| 82 |78.4| 327 4.01 75.18
60cH (365) 1.4 | 5 |11.0| 40 |87.7| 320 4.14 78.56
70M| oAk (188) 1.6 | 3 | 13.8| 26 |84.6| 159 413 78.19
=23 (1018)| 3.3 | 34 |19.9| 203 |76.7| 781 3.94 73.62
XA (210) | 1.4 | 3 |21.4| 45 |77.1| 162 3.96 74.05
HE= a54 (192) 31| 6 |18.8| 36 |78.1| 150 3.94 73.57
x| a4 (302)| 23 7 21.9 66 75.8 229| 3.96 74.01
e (191) 1.0 2 |16.2| 31 |82.7| 158 410 77.49
2 /M (87) | 1.1 | 1 |31.00 27 67.8 59 3.91 72.70
Meixs (329) | 1.5 5 |16.4| 54 |82.1| 270 4.02 75.61
g2y (229) 3.9 | 9 |20.1| 46 |76.0| 174 3.95 73.80
5 slo|EZ Y (971)| 2.4 | 23 |20.5|/ 199 |77.1| 749 3.96 73.92
Rped e (142) 1.4 2 19.7| 28 |78.9| 112 4.05 76.23
B (92) | 3.3| 3 |27.2 25 69.6] 64 3.83 70.65
7| et (237)| 4.6 | 11 |23.6| 56 |71.7| 170 3.91 72.68
2002 o|gk | (265)| 3.4 | 9 |24.5| 65 |72.1| 191 3.89 72.26
o 200-4002H o|gk (690) | 2.8 | 19 |23.5 162 73.8 509 3.92 72.90
7} |400-6002H o|gk (570) | 2.6 | 15 | 18.8| 107 | 78.6| 448 3.96 7412
=5 600-8002H 0|t (262) | 2.3 | 6 [15.6| 41 |82.1| 215 4.03 75.76
800%H oA | (213) 1.9 | 4 |15.5 33 |82.6| 176 4.1 77.70
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[H21] =4=20] Of
MF[sHor Bt

[ RSB |
EES 1IE 0|3
] L= ofAb
19
el 24
3-44
54 o|at
ol & ol
Xlgﬁi AT
HF oo
70;{‘%:..{ HATDT
HE S L=
o
=0f -
Z AR} A3
F 39 ol4
28 = -
F 1-23]
BT

QA 4y LY A
AZ)

M3

S2|5HX|
MRS et

% | N
(2000) 0.2 | 4
(510)| 0.0 | 0
(1490) 0.3 | 4
(338)| 0.3 1
(568) | 0.2 | 1
(1013) 0.2 | 2
(81) 100 0
(339)| 0.0 ©
(1661) 0.2 | 4
(89) 1 0.0 0
(1911) 0.2 | 4
(772)| 0.3 | 2
(670)| 0.1 | 1
(558) | 0.2 | 1

S2|3HK|
gect
% N
25| 49
2.5 13
2.4 36
3.0 10
2.3 13
2.4 | 24
25 2
18| 6
2.6 43
22 2
2.5 47
1.6 12
3.0 20
3.0 17

20.4
22.7
19.6
23.7
18.3
20.7
17.3

18.0

20.9

22.5

20.3

17.0
19.9
25.8

347

54.9 1097
54.3| 277

55.0
53.8
54.6
56.0
46.9

53.7

55.1

50.6

55.0

53.2
57.6
53.8

820
182
310
567
38

1052

411
386
300

26.5| 90

21.2| 352

24.7| 22

22.0| 420

28.0| 216
19.41 130
17.2| 96



[E21] =220 Cist QA 4) Lf AZS sl HA MUEM M2 S BO|
M ZF[sioF BHC} (74I*)
H| S 2l S g9 s
S i e B [T “Ogﬁ]%*ﬁ*
% | N | % N | % | N i
RSBl | (2000)| 2.7 | 53 |20.4| 408 |77.0/1539| 3.96 74.05
EYES IE olst (510) | 2.5 | 13 |22.7| 116 | 74.7| 381 3.93 73.14
B LIS o|Ab (1490)| 2.7 | 40 |19.6| 292 |77.7|1158| 3.97 74.36
14 (338) | 3.3 | 11 |23.7 80 |73.1| 247 3.89 72.19
Jbsl oy (568) | 2.5 | 14 |18.3 104 | 79.2| 450 4.01 75.31
T 3-44 (1013)| 2.6 | 26 |20.7| 210 | 76.7| 777 3.95 73.67
584 o|A (81) | 2.5 2 [17.3| 14 |80.2| 65 4.11 77.78
ne 21g (339) 1.8 6 18.0] 61 80.2 272| 4.05 76.25
AF o
2 gle (1661)] 2.8 | 47 |20.9| 347 | 76.3|1267| 3.94 73.60
HE = AL (89) | 22| 2 |22.5 20 |75.3| 67 3.98 74.44
er
=0}
= AR} gle (1911)] 2.7 | 51 |20.3| 388 | 77.0/1472]| 3.96 74.03
z 35 oA | (772)| 1.8 | 14 |17.0| 131 |81.2| 627 4.07 76.78
SE
s x 1-23 (670) | 3.1 | 21 |19.9 133 | 77.0| 516 3.93 73.28
okst (558) | 3.2 | 18 |25.8 144 | 71.0| 396 3.85 71.19
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[H22] =420 it QA 5) (AR =Q2 = QN7 3 X|Hit gHE0| &2
+=AZ2E 29 dF St Ao| £t
M| oo
= & 2| 5}K| = off £
Z0|5tK L HEo|C| Z9o|5h| o
aea| S e It 1B oz
% N | % | N| % | N % N| %]|N
"R R | (2000) 0.4 7 | 1.9 38 19.7 393 53.7 1074 24.4 488
st = (1008) 0.3 | 3 | 2.2 | 22 | 20.6| 208 |51.7 521 |25.2| 254
oc 014 (992) | 0.4 4 |16 16 18.6 185 55.7 553 23.6 234
19-204 (329) 0.3 1 |40 13 289 95 459 151 21.0/ 69
30t} (315) 13| 4 |29 9 273 86 51.4 162 17.1| 54
e 40t} (386) 0.3 1 | 2.6 10 |19.9 77 |56.2| 217 |21.0, 81
- 50tH (#417) 02| 1 | 1.0 4 16.3 68 54.9 229 27.6 115
60TH (365) 0.0 0 | 0.3 1 132 48 559 204 30.7 112
70M oAb | (188) 0.0 O | 05 1 101 19 59.0 111 30.3| 57
~z (1018) 0.4 | 4 | 22| 22 212 216 51.3| 522 | 25.0 254
e e (210) 0.0 0 | 1.4 3 20.0 42 54.8 115 23.8 50
H= z=a (192) 00 0 |31 6 19.8 38 583 112 18.8 36
x4 Zu (302) 1.0 3 | 1.7 5 17.5 53 57.9 175 21.9| 66
Mata (191) 00 0 |05 1 13.6 26 56.0 107 29.8 57
Zel/H % 87) 0.0 0 |11 1 207 18 49.4 43 28.7| 25
SISE (329) 0.6 2 |06 2 143 47 61.4 202 231 76
=52 (229) | 0.9 2 | 1.3 3 |20.5| 47 |52.8| 121 | 24.5| 56
.. sfolezal | (971) | 0.3 | 3 | 2.3 22 19.6 190 53.1 516 24.7 240
- TS (142) 00| 0 | 1.4 2 176 25 52.8 75 28.2 40
Ay (92) | 0.0 0 |43 4 283 26 489 45 185 17
7|t (237)| 0.0| 0 | 21| 5 |24.5 58 48.5| 115|24.9 59
2009kl ojgk | (265) 0.0 O | 2.6 7 26.0 69 521 138 19.2| 51
aAma 200-4002+2) O|2H (690) | 0.4 | 3 | 1.9 | 13 | 20.3| 140 |55.4| 382 | 22.0| 152
7} |400-6002t2) ook (570) | 0.4 | 2 | 2.1 | 12 |19.8| 113 |52.5 299 | 25.3| 144
A5
600-8002+ O|2H (262) 0.8 | 2 1.5 4 156 41 553 145 26.7, 70
800kl O|AF | (213) 0.0 O |09 2 141 30 51.6 110 33.3 71

B2 A% | 157



[H22] =420 CHDE Q14 5) MR, =/EE= 207t 34 Xt 20| =2
FME2 TES| HFSH= Aol SO (A=)
WNEES el =& ==l (58 "] “%‘%?ﬁ
% | N| % N | % N

H A m (2000)| 2.3 | 45 [19.7 393 78.1 1562  4.00 74.98
e =R~ (1008)| 2.5 | 25 |20.6| 208 |76.9| 775 3.99 74.83
044 (992) | 2.0 | 20 |18.6| 185 |79.3| 787 4.01 75.13
19-29A (329) | 4.3 | 14 |28.9| 95 |66.9| 220 3.83 70.82
30tH (315) | 4.1 | 13 |27.3| 86 |68.6| 216 3.80 70.08
- 40LH (386) | 2.8 | 11 [19.9| 77 |77.2| 298 3.95 73.77
50LH (417)| 1.2 | 5 |16.3| 68 |82.5| 344 4.09 77.16
60LH (365)| 0.3 | 1 |13.2| 48 |86.6| 316 417 79.25
70M| of & (188)| 0.5 | 1 |10.1| 19 |89.4| 168 4.19 79.79
Sz (1018)| 2.6 | 26 |21.2| 216 |76.2| 776 3.98 74.56
=33 (210)| 1.4 | 3 |20.0| 42 |78.6| 165 4.01 75.24
A= 454 (192) | 3.1 | 6 |19.8| 38 |77.1| 148 3.93 73.18
ok Zu (302) | 2.6 8 |17.5 53 |79.8 241| 3.98 74.50
HMalA (191)| 0.5 | 1 |13.6| 26 |85.9| 164 4.15 78.80
LA/ F (87) | 1.1 | 1 |20.7| 18 |78.2| 68 4.06 76.44
HYgFs (329) | 1.2| 4 |14.3| 47 |84.5| 278 4.06 76.44
=52y (229) | 2.2 | 5 |20.5| 47 |77.3| 177 3.99 74.67
e 3to| EZ 2 (971) | 2.6 | 25 |19.6| 190 | 77.9| 756 4.00 74.92
R (142) | 1.4 | 2 |[17.6| 25 |81.0| 115 4.08 76.94
Eip (92) | 4.3 | 4 |28.3 26 |67.4 62 3.82 70.38
7|E} (237) | 2.1 | 5 |24.5 58 |73.4| 174 3.96 74.05
2002k o2k | (265)| 2.6 | 7 |26.0 69 |71.3| 189 3.88 71.98
e 200-4002+e O|2H (690) | 2.3 | 16 |[20.3| 140 | 77.4| 534 3.97 7417
7t7 |400-6002H O|BH (570) | 2.5 | 14 |19.8| 113 | 77.7| 443 4.00 75.04
= 600-8002+l ol2H (262) | 2.3 | 6 |15.6| 41 |82.1| 215 4.06 76.43
800zt oAb | (213) 0.9 | 2 |14.1 30 85.0 181 417 79.34

158 |



[£22] £AS0) T3 Q14| 5) QAR SQHL
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7t 3A4

19.7
21.6
19.0
22.8
19.5
19.1
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23.1
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54.7| 815
52.4| 177
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[H23] =4t=0f Cigh Q14 6) 28 RIMEASS, =2 &R/ 5)0| RHEHEIE,
Y2 O 2Ret =M4E2 GFSke A0| U0 O|FCh

He n °

% N | % | N| % | N| %| N| % | N

[ RSBl | (2000) 12.1| 242 | 26.2| 523 | 33.9 678 23.0 459 | 4.9 | 98

e e (1008) 10.7| 108 | 23.8| 240 | 33.1| 334 | 26.9 271 | 5.5 | 55

04y (992) |13.5| 134 | 28.5| 283 | 34.7| 344 | 19.0| 188 | 4.3 | 43

19-294 (329)| 9.4 | 31 |27.4/ 90 |35.0/ 115/21.3| 70 | 7.0 | 23

30cH (315)|11.4| 36 |28.6| 90 |38.1| 120 |19.4| 61 | 25| 8

- 40cH (386) |13.5| 52 |24.4| 94 | 37.3| 144 |20.2| 78 | 4.7 | 18

50CH (417)13.4| 56 |26.4| 110 |31.2| 130 | 23.3] 97 5.8 | 24

60CH (365) |13.4| 49 |27.1| 99 | 28.2| 103 |26.6| 97 | 4.7 | 17

70M| 0|4t (188)| 9.6 | 18 |21.3| 40 |35.1| 66 [29.8| 56 | 4.3 | 8

| (1018)/12.3| 125 | 26.5| 270 | 34.8| 354 | 22.0| 224 | 4.4 | 45

ek (210) |12.4| 26 |25.2| 53 |36.2| 76 |23.8) 50 | 2.4 | 5

A= z284 (192) |13.0| 25 |27.6| 53 |30.7| 59 22.9 44 57| 11

X 2 (302) | 10.9| 33 |25.8| 78 |34.1 103 252 76 | 4.0 | 12

MakA (191) |13.1| 25 |23.6| 45 |29.8| 57 |24.6/ 47 | 8.9 | 17

LA/HF (87) | 9.2| 8 |27.6| 24 [33.3) 29 20.7 18 | 9.2| 8

HeFs (329) |13.4| 44 |27.7| 91 |35.0/ 115/19.8 65 4.3 | 14

=74 (229) [14.0| 32 |27.1| 62 |27.5 63 26.6/ 61 | 4.8| 11

- sto|EZ Y (971) |11.9| 116 | 26.2| 254 | 34.3| 333 | 22.7| 220 | 4.9 | 48

R (142) |13.4| 19 |22.5| 32 |35.2| 50 |23.2| 33 | 56| 8

= (92) | 8.7 | 8 |26.1| 24 |37.0 34 |20.7, 19 | 76| 7

7|Et (237) | 9.7 | 23 |25.3| 60 |35.0| 83 |25.7 61 | 4.2| 10

2008k o|gk | (265)| 9.4 | 25 (26.8 71 34.0| 90 |25.3| 67 | 4.5 12

P 200-4002 0|t (690) | 12.0| 83 |26.1| 180 | 32.8| 226 | 23.8| 164 | 5.4 | 37

7H |400-6002H 0|2H (570) |13.0| 74 |24.6) 140 | 37.4| 213 |20.5| 117 | 4.6 | 26

=5 600-8002+ o|gt (262) |14.5 38 |27.1| 71 |30.9) 81 225 59 | 5.0 13

8002k O|AF | (213)10.3| 22 |28.6| 61 31.9 68 |24.4| 52 | 4.7 | 10



st 014l 6) AR QIUHASE, £2 8 5)0| LECIRE,
CH §R3 $4122 HHSHE 20| UZ OIELH (%)

appig| (MBS 18] A s wa) “0%%]%“
% N | % | N | % | N

[ BN | (2000)| 38.3| 765 | 33.9 | 678 | 27.9| 557 2.82 45.60
e e (1008)| 34.5| 348 | 33.1| 334 | 32.3| 326 2.93 48.14
oM (992) | 42.0| 417 | 34.7| 344 | 23.3| 231 2.72 43.02
19-294| (329) | 36.8| 121 |35.0| 115 | 28.3| 93 2.89 47.26
30ty (315) | 40.0| 126 |38.1| 120 | 21.9| 69 2.73 43.25
- 40ty (386) | 37.8| 146 |37.3| 144 | 24.9| 96 2.78 44 56
50cH (417)139.8| 166 |31.2| 130 | 29.0/ 121 2.82 45.38
60cH (365) | 40.5| 148 |28.2| 103 |31.2| 114 2.82 45.48
70M| oAk (188) |30.9| 58 |35.1| 66 |34.0| 64 2.98 49.47
=23 (1018)|38.8| 395 | 34.8| 354 | 26.4| 269 2.80 44.94
XA (210) |37.6| 79 |36.2| 76 |26.2| 55 2.79 44 .64
A= a54 (192) | 40.6| 78 |30.7| 59 |28.6| 55 2.81 45.18
A a4 (302) 36.8 111 34.1 103 |29.1 88 | 2.85 46.36
e (191) /36.6| 70 |29.8| 57 |33.5| 64 2.93 48.17
Z/HF (87) |36.8| 32 [33.3 29 29.9 26 2.93 48.28
Meixs (329) | 41.0| 135 |35.0| 115 |24.0| 79 2.74 43.47
74y (229) |41.0| 94 |27.5| 63 1 31.4| 72 2.81 45.31
- sto|EZEY (971) | 38.1| 370 | 34.3| 333 | 27.6| 268 2.82 45.62
Rped e (142) 135.9| 51 |35.2| 50 |28.9] 41 2.85 46.30
B (92) |34.8| 32 |37.0) 34 28.3 26 2.92 48.10
71t (237) 135.0| 83 |35.0| 83 |30.0| 71 2.89 47.36
2002kl ojgk | (265) 136.2 96 |34.0| 90 |29.8| 79 2.89 4717
AHa 200-4002+2l o|2H (690) | 38.1| 263 | 32.8| 226 | 29.1| 201 2.84 46.09
7H |400-6002H 0|2H (570) | 37.5| 214 | 37.4| 213 | 25.1| 143 2.79 44.78
= 600-8002+ 0|2t (262) |41.6| 109 | 30.9| 81 |27.5| 72 2.76 44.08
8009k o|4F | (213)|39.0| 83 |31.9 68 29.1 62 2.85 46.13

162 |



12 ¥ 12 i

oMM X

AR orery

(2000) 12.1 | 242
(510) |11.0| 56
(1490) 12.5| 186
(338) |13.6| 46
(568) 11.3 64
(1013) 11.5 117
(81) [18.5/ 15

(339) [10.9 37

(1661) 12.3| 205

(89) [13.5 12

(1911)/12.0 230

(772) [ 11.5| 89
(670) | 12.8| 86
(558) [12.0 67

24.8

26.4

14.6

26.7

26.2
25.4
271

439

S g
o

[==}
a4y

=H&o|ct

%
33.9
33.5
34.0

34.0
35.7
22.2

34.3

28.1

34.2

32.6
33.6
36.0

570

25

653

252
225
201

36.0

22.3

24.2
23.6
20.4

89

370

32

st 5)0| 28 E|4EtE,
of o|ELCt (A1)

off £
9| stct
% N
49| 98
55| 28
4.7 70
56| 19
4.4 | 25
4.6 | 47
86| 7
6.2 | 21
46| 77
79| 7
48| 9
5.4 | 42
46| 31
45| 25



[E23] +420] TS 14 6) A% S
FAHES T2 R 4
[Hl=9l]
Al =
% | N
"Rl R (2000) 38.3 765
HE I= olst | (510) 36.5| 186
=t = oAb (1490) 38.9 579
19 (338) | 41.1 139
Sl o9 (568) | 36.1 205
T 3-4% (1013) 37.6 381
5% 0|t (81) |49.4 40
?le e (339) | 35.7| 121
LES oo
48 U= (1661) 38.8| 644
IE 5 e (89) |28.1] 25
el
2o}
SARF ole (1911) 38.7| 740
= 33| o[AF | (772) 37.7| 291
2= .
i = 1-23| (670) | 38.2| 256
ot (558) | 39.1 218
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28.1

34.2

32.6
33.6
36.0

108

570

25

653

252
225
201

27.9
30.0
271
27.8
29.9
26.7
28.4

32.4

26.9

43.8

271

29.7
28.2
24.9

447

27 5)0l FHE|EHEE,
A4Z0| ol (A1)

(5% &)

2.82
2.88
2.80
2.79
2.87
2.82
2.69

2.92

2.80

3.10

2.81

2.86
2.82
2.78

[100% shet
gz]
45.60
47.01
45.12
44.67
46.74
45.53
42.28

48.01

4511

52.53

45.28

46.47
45.45
44.58



s Sponl | Tgee | EEOIS ) sSEd soimict

% N | % | N| % | N| %| N| % | N

[ RSPl | (2000) 1.1 | 21 | 3.2 | 63 |20.1] 402 51.5 1030 24.2 484

g A (1008)| 1.1 | 11 | 3.8 | 38 |20.5 207 | 50.4| 508  24.2| 244
oy (992) | 1.0 | 10 | 2.5 | 25 [19.7 195 |52.6| 522 | 24.2| 240

19-294 (329) | 0.9 | 3 | 49| 16 |27.4| 90 |44.7| 147 |22.2| 73

30cH (315)| 16| 5 | 22| 7 |27.6| 87 |50.2| 158 |18.4| 58

- 40cH (386)| 0.8 | 3 | 36| 14 [19.9| 77 |53.4| 206 |22.3| 86
50CH (417)/ 12| 5 | 48| 20 |[15.1| 63 |51.6| 215|27.3| 114

60CH (365)| 1.4 | 5 | 08| 3 159 58 54.0 197 27.9| 102

70M| 0|4t (188) | 0.0 | 0 | 1.6| 3 |14.4 27 56.9 107 27.1| 51

| (1018) 1.1 | 11 | 2.9 | 30 |19.8) 202 52.8 537 |23.4| 238

ek (210)| 1.4 | 3 | 33| 7 |21.9| 46 481 101|252 53

A= z284 (192)| 0.5 1 | 57| 11 [19.3| 37 |53.6 103 |20.8| 40
A 2 (302) 0.7 2 | 3.0 9 19.2| 58 52.0 157 25.2| 76
MakA (191) 1.0 2 | 21| 4 |20.9| 40 482 92 |27.7| 53

ZA/HF (87) | 23| 2 | 23| 2 |21.8 19 46.00 40 |27.6| 24
HeFs (329) | 1.8 | 6 |21 | 7 |17.6/ 58 53.8 177 24.6| 81

=74 (229) | 2.2 | 5 | 22| 5 |20.1| 46 |52.4) 120 |23.1| 53

- slo|EZ (971)| 0.5 | 5 | 3.0 | 29 |21.4 208 |52.4| 509 | 22.7| 220
R (142)| 14| 2 | 35| 5 [12.0| 17 |52.8/ 75 |30.3| 43

= (92) | 22| 2 | 54| 5 |17.4 16 |46.7 43 |28.3| 26

7|Et (237) | 0.4 | 1 | 51| 12 | 241 57 [ 44.7 106 |25.7| 61

2002kl ojgk | (265) 1.9 | 5 | 23| 6 |25.3| 67 |49.1| 130|21.5| 57

P 200-4002H 0|2k (690) | 0.6 | 4 | 3.0 | 21 |22.6) 156 52.3| 361 |21.4| 148
7F |400-6002H o|gH (570) | 1.1 | 6 | 3.5| 20 |19.3) 110 | 51.8 295 |24.4| 139
=5 600-8002+ ojgk (262) | 1.5 4 | 4.2 | 11 |15.3] 40 50.0) 131 |29.0| 76
80o0=k ol | (213) 0.9 2 | 23| 5 13.6| 29 |53.1| 113 /30.0| 64

B2 2, %A% | 165



[H#24] =420 CHSE 214 7) etE-doll 2X7F iCtH @ 2
ILHES O gast =482 43 AoICH (A1)
I =S (28] [S9l]
% N | % | N | % | N
[ RSPl | (2000)| 4.2 | 84 |20.1| 402 | 75.7 1514
o 4o (1008)| 4.9 | 49 |20.5 207 |74.6| 752
0y (992) | 3.5 | 35 [19.7| 195 | 76.8| 762
19-29A| (329)| 5.8 | 19 |27.4| 90 66.9| 220
30ty (315)| 3.8 | 12 |27.6| 87 68.6 216
- 40ty (386) | 4.4 | 17 [19.9] 77 | 75.6| 292
50cH (417) 6.0 | 25 [15.1| 63 | 78.9| 329
60cH (365)| 2.2 | 8 [15.9]| 58 81.9 299
70M| oAk (188)| 1.6 | 3 [14.4| 27 84.0 158
3 (1018)| 4.0 | 41 [19.8| 202 | 76.1| 775
XA (210)| 4.8 | 10 |21.9| 46 |73.3| 154
A= a54 (192) | 6.3 | 12 [19.3| 37 | 74.5 143
A a4 (302) 3.6 11 |19.2| 58 |77.2 233
e (191)| 31| 6 |20.9| 40 75.9 145
Z/HF (87) | 46| 4 |21.8 19 |73.6| 64
Meixs (329) | 4.0 | 13 |[17.6| 58 |78.4| 258
74y (229) | 4.4 | 10 |20.1| 46 |75.5| 173
e slo| EZ P (971)| 3.5 | 34 |21.4| 208  75.1| 729
Rped e (142)| 49| 7 [12.0/ 17 | 83.1 118
= (92) | 76| 7 |17.4) 16 |75.0) 69
7|t (237)| 5.5 | 13 |24.1| 57 |70.5 167
2002ted o|gk | (265)| 4.2 | 11 |25.3| 67 |70.6| 187
P 200-4002H o|gH (690) | 3.6 | 25 |22.6| 156 | 73.8| 509
7} |400-6002H o|gH (570) | 4.6 | 26 |19.3| 110 | 76.1 434
= 600-8002H 0|t (262) | 5.7 | 15 [15.3| 40 |79.0| 207
800=k ol | (213) 3.3 | 7 |13.6| 29 [83.1| 177

166 |

(5% &)

3.95
3.93
3.96
3.82
3.82
3.93
3.99
4.06
410
3.94
3.92
3.89
3.98
3.99
3.94
3.97
3.92
3.94
4.07
3.93
3.90
3.86
3.91
3.95
4.01
4.09

(1007 &ht
g
73.66
73.21
7412
70.59
70.40
73.19
74.76
76.58
77.39
73.60
73.10
72.14
74.50
74.87
73.56
74.32
73.03
73.43
76.76
73.37
72.57
71.51
72.75
73.73
75.19
77.23



[#24] =A=0f CHS
gdLEgES O
| eSO |

EYES 1nE olst
] L= ofAb
19
el 24
3-494
5% o|a
ofE ol
Xlgﬁi AT
HE o
76’?:‘!{ HA DT
75 3 A
T
2o} -
Z AR} A3
+ 3% o4
28 = -
F 1-25]
gl

At

(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(772)
(670)
(558)

SMES
3
Solshx|
et
% N
1.1 21
06 3
1.2 18
1.2 4
1.1 6
0.8 8
3.7, 3
06 2
1.1 19
22| 2
1.0] 19
1.0 8
1.3 9
0.7 4

2| 5Hx]

orect
% N
3.2 63
2.4 | 12
3.4 51
3.3 11
3.0 17
3.1 31
49 4
3.2 11
3.1 52
45 4
3.1 59
2.6 | 20
2.8 19
43 24

20.1
21.0
19.8
21.0
18.7
20.8
17.3

18.3

20.5

28.1

19.7

17.2
20.4
23.7

62

340

25

51.5/ 1030
51.8| 264
51.4| 766
52.7| 178
51.4| 292
51.9| 526
42.0) 34

51.0/ 173

51.6| 857

42.7| 38

51.9| 992

52.2| 403
51.5| 345
50.5| 282

22.5

24.3

26.9
23.9
20.8

91

393

20

464

208
160



oY N X Q
0ok % 1L rih

168 |

H A .

1E 0|5}

tHE old

14

Q1A 7) HHMO| EXM7E QICHH(AEI—
stast =ME2 HFY AoICH (A%
[H]52l] (28] [52l]
INEES
% N | % | N| % | N
(2000) 4.2 | 84 20.1| 402 | 75.7| 1514
(510) | 2.9 | 15 |21.0| 107 | 76.1| 388
(1490) 4.6 | 69 |19.8 295 | 75.6/1126
(338) | 4.4 | 15 |21.0| 71 |74.6] 252
(568) | 4.0 | 23 [18.7| 106 | 77.3| 439
(1013), 3.8 | 39 |20.8 211 |75.3| 763
(81) ' 86| 7 |[17.3 14 |741| 60
(339) | 3.8 | 13 |18.3| 62 | 77.9| 264
(1661) 4.3 | 71 |20.5 340 |75.3/ 1250
(89) | 6.7 6 |28.1 25 |65.2) 58
(1911) 4.1 | 78 |19.7| 377 | 76.2 1456
(772) | 3.6 | 28 |17.2] 133/ 79.1| 611
(670) | 4.2 | 28 |20.4| 137 | 75.4| 505
(558) | 5.0 | 28 |23.7| 132 | 71.3| 398

(5% &)

3.95
3.97
3.94
3.91
3.98
3.94
3.94

4.00

3.93

3.79

3.95

4.01
3.94
3.86

Qe 1t

StA 43)

[100% shet
gz]
73.66
74.22
73.47
72.71
74.52
73.52
73.46

75.07

73.37

69.66

73.85

75.36
73.43
71.59



[#25] =420 Oigh Q4 8) 17|, efX|n7|, HA7| § FUSEL =0
Hzs §

A3 _
sojsix) | = g0t | = e
Mele | Seen | etk = ofgic}

[ RSBl | (2000) 0.9 | 17 | 6.8 135 33.4 668 41.3 826 17.7 354

e e (1008)| 1.4 | 14 | 8.0 | 81 |32.8 331 40.2) 405 |17.6| 177
oy (992) | 0.3 | 3 | 5.4 | 54 |34.0| 337 |42.4| 421 |17.8| 177

19-29A (329)| 1.8 | 6 [10.9] 36 |45.0| 148 | 30.1| 99 |12.2| 40

30cH (315)| 1.9 | 6 [11.7| 37 |40.0| 126 | 35.9 113|10.5| 33

- 40cH (386) | 0.8 | 3 | 6.2 | 24 |37.0| 143 39.1| 151 |16.8| 65
50CH (417)/ 0.2 1 | 48| 20 |29.0| 121 | 47.0/ 196 |18.9| 79

60CH (365)| 0.3 | 1 | 36| 13 |24.7| 90 |46.8 171 |24.7| 90

70M| 0|4t (188)| 0.0 | 0 | 27| 5 |21.3| 40 |51.1| 96 |25.0| 47

| (1018) 0.8 | 8 | 7.4 | 75 |34.1 347 42.0 428 |15.7| 160

ek (210)| 0.5 1 | 6.7 | 14 |35.2| 74 (429 90 14.8| 31

A= a4 (192) | 16| 3 | 7.3 | 14 |32.3| 62 411 79 17.7| 34
X 2 (302) 1.0 3 | 5.3 | 16 30.5 92  43.7 132 19.5 59
MakA (191)| 0.5 1 | 6.3 | 12 |29.3| 56 |37.7| 72 |26.2| 50

ZA/HF (87) | 1.1 1 | 46| 4 |425 37 |28.7| 25 |23.0| 20
HeFs (329) | 0.3 | 1 | 43| 14 |31.6| 104 43.8 144 |20.1| 66

=74 (229) | 0.9 | 2 | 7.4| 17 |34.1| 78 |40.6| 93 |17.0| 39

e slo|E#HE (971)| 0.7 | 7 | 71| 69 |33.8 328 41.0 398 17.4| 169
e (142) | 0.7 | 1 | 1.4| 2 |27.5| 39 |50.00 71 |20.4| 29

sy (92) | 33| 3 | 7.6| 7 |43.5 40 |34.8/ 32 [10.9] 10

7| gt (237) | 1.3 | 3 [11.0| 26 (33.3] 79 37.1 88 17.3| 41

2002kl ojgk | (265) 1.9 | 5 | 49| 13 |41.1| 109 |39.6| 105|12.5| 33

e 200-4002+2! O|2H (690) | 0.9 | 6 | 7.7 | 53 |34.5 238 |39.1 270 |17.8| 123
7H |400-6002H 0o|2H (570) | 0.5 | 3 | 7.9 | 45 |33.2| 189 |41.2| 235 |17.2| 98
=5 600-8002+ ojgk (262) | 0.8 | 2 | 5.7 | 15 |27.1| 71 |46.2) 121 |20.2| 53
8002t ol& | (213)| 0.5 1 | 42| 9 |28.6 61 |44.6/ 95 |22.1| 47

52 5AE | 169



[H25] =th=0f Cigh Q14 8) 07| EX|17|, &7 & [MU4SEL +=4H=0|
Ay AZO|2t Aottt (A1)
appig| (MBS 18] A s wa) “0%%]%“
% N | % | N | % | N

[ BN | (2000)| 7.6 | 152 | 33.4| 668 59.0 1180 3.68 67.06
e e (1008)| 9.4 | 95 |32.8| 331 |57.7| 582 3.64 66.12
0y (992) | 5.7 | 57 |34.0| 337 | 60.3 598 3.72 68.02
19-294 (329) |12.8| 42 |45.0| 148 42.2| 139 3.40 59.95
30ty (315) |13.7| 43 |40.0| 126 | 46.3 146 3.41 60.32
- 40ty (386) | 7.0 | 27 |37.0| 143 | 56.0 216 3.65 66.26
50cH (417)| 5.0 | 21 |29.0| 121 | 65.9| 275 3.80 69.90

60cH (365) | 3.8 | 14 |24.7| 90 |71.5| 261 3.92 73.01
70M of & (188) | 2.7 | 5 |21.3| 40 |76.1| 143 3.98 74.60
3 (1018)| 8.2 | 83 |34.1| 347 | 57.8| 588 3.65 66.13
XA (210)| 7.1 | 15 |35.2| 74 |57.6| 121 3.65 66.19
A= a54 (192)| 8.9 | 17 |32.3| 62 58.9 113 3.66 66.54
A a4 (302) 6.3 19 |30.5 92 |63.2 191 3.75 68.87
e (191)| 6.8 | 13 |29.3| 56 | 63.9 122 3.83 70.68

Z/HF (87) | 5.7 | 5 |42.5| 37 |51.7| 45 3.68 66.95

Meixs (329) | 4.6 | 15 |31.6| 104  63.8 210 3.79 69.76

g2y (229) | 8.3 | 19 |34.1| 78 | 57.6| 132 3.66 66.38

e slo| EZ P (971)| 7.8 | 76 |33.8| 328  58.4| 567 3.67 66.81
A e (142) | 2.1 | 3 |27.5| 39 |70.4] 100 3.88 72.01
= (92) |10.9| 10 |43.5| 40 45.7 42 3.42 60.60

7|Et (237) |[12.2| 29 |33.3| 79 54.4 129 3.58 64.56

2002 ojgk | (265) | 6.8 | 18 | 41.1| 109 |52.1| 138 3.56 63.96
AHa 200-400%+ o]k (690) | 8.6 | 59 |34.5| 238 |57.0| 393 3.65 66.34
7k |400-600THY O|2H (570) | 8.4 | 48 |33.2| 189 |58.4| 333 3.67 66.67
= 600-8002+ 0|2t (262) | 6.5 | 17 |27.1| 71 |66.4| 174 3.79 69.85
8008kl o|At | (213) | 4.7 | 10 |28.6| 61 |66.7| 142 3.84 70.89

170 |
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568

35

633

223
236
209

43.3
39.3
41.0

683

35

791

334
263
229

17.7
20.4
16.8
12.7
22.7
16.1
23.5

20.9

22.0
16.0
13.8

283

338

170
107
7



[E25] A0 Tf3t 014 8) £17|, HX|DY|, HD7| 5 FASHCH £420]
AL MZo|2tn MWZSICH (Al%)
[Hl=9l] (28] [S2] A BhA
Afell % sz wa) | O0R B
% | N | % N | % | N i
RSN | (2000) 7.6 152 33.4 668 59.0 1180 3.68 67.06
SES IE olst (510) | 6.7 | 34 |34.1| 174 | 59.2] 302 3.72 67.99
B = oAb (1490)| 7.9 | 118 |33.2| 494 | 58.9| 878 3.67 66.74
19 (338) | 8.6 | 29 |38.8| 131 |52.7 178 3.55 63.83
Jbas L (568) | 5.8 | 33 29.9 170 |64.3 365 3.80 70.03
T 3-4Y (1013) 8.1 | 82 ' 34.1 345 57.8 58| 3.65 66.34
59 oAt (81) | 9.9 8 |27.2| 22 63.0 51 3.75 68.83
;’({IE s (339) 7.4 | 25 |29.5 100 631 214 3.76 68.88
~
g;j elg (1661) 7.6 | 127 | 34.2 568 | 58.2 966| 3.67 66.69
75 3 AS (89) | 3.4 | 3 |39.3| 35 |57.3 51 3.72 67.98
Fte]
=0}
ZAIR gig (1911)] 7.8 | 149 33.1 633 |59.1 1129 3.68 67.02
F 33 olA | (772) 5.8 45 28.9 223 65.3 504 3.81 70.21
o= .
de F 1-23| (670)| 9.6 | 64 35.2 236 55.2 370| 3.61 65.15
okat (558) | 7.7 | 43 | 37.5 209 |54.8 306 3.60 65.01

172 |



sl .
soaix | 5000 | ssoi | semc | T
AlllS | Toper ert =2l gt

[ BN | (2000)| 3.4 67 16.6| 332 | 35.5| 709 | 29.6 592 | 15.0| 300

e e (1008)| 4.5 | 45 |16.7| 168 |32.9| 332 | 30.2| 304 | 15.8| 159
0y (992) | 2.2 | 22 |16.5| 164 | 38.0| 377 |29.0 288 | 14.2| 141

19-294 (329)| 8.8 | 29 |26.7| 88 |32.8 108 |21.6| 71 10.0| 33

30cH (315) | 6.0 | 19 |25.7| 81 |41.0 129 |18.4| 58 | 8.9 | 28

- 40ty (386) | 2.1 | 8 |20.7| 80 |36.5| 141 |28.2) 109 12.4| 48
50CH (417) | 1.0 | 4 |12.0| 50 |37.4| 156 34.3| 143 |15.3| 64

60CH (365)| 0.8 | 3 | 6.8| 25 |31.8 116 38.4| 140 22.2| 81

70M| oAk (188) | 2.1 | 4 | 43| 8 |31.4 59 |37.8 71 |24.5 46

=23 (1018)] 3.4 | 35 |17.9| 182 |35.0| 356 | 30.2| 307 13.6| 138

XA (210)| 43| 9 |16.7| 35 |36.2| 76 |28.6] 60 | 14.3| 30

A= 454 (192) | 42| 8 |13.5| 26 |37.5 72 |28.1 54 |16.7| 32
A a4 (302) 2.3 | 7 |16.2 49 |35.1 106 30.8 93 15.6 47
e (191)| 2.1 | 4 |[16.2| 31 |31.4| 60 [30.4 58 19.9| 38

LA/HF (87) | 46 4 |10.3] 9 |44.8| 39 |23.0/ 20 [17.2| 15
Meixs (329) | 1.2 | 4 |11.6| 38 |39.5 130 |32.5 107 |15.2| 50

sy (229) | 3.5| 8 |11.8| 27 |34.5 79 |35.8 82 |14.4| 33

Al sto| =z (971)| 3.5 | 34 [19.5 189 |35.5 345 |28.3 275 13.2| 128
A e (142) | 1.4 | 2 | 92| 13 /1359 51 [28.2) 40 |25.4| 36

B (92) | 8.7 8 |27.2| 25 30.4| 28 |23.9 22 | 98| 9

7| &t (237)| 4.6 | 11 |16.9| 40 |32.1 76 |27.8| 66 18.6| 44

2002k o|gk | (265) | 4.2 | 11 |15.1| 40 |34.7 92 |29.1| 77 |17.0| 45

P 200-4002H) o|gk (690) | 3.8 | 26 |15.8| 109 | 36.8| 254 | 29.6 204 |14.1| 97
7k |400-6002+e! of2H (570) | 3.3 | 19 |17.4| 99 |36.1| 206 ' 30.4| 173 |12.8| 73
= 600-8002H 0|2t (262) | 1.5 | 4 |16.4| 43 | 36.6) 96 28.6| 75 16.8| 44
8003l ol | (213) 3.3 | 7 |19.2| 41 |28.6| 61 |29.6| 63 |19.2| 41



A=)
N El e Bl 1R 'T-0 “%%?ﬁ
% N | % | N | % | N

[ BN | (2000) 20.0| 399 |35.5 709 | 44.6 892 3.36 59.08
o 4o (1008) 21.1| 213 |32.9| 332 | 45.9| 463 3.36 59.03
0y (992) | 18.8| 186 |38.0| 377 | 43.2| 429 3.36 59.12
19-294| (329) |35.6| 117 |32.8| 108 | 31.6| 104 2.97 49.32
30ty (315) |31.7| 100 | 41.0| 129 | 27.3| 86 2.98 49.60
- 40ty (386) |22.8| 88 |36.5 141 40.7| 157 3.28 57.06
50cH (417) |12.9| 54 |37.4| 156 | 49.6| 207 3.51 62.77
60cH (365) | 7.7 | 28 |31.8| 116 |60.5| 221 3.74 68.56
70M| o4 (188)| 6.4 | 12 |31.4| 59 62.2 117 3.78 69.55
S (1018)|21.3| 217 | 35.0| 356 | 43.7 | 445 3.33 58.13
XA (210) |21.0| 44 |36.2| 76 |42.9] 90 3.32 57.98
A= 454 (192) |[17.7| 34 |37.5| 72 |44.8| 86 3.40 59.90
A a4 (302) | 18.5 56 |35.1 106 46.4| 140| 3.41 60.26
e (191) /18.3| 35 |31.4| 60 |50.3| 96 3.50 62.43
Z/HF (87) |14.9]| 13 |44.8) 39 40.2 35 3.38 59.48
Meixs (329) |[12.8| 42 |39.5| 130 | 47.7| 157 3.49 62.23
74y (229) |15.3| 35 |34.5| 79 |50.2| 115 3.46 61.46
- sto|EZEY (971) | 23.0| 223 | 35.5| 345 | 41.5| 403 3.28 57.05
Rped e (142) | 10.6| 15 |35.9| 51 |53.5| 76 3.67 66.73
= (92) |35.9/ 33 |30.4| 28 |33.7| 31 2.99 49.73
7| et (237)|21.5| 51 |32.1| 76 |46.4| 110 3.39 59.70
2002k ojgk | (265) | 19.2| 51 | 34.7| 92 |46.0| 122 3.40 59.91
AHa 200-4002+2l 0|2H (690)  19.6| 135 | 36.8| 254 | 43.6| 301 3.34 58.59
7H# 400-6002+ O]2H (570) | 20.7| 118 | 36.1| 206 | 43.2| 246 3.32 57.98
= 600-8002H 0|t (262) (17.9| 47 |36.6 96 |45.4 119 3.43 60.69
8002k O|4F | (213)|22.5| 48 |28.6| 61 48.8 104 3.42 60.56

174 |



=

778

0ok % 1L rih

0N HQ

[ JESEol |
IE olst
tHE old

19

(1911)

(772)
(670)
(558)

2.7

3.5

2.2

3.4

3.0
3.4
3.8

58

65

23
23

16.6 | 332
67
265
60
63
196

13.1
17.8
17.8
1.1
19.3
16.0

13.6| 46

17.2| 286

79| 7

17.0| 325

11.3
17.8
22.6

87
119
126

30.3

35.7

33.2
35.8
38.2

606

27

682

256
240

38.2

29.2

34.5
29.9
22.6

483

34

558

266
200

% N
15.0| 300
15.7| 80
220
50
102
133

14.8
14.8
18.0
13.1
18.5

72

228

14.7| 281

18.1
13.1
12.9| 72

140



[E26] =At=0f CHSE Q1A 9) 2462 JtAH0|gtH SMEECH 488 O e HO|C
A
[Hl=9l] (28] [S2] A BFA
NEPS [sx wa) 008 B
% | N | % N | % | N i
CRSEN | (2000) 20.0| 399 | 35.5 709 44.6| 892 3.36 59.08
AP = o5} (510) [17.1| 87 |35.7] 182 | 47.3| 241 3.42 60.49
B = oAb (1490)| 20.9| 312 | 35.4| 527 | 43.7| 651 3.34 58.59
19 (338) | 22.8| 77 |33.4| 113 43.8 148| 3.31 57.69
Jbsd oy (568) |13.4| 76 |37.5| 213 49.1| 279|  3.51 62.85
T 3-4Y (1013)/22.3| 226 | 34.9 354 | 42.7| 433 | 3.31 57.65
504 0]Ab (81) |24.7) 20 |35.8| 29 |39.5| 32 3.25 56.17
;’({IE s (339) 16.2| 55 |30.4 103 53.4 181 3.56 63.94
~
g;j gls (1661)20.7| 344 | 36.5 606 | 42.8| 711 3.32 58.08
75 3 AS (89) |10.1| 9 |30.3| 27 59.6/ 53 3.69 67.13
]
=0}
EJN gig (1911)/20.4| 390 | 35.7| 682 | 43.9| 839 3.35 58.70
= 35 ol&F | (772) |14.2) 110 |33.2| 256 52.6| 406| 3.53 63.37
o= .
de F 1-23| (670) | 21.2| 142 | 35.8| 240 | 43.0/ 288 |  3.31 57.87
okat (558) | 26.3| 147 |38.2| 213 |35.5/ 198| 3.18 54.57

176 |



[H27] =th=0f Cigh Q14 10) 24 Hiwes =HX|17], §17] & SiEE0
FAE Y WoE Bt
A i
NETPS %_?'55' Sig | meols | selme | O3
% N | % | N| % | N| % | N| %
[ RSBl | (2000)| 7.1 | 142 | 30.4| 607 | 39.0 779 17.7 354 | 5.9
e e (1008) 8.1 | 82 |30.8| 310 | 36.3| 366 |18.9/ 191 | 5.9
04y (992) | 6.0 | 60 |29.9| 297 | 41.6| 413 |16.4| 163 | 5.9
19-294| (329) |16.1| 53 |33.1 109 |32.2| 106 |13.1| 43 | 5.5
30cH (315) |13.0| 41 |37.5| 118 31.7| 100 | 14.3] 45 | 3.5
- 40cH (386) | 4.4 | 17 |37.8| 146 |37.0| 143 |15.3| 59 | 5.4
50CH (417)| 4.8 | 20 |29.7| 124 | 41.5| 173 |17.7| 74 | 6.2
60CH (365) | 1.9 | 7 |19.7| 72 |47.4| 173 |24.9 91 | 6.0
70M oA (188) | 2.1 | 4 |20.2| 38 |44.7| 84 |22.3| 42 |10.6
| (1018) 7.4 | 75 |29.1| 296 | 38.4| 391 | 19.5| 199 | 5.6
ek (210)| 6.2 | 13 |34.8| 73 |37.6| 79 |15.7) 33 | 5.7
A= =4 (192)| 6.8 | 13 |35.9/ 69 |37.0| 71 [15.1| 29 | 5.2
A 2 (302) | 7.6 | 23 |30.1| 91 |41.4| 125 152 46 | 5.6
MakA (191)| 4.7 | 9 |26.2| 50 |40.3| 77 [19.4) 37 | 9.4
LA/HF (87) [10.3| 9 |32.2| 28 |41.4| 36 |11.5 10 | 4.6
HeFs (329) | 4.9 | 16 |28.6| 94 |43.8| 144 |16.7| 55 | 6.1
el (229) | 6.6 | 15 |26.2| 60 |40.2| 92 |21.0 48 | 6.1
X slo|EZ (971)| 7.0 | 68 |34.2| 332 |36.0 350 | 17.2| 167 | 5.6
R (142) | 3.5 5 |21.1| 30 |47.9| 68 [18.3| 26 | 9.2
sy (92) |19.6| 18 |33.7| 31 |30.4 28 13.0 12 | 3.3
7|Et (237) | 8.4 | 20 |25.3| 60 |40.9| 97 [19.4) 46 | 5.9
2002kl ojgk | (265)| 7.5 | 20 |25.3| 67 |41.5 110 19.2| 51 | 6.4
e 200-4002+ o|2H (690) | 7.4 | 51 |29.4| 203 |39.4| 272 | 17.5 121 | 6.2
7} |400-6002Hd 0|2H (570) | 7.0 | 40 |30.9| 176|38.8 221 1 19.3 110 | 4.0
=5 600-8002+l o|gH (262) | 6.5 | 17 |34.7| 91 |37.00 97 141 37 | 7.6
8002k O|4F | (213)| 6.6 | 14 |32.9] 70 |37.1 79 [16.4) 35 | 7.0



H A .

o

0x
NE

oy
19-294
30cH
40ty
50cH
60CH

70M| of At

. _ |200-4002+a! o|gt
Hyd

7+ |400-6002+2l ojgt
A=

600-800%2+H o|gt

8002+l 0|4}

178 |

s
%

(2000)| 37.5
(1008)| 38.9
(992) | 36.0
(329) | 49.2
(315) | 50.5
(386) | 42.2
(417) | 34.5
(365) | 21.6
(188) | 22.3
(1018) 36.4
41.0
42.7
37.7
30.9
(87) | 42.5
)|33.4
229)  32.8
)| 41.2

)| 24.6
(92) |53.3
(237) | 33.8
(265) | 32.8
(690) | 36.8
(570) | 37.9
(262) | 41.2
(213)39.4

==l

N
749
392
357
162
159
163
144
79
42
371
86
82
114
59
37
110
75
400
35
49
80
87
254
216
108
84

125
77
36
144
92
350

%
23.6
24.8
22.4
18.5
17.8
20.7
24.0
31.0
33.0
251
21.4
20.3
20.9
28.8
16.1
22.8
271
22.8
27.5
16.3
25.3
25.7
23.8
23.3
21.8
23.5

of thet 214 10) &4 Hiwe XD, F27
2 M7t BCh (A=)

221
39
15
60
68

164

133
57
50

S Fi=Eh

(5% &)

2.85
2.84
2.86
2.59
2.58
2.80
2.91
3.13
3.19
2.87
2.80
2.76
2.81
3.03
2.68
2.91
2.94
2.80
3.08
2.47
2.89
2.92
2.86
2.82
2.82
2.85

(1007 &ht
g
46.24
45.91
46.57
39.67
39.44
44.88
47.72
53.36
54.79
46.73
45.00
44.01
45.28
50.65
41.95
47.64
48.47
45.03
52.11
36.68
47.26
47.92
46.45
45.61
45.42
46.13



[H#27]

(NI R =)
0ok % 1L rih

214 10) 2|4 Ol

ELH (A1)

s
NEES %oflggl

% | N
(2000)| 7.1 | 142
(510) | 6.9 | 35
(1490)| 7.2 | 107
(338) | 7.1 | 24
(568) | 5.3 | 30
(1013)| 7.5 | 76
(81) |14.8| 12
(339)| 5.3 18
(1661)| 7.5 | 124
(89) | 3.4 3
(1911) 7.3 | 139
(772) | 5.3 | 41
(670) | 6.9 | 46
(558) | 9.9 | 55

= =iX|27], 51|

251

31.4

12.4

31.2

26.6
30.6
356.3

522

596

205
205

39.0
42.9
37.6
36.1
451
37.0
32.1

38.6

39.0

47.2

38.6

38.5
39.4
39.1

648

42

737

297
264

S FuEH

17.7| 354
19.4] 99
17.1 255
18.9| 64
18.0) 102
17.3 175
16.0) 13

23.3| 79

16.6| 275

28.1 25

17.2] 329

21.5 166
17.6) 118
12.5] 70

o<
oot
% | N
5.9 118
5.5 28
6.0 90
56| 19
6.9 39
5.4 | 55
6.2 5
7.7 26
55| 92
9.0 8
5.8 110
8.2 | 63
55| 37
3.2 18
% | 179



1 o

1ot b

180 |

[ JESEol |
IE olst
tHE old

19

214 10) 4 OjF= =HX|27], &7

(A=)

[H]Z2]

NE R
%

(2000)| 37.5
(510) | 32.2
(1490)| 39.3
(338) | 39.3
(568) | 30.1
(1013)] 40.3
(81) |45.7

(339) | 30.4

(1661)| 38.9

(89) 15.7

(1911) 38.5

(772) 1 31.9
(670) | 37.5
(558) | 45.2

408
37

103

646

735

246
251
252

47.2

38.6

38.5
39.4
39.1

648

42

737

297
264
218

23.6
24.9
23.2
24.6
24.8
22.7
22.2

221

37.1

23.0

29.7
23.1
15.8

105

367

33

439

229
155
88

S Fi=Eh

(5% &)

2.85
2.91
2.83
2.84
2.96
2.80
2.68

3.03

2.81

3.27

2.83

3.01
2.84
2.64

[100% shet
gz]
46.24
47.84
45.69
45.93
49.08
45.09
41.98

50.74

45.32

56.74

45.75

50.16
46.08
40.99



[H28] =4t=0f| CHE Q1A 11) L= oXf =422 F&3 dFsta Ut
A2Zpotrt
He n °
NETPS %_?'55' Sig | meols | selme | O3
% N | % | N| % | N| % | N| %
[ RSBl | (2000) 2.3 | 46 |19.3| 385 |42.1 842 30.2 603 | 6.2
e e (1008)| 2.3 | 23 |16.6| 167 |42.1| 424  32.2| 325 | 6.8
04y (992) | 2.3 | 23 |22.0| 218 | 42.1| 418 |28.0| 278 | 5.5
19-29A (329) | 4.0 | 13 [16.7| 55 |37.1| 122 32.2| 106 | 10.0
30cH (315)| 2.2| 7 |27.0/ 85 |36.2| 114|29.5 93 | 5.1
- 40cH (386)| 2.6 | 10 |18.9| 73 |44.3| 171 |29.0| 112| 5.2
50CH (417)| 2.6 | 11 |20.4| 85 |45.8| 191 |27.1 113 4.1
60CH (365)| 0.8 | 3 |16.7| 61 |45.2| 165|31.8| 116| 5.5
70M| 0|4t (188)| 1.1 | 2 |13.8| 26 |42.0| 79 |33.5| 63 | 9.6
| (1018)| 2.3 | 23 |19.5| 199 | 42.3| 431  30.3 308 | 5.6
ek (210)| 1.4 | 3 |20.0 42 |44.8| 94 |29.5| 62 | 4.3
A= z284 (192) | 3.6 | 7 |26.0/ 50 |34.9| 67 |29.2| 56 | 6.3
X 2 (302) 1.7 5 |15.6| 47 43.0 130 33.1 100 | 6.6
MakA (191)| 21| 4 |[16.2| 31 |41.4| 79 |29.8 57 [10.5
ZA/HF (87) | 46| 4 |18.4| 16 |47.1 41 1 23.0 20 | 6.9
HeFs (329)| 21| 7 |22.5| 74 |43.8| 144 |28.0| 92 | 3.6
=74 (229)| 3.9 | 9 |15.7| 36 |46.3| 106 27.9| 64 | 6.1
- slo|EZ (971)| 1.6 | 16 |21.1| 205|40.5 393 | 30.6| 297 | 6.2
A (142) | 2.8 | 4 |13.4| 19 |41.5| 59 38.0 54 | 4.2
sy (92) | 5.4 5 | 9.8 9 |[31.5 29 41.3 38 [12.0
7|Et (237) | 2.1 | 5 |17.7| 42 | 46.8/ 111 24,5 58 | 8.9
2002kl o|gk | (265)| 3.4 | 9 |21.5| 57 |40.0/ 106 |26.4| 70 | 8.7
e 200-4002Hel O|2H (690) 2.5 | 17 | 20.6| 142 |44.9 310 |27.1 187 | 4.9
7H |400-6002H 0|2H (570) | 1.9 | 11 |17.5 100 | 44.0| 251 |31.1| 177 | 5.4
=5 600-8002+H o|gH (262) | 1.5 | 4 [19.8| 52 |34.4 90 37.4 98 | 6.9
8002k o|4F | (213)| 2.3 | 5 |16.0] 34 [39.9 85 33.3 71 | 8.5



Chet 24 _11) L= oM siteS 29 gxlst Atk

appig| (MBS 18] A s wa) “0%%]%“
% N | % | N | % | N

[ RSPl | (2000) 21.6| 431 |42.1| 842 | 36.4| 727 3.19 54.68
e e (1008)18.8| 190 | 42.1| 424 | 39.1| 394 3.25 56.20
0y (992) | 24.3| 241 |42.1| 418 | 33.6| 333 3.13 53.13
19-294| (329) |20.7| 68 |37.1| 122 | 42.2| 139 3.28 56.91
30ty (315) |29.2| 92 |36.2| 114 | 34.6 109 3.08 52.06
- 40ty (386) |21.5| 83 |44.3| 171 | 34.2| 132 3.15 53.82
50cH (417)23.0| 96 |45.8| 191 | 31.2| 130 3.10 52.40
60cH (365) |17.5| 64 |45.2| 165 37.3 136 3.24 56.10
70M| oAk (188) |14.9| 28 |42.0| 79 |43.1| 81 3.37 59.18
3 (1018)|21.8| 222 | 42.3| 431 | 35.9| 365 3.17 54.35
XA (210) |21.4| 45 |44.8| 94 |33.8 71 3.15 53.81
A= a54 (192) | 29.7| 57 |34.9| 67 |35.4| 68 3.08 52.08
A Zu (302) [17.2) 52 |43.0 130 |39.7| 120| 3.27 56.87
e (191) |18.3| 35 |41.4| 79 |40.3| 77 3.30 57.59
Z/HF (87) |23.0| 20 |47.1) 41 29.9 26 3.09 52.30
Meixs (329) |24.6| 81 |43.8| 144 |31.6| 104 3.09 52.13
74y (229) |19.7| 45 | 46.3| 106 | 34.1| 78 3.17 54.15
- sto|EZY (971) | 22.8| 221 | 40.5| 393 | 36.8 357 3.19 54.63
NLch (142) |16.2| 23 |41.5| 59 |42.3| 60 3.27 56.87
= (92) | 15.2| 14 |31.5, 29 |53.3| 49 3.45 61.14
71t (237)|19.8| 47 |46.8| 111 33.3| 79 3.20 55.06
2008k o|gk | (265) | 24.9) 66 ' 40.0| 106 |35.1| 93 3.15 53.87
AHa 200-400%+ O]+ (690) | 23.0| 159 | 44.9| 310 | 32.0| 221 3.1 52.86
7k |400-600%HY O|2H (570) | 19.5| 111 | 44.0| 251 | 36.5] 208 3.21 55.13
= 600-8002H 0|2t (262) |21.4| 56 |34.4| 90 |44.3 116 3.28 57.06
8009k o|4F | (213)|18.3| 39 [39.9 85 41.8 89 3.30 57.39

182 |



[E28] =+t=0] Ciot
M2tsict (A%
| b |

EYES IE o|st
= L= ofAb
19
el 24
3-4%4
5% ofAb
ofE e
Xlgﬁi =]
HF o
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60cCH (365)| 34.2 125 21.4 78 44.4 162
70M| o4t (188)| 27.1 51 271 51 45.7 86
3 (1018) 26.9 274 24.8 252 48.3 492
ZHA (210)| 26.7 56 27.1 57 46.2 97
= 454 (192)| 27.6 53 21.4 41 51.0 98
A a4 (302)| 29.8 90 22.5 68 47.7 144
el (191)| 246 47 25.1 48 50.3 96
Z/HF (87) | 25.3 22 33.3 29 4.4 36
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Al slo| EZY (971)| 28.5 277 24.0 233 47.5 461
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ERY (92) | 21.7 20 26.1 24 52.2 48
7| et (237)| 27.4 65 30.4 72 42.2 100
2002kl ojgk | (265) 22.3 59 29.1 77 48.7 129
e 200-4008H2d 0|2k (690) | 25.2 174 25.7 177 49.1 339
7} |400-6002H olgH (570)| 29.3 167 22.8 130 47.9 273
=5 600-8002+2l 0|2k (262)| 31.3 82 26.3 69 42.4 111
8002+ ol&F | (213)| 28.2 60 19.7 42 52.1 111

242 |



SRFE FiE0 YUY T2E2) AF YMoMel XH7tsE (A=)

(g2 | (22 | (2= N P
EI:] El:] EE] [“‘TJE] [“‘Tn_"E] [’TJE]
oAl | aors | ok S5 ofzh | MYs| | HOH

Ab| = HOfx | A ofZt =0 EXe) o
s s s

% | N % N| % N| % N % N|%| N| %|N

| S | (2000) 3.8 75 [12.8256/10.6 211/24.8 495 18.1/ 361/22.8 455| 7.4 | 147

IE o5} (510) | 8.3 17 |11.8 60 | 7.6| 39 |27.8 142|16.7| 85 |25.1/ 128| 7.6 39
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% N % N % N

[ ESEN | (2000) 33.8 676 20.4 408 45.8 916

g A (1008) 31.2 314 22.4 226 46.4 468

PS! (992)  36.5 362 18.3 182 45.2 448

19-294| (329) 27.1 89 23.7 78 49.2 162

30cH (315)| 26.3 83 26.3 83 47.3 149

o 40cH (386) 33.2 128 22.3 86 44.6 172

50CH (417)| 38.1 159 15.3 64 46.5 194

60cH (365) 38.4 140 18.6 68 43.0 157

70M o4 | (188) 41.0 77 15.4 29 43.6 82

+zA (1018) 33.6 342 19.9 203 46.5 473

s34 (210)  32.9 69 23.3 49 43.8 92

= EEE (192)  33.3 64 17.7 34 49.0 94

A a4 (302)| 36.1 109 | 21.9 66 42.1 127

et (191) 356 68 14.7 28 49.7 95

2/ F (87) | 27.6 24 32.2 28 40.2 35

HUFR (329) 37.7 124 16.4 54 45.9 151

s=zg (229) 275 63 21.0 48 51.5 118

el sloleza | (971) 33.3 323 21.6 210 451 438

NE=Ls (142) 35.9 51 16.2 23 47.9 68

SH4 (92) | 31.5 29 17.4 16 51.1 47

7| et (237) 36.3 86 24 1 57 39.7 94

2008k O|gk | (265) | 27.9 74 21.1 56 50.9 135

AHa 200-400%+ o|gH (690) | 32.5 224 20.4 141 471 325

7k% |400-6008t¢ O|2H (570)| 34.9 199 21.2 121 43.9 250

£S5 s00-800er2l olgt (262)  38.2 100 22.5 59 39.3 103

8008t o|Ab | (213)| 37.1 79 14.6 31 48.4 103
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E ol (1490) 6.7100(16.9/ 252/10.8 161/20.6 307 |14.6/217|21.5 321/ 8.9| 132

19 (338) | 6.2| 21 [13.0| 44 [10.1| 34 [22.2 75 |[17.8 60 |20.4/ 69 [10.4 35
2% (568) | 5.6| 32 |17.1| 97 [12.7| 72 [18.5/105/13.6 77 |25.0 142| 7.6| 43
3-494 (1013) 6.3 64 (17.1/173/10.7/108|21.1/ 214|15.0, 152|20.2/ 205| 9.6 | 97
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e (1661) 6.6 109(15.6/259|11.6 192|21.4/ 355/14.8/ 245/21.2 352| 9.0 149
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e =R~ (1008) 23.4 236 26.6 268 50.0
044 (992)| 253 251 26.3 261 48.4
19-29A (329)| 17.3 57 31.9 105 50.8
304 (315)| 18.1 57 34.6 109 47.3
T 40tH (386) | 22.5 87 29.3 113 48.2
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60LH (365)| 30.7 112 20.5 75 48.8
70M ol &+ (188)| 28.7 54 20.7 39 50.5
Sz (1018) 25.3 258 25.6 261 49.0
=53 (210)| 24.8 52 30.0 63 45.2
= e (192)| 21.4 41 26.6 51 52.1
A Zu (302)| 23.5 71 25.8 78 50.7
MalA (191)| 25.1 48 23.6 45 51.3
2Rl /HF (87) | 19.5 17 35.6 31 44.8
HYgFs (329)| 243 80 24.0 79 51.7
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(e 5lo| EZ 2 (971)| 24.9 242 28.0 272 47 A
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AHa 200-400%+ O|2H (690) | 24.1 166 27.0 186 49.0
7H# |400-6002He O|gH (570)| 25.6 146 26.0 148 48.4
= 600-8002+2! 0|2t (262) | 25.2 66 32.8 86 42.0
800%+2 oA | (213)| 26.3 56 17.4 37 56.3
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EAE (20000 30.2 = 604 | 27.3 = 545 | 426 | 851

- LA (1008) 28.7 & 289 | 28.8 | 290 | 42.6 | 429
0f4d (992)| 31.8 | 315 | 257 | 255 | 425 | 422

19-20M | (329) 22.2 73 32.8 108 | 45.0 148

30t (315)| 21.3 67 38.4 | 121 40.3 127

s 40t (386)| 26.9 104 | 30.3 17 | 427 165
50c (417)| 33.8 141 21.8 91 44.4 185

60c (365)|  39.2 143 | 19.5 71 41.4 151

704 Ol4F | (188)  40.4 76 19.7 37 39.9 75
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7} |400-6002H o|gk (570) | 0.7 | 4 | 3.3 | 19 |33.3 190 52.3| 298 | 10.4| 59
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Hapa (191) 6.3 12 |29.8 57 |63.9 122 3.66 66.62
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T (73) 30.1 22 69.9 51
sty (80) 22.5 18 77.5 62
7|et (113) 29.2 33 70.8 80
o008kl mlgk | (118) 33.9 40 66.1 78
gz 2007400242 Dl2t) (381) 28.6 109 71.4 272
JFF |400-6002+8l 0Bt (318) 24.5 78 75.5 240
+5 | 600-s002r2! oler (151) 21.2 32 78.8 119
8002k 0[AF | (127) 22.0 o8 78.0 99




1 oM

L b

268 |

[ JRSEol |

At

(1095)
(236)

271
26.0
26.8
24.7
27.4
18.0

33.0

24.5

60.6

24.0

29.9
28.7
17.5

223

%
73.8
72.9
74.0
73.2
75.3
72.6
82.0

67.0

75.5

39.4

76.0

70.1
71.3
82.5

808
172
636
131
210
426

144

664

26

782

305
263
240



[E54] Mldg g 58 Had SUMMARY
51 9lo]
Xl M=ef 71,
X300 | AEOME e oo =
oM | oo | TS 8E L ME
ey A4E | wee  SHA L TEEE
Flomsd | dwa JORE BET
o|F0{x| 2 = i =T
et | olRO{xIT
Qict
mEAm (2000) 2.97 2.94 3.37 3.10
Ly (1008) 2.98 2.94 3.50 3.00
Mg
o1y (992) | 2.96 2.94 3.23 3.20
19-294A) (329) 3.04 3.14 3.07 2.65
30tH (315) | 2.85 2.88 3.07 2.80
40tH (386) | 2.92 2.89 3.34 3.11
=}
50tH (417) | 2.99 2.87 3.46 3.25
60cH (365) | 2.9 2.92 3.63 3.39
70M| of A (188) 3.07 2.97 3.71 3.44
~53 (1018)]  2.91 2.90 3.35 3.08
=5 (210) | 3.07 2.95 3.37 3.03
H= z=a (192) | 3.04 2.95 3.23 2.98
x4 Zu (302) | 3.01 2.97 3.35 3.13
Hata (191) | 3.10 3.12 3.52 3.23
Zel/H % (87) | 2.80 2.83 3.57 3.26
SISE (329) 3.00 2.92 3.40 3.50
CEEIE (229) | 2.96 2.94 3.39 3.13
o sfolezal | (971) | 2.96 2.92 3.31 3.00
o xhei e (142) | 2.92 2.93 3.63 3.32
%] (92) | 3.10 3.30 3.16 2.72
= (237) | 2.97 2.89 3.47 2.90
2008t ojgk | (265) | 3.02 2.94 3.39 3.09
_,_|200—-4002+2l o|2H (690) 2.94 2.94 3.30 3.04
Ay
7b7 |400-6008¢g TlBt (570) 2.96 2.94 3.34 3.07
25
600-8002+g! 1|8t (262) 3.01 2.94 3.47 3.23
8002k O|AF | (213)  2.96 2.91 3.51 3.19



Al A S}

[$54] g5

1O =
HHd N
= IE o|st
o
2= 0E olat
19
It 2%
A
T 3-49
5% 0|
of& ol
XI°_|:' =]
=
25 ale
5
7HE 5 A
Sl
&0}
Z AR} =
= 33 o4t
23 = _
F 1-23]
BT
otst
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~
(=]

HI SUMMARY (A=)

At =

(2000)
(510)

(1490)
(338)

(568)

(1013)
(81)

(339)

(1661)

2.96

3.02
2.97
2.91

2.91

3.36

2.92

3.01
2.95
2.83

e 42 | s
dejel | su28
su28 | Zes

HY e 4+ Qels

ack @ % 9lc
3.37 3.10
3.47 3.27
3.33 3.04
3.25 2.91
3.44 3.22
3.38 3.11
3.20 2.83
3.68 3.37
3.30 3.04
3.64 3.34
3.36 3.09
3.48 3.23
3.32 3.09
3.26 2.93

3.23
3.12
2.95



(ISPl |

=Yy

0x
NE

044
19-294
30cH
40cH
50cH
60cH

70M| of At

M
> |0
WS oo oo
BBS B oo
Sl

)|

i)
Iob
o
|m
vl
™

i

[m]

a3 2| 200-4008!
7k |400-6002+
25 1600-8002+

8002+l

o

o
o

=)

0

[}
1> om Ho
>

Al

ES

yo &
o

LAy

-

[oormoo

=]
_—

r

I~

J
A
=

=
ot
)

Ml

3.46
3.46
3.45
3.52
3.38
3.39
3.38
3.54
3.61
3.46
3.41
3.46
3.47
3.53
3.33
3.46
3.28
3.48
3.44
3.67
3.46
3.40
3.41
3.47
3.50
3.59

n
-
0

]
ofm o
>

o Mgt
Kl
>
O>
et |

T SUMMARY (A=)

m
[
25

Ir

il
o
o0

2.51
2.35
2.61
2.61
2.41
2.40
2.30
2.20
2.42
2.48
2.49
2.38
2.45
2.48
2.36
2.51
2.45
2.33
2.55
2.41
2.55
2.46
2.44
2.32
2.31

fol =

oL

_Q_F
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272 |

(ISPl |

HI SUMMARY (A=)

<zt

HE A23

Al = Al o

CHsl &
{Act
(2000) 3.46
(510) 3.41
(1490) 3.47
(338) 3.40
(568) 3.45
(1013) 3.48
(81) 3.48
(339) 3.65
(1661)|  3.42
(89) 3.58
(1911) 3.45
(772) 3.56
(670) 3.46
(558) 3.30

oL

> =
02 ox ofm o
o L)
oL
0 [\
_Q_F

2 o
Ir

e |

2.43
2.45
2.42
2.53
2.38
2.43
2.38

2.45

2.43

2.73

2.42

2.40
2.46
2.45

_k')l—r—

2.85

2.48

2.47
2.50
2.53

3.86
3.88
3.86
3.88
3.89
3.89

3.99

3.86

3.79

3.88

3.99
3.82
3.80

3.55

3.46

3.61
3.43
3.31



[H55] A4 W= 1) X =2 =5 1u0M= Aldagusgo] & O[R0X|1
ALt

Al 4 wg:cf P 2gx oo msot | azo de
% N | % | N| % | N| %| N| %
[ RSPl | (2000) 2.2 | 44 |21.8| 435|55.3 1105 18.5 370 | 2.3
e e (1008)| 2.7 | 27 |22.5| 227|52.2| 526 | 19.6) 198 | 3.0
04y (992) | 1.7 | 17 |21.0| 208 |58.4| 579 |17.3| 172 | 1.6
19-294 (329)| 3.3 | 11 |20.4| 67 |49.8 164 |22.2| 73 | 4.3
30cH (315)| 3.5 | 11 |26.7| 84 |53.0| 167 |15.2| 48 | 1.6
- 40cH (386)| 2.8 | 11 |21.5| 83 |58.3| 225|15.5| 60 | 1.8
50CH (417)1 0.7 | 3 |21.3| 89 |57.3/ 239 |19.4| 81 | 1.2
60CH (365)| 1.6 | 6 |20.8| 76 |56.4| 206 |19.2| 70 | 1.9
70M| 0|4t (188)| 1.1 | 2 |19.1| 36 |55.3| 104 |20.2| 38 | 4.3
| (1018)| 2.5 | 25 |23.2| 236|57.0| 580 | 15.4| 157 | 2.0
ek (210)| 1.0 | 2 |17.6| 37 |57.6| 121 |21.4| 45 | 2.4
A= z284 (192)| 0.5 1 |19.3| 37 |56.8| 109 |22.4| 43 | 1.0
X 2 (302) | 1.3 4 |23.5| 71 |50.3| 152 22.5 68 | 2.3
MakA (191)| 8.7 | 7 |14.1| 27 |55.0/ 105 |22.5| 43 | 4.7
ZA/HF (87) | 5.7 | 5 |31.0] 27 |43.7) 38 16.1 14 | 3.4
HeFs (329)| 1.8 | 6 |18.5| 61 |59.0/ 194 |19.1| 63 | 1.5
=74 (229) | 1.7 | 4 |19.7| 45 |61.1 140 | 15.7| 36 | 1.7
- slo|EZ (971) | 2.1 | 20 |23.0| 223 | 54.2| 526 | 18.7| 182 | 2.1
A (142) | 42| 6 |23.2| 33 |52.1| 74 |17.6| 25 | 2.8
sy (92) | 3.3 | 3 |18.5| 17 |46.7 43 28.3 26 | 3.3
7|Et (237)| 21| 5 |23.6| 56 |54.0/ 128 | 16.0| 38 | 4.2
2002Hel o|gk | (265)| 1.9 | 5 |20.0| 53 |57.7| 153 |15.5| 41 | 4.9
P 200-4002H o|gH (690) | 2.5 | 17 |23.2| 160 |53.8 371 18.7 129 | 1.9
7} |400-6002H o|gH (570) | 2.3 | 13 |21.8| 124 | 55.3 315 18.6) 106 | 2.1
= 600-8002+H o|gH (262) | 2.7 | 7 |18.3| 48 |56.5 148 20.2 53 | 2.3
8002k O|4F | (213)] 0.9 | 2 |23.5| 50 |55.4 118 /19.2] 41 | 0.9



[#55] Hdg ng 1) X =2l =F-Du0ME AEEUI0| F O|R0X[1
(

ACH (A=)
R [gisﬁl (£5] (2%} (5% ®3] [10;@;%&
% N | % | N | % | N

[ RSPl | (2000)| 24.0| 479 | 55.3 1105 20.8 416 2.97 49.24
e e (1008)| 25.2| 254 | 52.2| 526 | 22.6| 228 2.98 49.43
iy (992) | 22.7| 225 |58.4| 579 | 19.0| 188 2.96 49.04
19-294| (329) | 23.7| 78 |49.8| 164 | 26.4| 87 3.04 50.91
30ty (315)130.2| 95 |53.0| 167 |16.8| 53 2.85 46.19
- 40ty (386) | 24.4| 94 |58.3| 225 |17.4| 67 2.92 47.99
50cH (417) |22.1| 92 |57.3| 239 |20.6| 86 2.99 49.76
60cH (365) | 22.5| 82 |56.4| 206 |21.1| 77 2.99 49.73
70M| o4 (188) | 20.2| 38 |55.3| 104 |24.5| 46 3.07 51.86
=23 (1018)|25.6| 261 |57.0| 580 | 17.4| 177 2.91 47.81
XA (210) |18.6| 39 |57.6| 121 |23.8| 50 3.07 51.67
A= a54 (192) |19.8| 38 |56.8| 109 |23.4| 45 3.04 51.04
A a4 (302) 24.8 75 |50.3 152 24.8 75 | 3.01 50.25
e (191) |17.8| 34 |55.0| 105 |27.2| 52 3.10 52.62
Z/HF (87) |36.8| 32 |43.7 38 |19.5 17 2.80 45.11
Meixs (329) | 20.4| 67 |59.0| 194 |20.7| 68 3.00 50.00
74y (229) |21.4| 49 |61.1] 140 17.5 40 2.96 49.02
e slo| EZ P (971) | 25.0| 243 | 54.2| 526 | 20.8| 202 2.96 48.94
A e (142) | 27.5| 39 |52.1| 74 1 20.4| 29 2.92 47.89
A (92) |21.7| 20 |46.7| 43 |31.5 29 3.10 52.45
7| et (237) |25.7| 61 |54.0| 128 |20.3| 48 2.97 49.16
2002l gjgk | (265) 21.9| 58 |57.7| 153 |20.4| 54 3.02 50.38
AHa 200-400%+ 0|TH (690) |25.7| 177 | 53.8| 371 |20.6| 142 2.94 48.59
7H |400-6002H 0|2H (570) | 24.0| 137 | 55.3| 315|20.7| 118 2.96 49.12
= 600-8002+ 0|2t (262) |21.0| 55 |56.5| 148 | 22.5| 59 3.01 50.29
8009k O|4F | (213)|24.4| 52 |55.4) 118 20.2| 43 2.96 48.94

274 |



(NI R =)
0ok % 1L rih

At

(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(670)

i
[e]

%
2.2
1.0
2.6
2.4
1.4
2.4
4.9

2.9

2.0

2.2

2.2

1.6
2.4
2.9

i
elct

gt ng 1) X =9l =F
(

x|

N
44
5
39
8
8
24
4

10

34

Ao M=

IR ot

%
21.8
17.5
23.2
24.9
21.3
20.8
23.5

21.2

21.9

14.6

221

22.5
20.4
22.2

N
435
89
346
84

HEo|CH

%
55.3
58.6
541
51.8
57.9
55.2
51.9

53.4

55.6

58.4

55.1

52.2
57.3
57.0

N

% N

1105/ 18.5| 370

299
806
175
329
559
42

924

52

1053

403
384

19.6/ 100
18.1] 270
18.6| 63
171 97
19.4) 197
16.0) 13

18.3| 62

18.5| 308

15.7] 14

18.6| 356

20.2| 156
17.8) 119
17.0) 95

9.0

2.0

3.5
21
0.9

38

27
14



[#55] Hdg ng 1) X =2l =F-Du0ME AEEUI0| F O|R0X[1
(

ALt AS)
EEEY
2E OO 3
wag e | 8D g gy (1008 S0
% | N | % N | % | N i
RSB | (2000)| 24.0| 479 | 55.3 1105 20.8| 416 2.97 49.24
SES IE olst (510) |18.4| 94 | 58.6| 299 22.9| 117 3.07 51.72
B = oAb (1490)| 25.8| 385 | 54.1| 806 | 20.1| 299 2.94 48.39
14 (338) |27.2| 92 51.8/ 175|21.0/ 71 2.94 48.45
Jbas oy (568) | 22.7| 129 |57.9| 329 | 19.4| 110| =2.98 49.38
T 3-4Y (1013)|23.2| 235 | 55.2| 559 | 21.6| 219 2.98 49.56
59 oAt (81) |28.4 23 |51.9| 42 19.8| 16 2.90 47.53
;’({IE s (339) 242 82 |53.4 181 224 76 | 2.99 49.85
~
g;j gle (1661)| 23.9| 397 | 55.6 924 | 20.5| 340 2.96 49.11
75 3 AS (89) [16.9| 15 |58.4| 52 |24.7 22 3.15 53.65
Fte]
=0}
ZAIR gig (1911)| 24.3| 464 | 55.1 1053/ 20.6| 394 || 2.96 49.03
=33 olA | (772) 24.1 186 52.2| 403 23.7 183  3.02 50.39
o= .
de F 1-23] (670) | 22.8| 153 | 57.3| 384 |19.9 133| 2.97 49.18
okat (558) | 25.1| 140 | 57.0| 318 |17.9) 100| 2.91 47.72
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[H56] AldE WS 2) ot 2|9
O|Z0{x|: et
M& x|
JAEES 2ot
% | N
[ RSB | (2000) 2.6 @ 51
=N (1008) 3.2 | 32
Ny
o{4 (992) | 1.9 | 19
19-294 (329) | 2.4 | 8
30cH (315) | 4.1 | 13
40ty (386) | 2.6 | 10
oY
50cH (41717 7
60CH (365) | 2.7 | 10
70M| of At (188) | 1.6 | 3
| (1018) 2.0 | 20
EHA (210) | 2.4 | 5
A= 454 (192) | 26| 5
A Zu (302) | 3.3 | 10
et (191)| 31| 6
ZR/HF (87) | 5.7 5
MeFEg (329) | 15| 5
=52 (229) | 2.2 | 5
slo|EZ Y (971) 2.5 | 24
e
Kb (142) | 56 | 8
A (92) | 1.1 | 1
7|E} (237) | 3.4 | 8
2002k ojgk | (265)| 3.8 | 10
_,_ |200-4002t24 o|2H (690) | 2.9 | 20
dAgy (690)
7k |400-6002+2 o|2H (570) | 1.8 | 10
A=
' |600-8002+Y o|gH (262) | 2.7 | 7
8002t ol | (213)| 1.9 | 4

25.9
27.0
24.8
17.9
27.6
27.2
30.7
24.7
26.1
28.0
25.7
25.5
24.5
16.8
27.6
24.3
27.5
27.0
23.2
13.0
28.7
23.0
25.4
25.4
29.8
27.7

2ot

518
272
246

285
54
49
74
32
24
80
63

262

59

%
491
45.9
52.3
48.0
45.7
50.5
48.9
51.5
49.5
49.7
48.1
47.9
47.7
51.3
471
55.9
46.3
48.5
47.2
46.7
46.8
52.1
48.6
51.6
40.8
50.7

| 7F8, At=|olM & CHet HE

20.1
20.7
19.4
26.4
21.0
18.1
16.8
19.7
19.1
18.8
21.9
21.9
20.9
23.0
17.2
16.7
22.3
20.0
20.4
32.6
17.7
17.7
20.7
19.5

24.4 64
16.9 36

_;
© N » © O o N

N o w N
-

N 0w o oo

2.1
3.5
6.5
3.4
3.4
2.5
1.8
2.3
2.8

o> | N O o ®

EEE N

17
10



[2EX]

el 2ol (28] | (agc | o [102&?&
% N | % | N | % | N

| b | (2000) 28.5| 569 | 49.1| 982 | 22.5| 449 2.94 48.46
e e (1008)| 30.2| 304 | 45.9| 463 | 23.9| 241 2.94 48.44
0y (992) | 26.7| 265 | 52.3| 519 | 21.0| 208 2.94 48.49
19-294| (329) | 20.4| 67 |48.0| 158 |31.6| 104 3.14 53.50
30cH (315) |31.7| 100 |45.7| 144 | 22.5| 71 2.88 47.06
- 40ty (386) | 29.8| 115 |50.5| 195 [ 19.7| 76 2.89 47.22
50cH (417) |32.4| 135 |48.9| 204 | 18.7| 78 2.87 46.64
60cH (365) | 27.4| 100 |51.5| 188 |21.1| 77 2.92 48.08
70M| oAk (188) | 27.7| 52 |49.5| 93 |22.9| 43 2.97 49.34
sz A (1018)| 30.0| 305 | 49.7 | 506 | 20.3| 207 2.90 47.50
XA (210) |28.1| 59 |48.1| 101 |23.8| 50 2.95 48.81
A= a54 (192) |28.1| 54 |47.9| 92 |24.0| 46 2.95 48.83
A a4 (302) 27.8| 84 |47.7 144 245 74 | 2.97 49.25
e (191) |19.9| 38 |51.3| 98 |28.8| 55 3.12 52.88
Z/HF (87) |33.3| 29 |47.1 41 [19.5 17 2.83 45.69
HAFE (329) | 25.8| 85 |55.9| 184 |18.2| 60 2.92 48.10
74y (229) |29.7| 68 |46.3| 106  24.0| 55 2.94 48.47
- sto|EZEY (971) | 29.5| 286 | 48.5| 471 | 22.0| 214 2.92 48.04
A e (142) | 28.9| 41 |47.2| 67 |23.9| 34 2.93 48.24
A (92) |14.1| 13 |46.7) 43 39.1 36 3.30 57.61
7|t (237) |32.1| 76 |46.8| 111 |21.1| 50 2.89 47.26
2002t o|gt | (265) 26.8| 71 |52.1| 138 |21.1| 56 2.94 48.49
AHa 200-400%+ o]k (690) | 28.3| 195 | 48.6| 335 |23.2| 160 2.94 48.62
7H# |400-6002+2! O] (570) |27.2| 155 | 51.6| 294 | 21.2| 121 2.94 48.51
= 600-8002+ 0|2t (262) |32.4| 85 |40.8| 107 | 26.7| 70 2.94 48.47
8002l o4 | (213) | 29.6| 63 |50.7| 108 |19.7| 42 2.91 47.77
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(NI R =)
0ok % 1L rih

[ JRSEol |

IE ofst

(1911)

(670)

My aEx|
et
% N
2.6 51
1.0 5
31| 46
5.0 17
1.8 10
2.0 20
49| 4
2.7 9
2.5 | 42
0.0/ 0
2.7 | 51
1.8 14
2.7 | 18
3.4 19

x| g

%
25.9
23.3
26.8
25.7
23.6
27.4
23.5

20.9

26.9

7.9

26.7

25.4
23.6
29.4

%
491
51.8
48.2
47.0
54.6
46.7
49.4

451

49.9

55.1

48.8

46.9
51.5
49.3

829

49

933

362
345
275

20.1
21.4
19.6
20.4
17.4
21.7
16.0

26.5

18.7

30.3

19.6

22.2
20.1

220
13

90

17.0) 95

2.6
2.2
6.2

4.7

6.7

2.2

3.8
21
0.9

42

29
14



oY N X Q
0ok % 1L rih

280 |

H A .

IE olst

tHE old

19

[2%x
N E =

%
(2000)| 28.5
(510) | 24.3
(1490)| 29.9
(338) 130.8
(568) | 25.4
(1013)| 29.4
(81) | 28.4

(339) | 23.6

(1661) 29.4

(89) | 7.9

(1911) 29.4

(772) | 27.2
(670) | 26.3
(558) 1 32.8

N
569
124
445
104
144
298

23

80

489

562

210
176
183

=
%

49 1
51.8
48.2
47.0
54.6
46.7
49.4

451

49.9

55.1

48.8

46.9
51.5
49.3

153

829

49

933

362
345
275

37.1

21.8

25.9
22.2
17.9

(5% &)

2.94
3.01
2.91
2.88
2.96
2.95
2.95

3.10

2.91

3.36

2.92

3.01
2.95
2.83

[100% shet
gz]
48.46
50.29
47.84
47.04
48.90
48.67
48.77

52.43

47.65

58.99

47.97

50.16
48.84
45.65



NE B ﬁai’g—g?x' IR ot ESolct Jgct o a2

% N | % | N| % | N| % | N| % | N

[ RSBl | (2000) 5.8 | 116 | 15.5/ 310 |26.6 532 40.3 806 |11.8| 236

g A (1008)| 4.3 | 43 |13.2| 133 |25.4 256 | 42.7| 430 | 14.5| 146
oy (992) | 7.4 | 73 |17.8| 177 |27.8| 276 |37.9| 376| 9.1 | 90

19-29A (329) |11.6| 38 |20.7| 68 |26.4| 87 |31.6| 104| 9.7 | 32

30cH (315)|10.5| 33 |20.3| 64 |27.9 88 |34.0/ 107 | 7.3 | 23

- 40CH (386) | 3.9 | 15 [18.4| 71 |28.2| 109 | 38.3| 148 |11.1| 43
50C4 (417)| 4.1 | 17 |12.5| 52 | 28.5/ 119 /43.2| 180 |11.8| 49

60CH (365)| 3.3 | 12 | 9.3 | 34 |24.4| 89 46.8 171|16.2| 59

70M| 0|4t (188)| 0.5 | 1 |[11.2| 21 |21.3| 40 |51.1| 96 |16.0| 30

| (1018) 6.4 | 65 |14.3| 146 |27.2| 277 | 41.9| 427 | 10.1| 103

ek (210)| 5.7 | 12 [13.3| 28 |32.9| 69 |34.8 73 |13.3| 28

= z284 (192)| 5.2 | 10 |21.9| 42 |26.0| 50 |38.0/ 73 | 8.9 17
A 2 (302) | 6.0 18 |18.2| 55 23.8| 72 |38.4 116 13.6| 41
MakA (191)| 4.2 | 8 [14.7| 28 |20.9| 40 450 86 |15.2| 29

ZA/HF (87) | 3.4| 3 |12.8] 11 |27.6]/ 24 |35.6| 31 |20.7| 18
HeFs (329) | 4.9 | 16 [13.4| 44 |29.8| 98 41.0/ 135|10.9] 36

e (229) | 7.4 | 17 |11.8| 27 |27.5| 63 |41.0/ 94 |12.2] 28

Al slo|EZY (971)| 6.3 | 61 [17.3| 168 |25.6| 249 | 40.7| 395 |10.1| 98
Rpd e (142) | 2.8 | 4 | 92| 13 |28.2| 40 42.3) 60 |17.6] 25

i (92) [10.9| 10 |19.6]| 18 |22.8| 21 |35.9| 33 |10.9| 10

7|t (237)| 3.4 | 8 |16.9 40 |25.7| 61 |37.6| 89 |16.5| 39

2002l ojgk | (265) | 4.5 | 12 16.2] 43 1 30.6| 81 [33.2| 88 |15.5| 41

e 200-4002+2 O|2H (690) | 5.8 | 40 |17.5| 121 27.5| 190 | 39.0| 269 |10.1| 70
7H+ |400-6002H 0|2H (570) | 6.8 | 39 |15.4) 88 |24.9| 142 |42.6| 243 |10.2| 58
=5 600-8002+H o|gt (262) | 5.7 | 15 |12.6| 33 |23.7| 62 |45.00 118 13.0| 34
800gtel o|At | (213)| 4.7 | 10 |11.7| 25 26.8| 57 |41.3| 838 |15.5| 33



[#57] 4dg 1\ 3) Lis 4= dEe s=t=s Y TE = UL ASH)

225 (g1 | [(2mch . |[1o0® st
Mg T (5% ®a) | "y,
% N | % | N | % | N
[ RSPl | (2000) 21.3| 426 | 26.6| 532 | 52.1 1042 3.37 59.20
o 4o (1008) 17.5| 176 | 25.4| 256 | 57.1| 576 3.50 62.48
oM (992) | 25.2| 250 | 27.8| 276 | 47.0| 466 3.23 55.87
19-294| (329) | 32.2| 106 |26.4| 87 | 41.3 136 3.07 51.82
30ch (315) | 30.8| 97 |27.9] 88 41.3 130 3.07 51.83
- 40ty (386) | 22.3| 86 |28.2| 109 | 49.5| 191 3.34 58.61
50CH (417)|16.5| 69 |28.5| 119 | 54.9| 229 3.46 61.51
60ch (365) |12.6| 46 |24.4| 89 63.0 230 3.63 65.82
70M| oAk (188) |11.7| 22 |21.3| 40 67.0 126 3.71 67.69
3 (1018)20.7| 211 | 27.2| 277 | 52.1| 530 3.35 58.77
XA (210) |19.0| 40 |32.9| 69 |48.1| 101 3.37 59.17
= a=24 (192) |27.1| 52 |26.0| 50 |46.9| 90 3.23 55.86
A 2 (302) | 24.2| 73 |23.8 72 |52.0 157| 3.35 58.86
el (191) |18.8| 36 |20.9| 40 60.2| 115 3.52 63.09
Z/HF (87) |16.1| 14 |27.6| 24 56.3| 49 3.57 64.37
Meixs (329) |18.2| 60 |29.8| 98 |52.0| 171 3.40 59.95
sy (229) |[19.2| 44 |27.5| 63 | 53.3 122 3.39 59.72
Al slo| EZY (971) | 23.6| 229 | 25.6| 249 | 50.8 | 493 3.31 57.75
R (142) |12.0| 17 |28.2| 40 |59.9| 85 3.63 65.67
£ (92) |30.4| 28 |22.8| 21 46.7 43 3.16 54.08
7|t (237) |20.3| 48 |25.7| 61 |54.0| 128 3.47 61.71
2002k ojgk | (265) 20.8| 55 30.6| 81 |48.7| 129 3.39 59.72
AHa 200-400%+ o|TH (690) |23.3| 161 |27.5| 190 | 49.1| 339 3.30 57.54
7H |400-6002HA 0|2k (570) | 22.3| 127 | 24.9| 142 | 52.8| 301 3.34 58.46
=5 600-8002+ 0|t (262) 18.3| 48 [23.7| 62 |58.0 152 3.47 61.74
8002k O|4+ | (213)|16.4| 35 |26.8 57 56.8 121 3.51 62.79
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At

(2000)
(510)
(1490)
(338)
(568)
(1013)
(81)

(339)

(1661)

(1911)

(670)

= MEfo| =4t
Ha 1|
ekct

% N %
5.8 | 116

5.7 | 29

5.8 | 87 |16.4
8.0 27 [17.8
3.7 21 [14.6
59| 60 |14.6
9.9 8 123.5
4.4 15 110.0
6.1 101 |16.6
0.0 0 |[11.2
6.1 116 |15.7
3.9 30 [14.2
7.2 48 |14.5
6.8 38 18.5

33.7

26.3

24.7
27.6
28.0

1
2

40.8
40.1
32.8
44.5
41.2
30.9

46.0

39.1

34.8

40.6

43.9
40.3
35.3

650

31

775

339
270

Ch (A=)

oj$ 2o

%
11.8
15.1
10.7
13.0
10.6
11.7
16.0

20.4

10.1

20.2

11.4

13.2
10.4
11.5

N
236
77
159
44
60
119
13

69

167

102
70
64



[#57] 4dg 1\ 3) Lis 4= dEe s=t=s Y TE = UL ASH)

e =8 (2w 5 ot
NPl s T e ma) NO0E P
% | N | % N | % | N i
RSB | (2000)| 21.3| 426 | 26.6 532  52.1|1042| 3.37 59.20
E'ES oZE olst (510) | 18.6| 95 |25.5 130 |55.9| 285| 3.47 61.67
B LIS o|Ab (1490)| 22.2| 331 | 27.0| 402 | 50.8| 757 3.33 58.36
14 (338) | 25.7| 87 |28.4 96 |45.9| 155 3.25 56.29
sl o9 (568) | 18.3| 104 26.6 151 |55.1 313| 3.44 60.92
* 3-49 (1013) 20.5| 208 | 26.6| 269 52.9 536 3.38 59.55
5% 0|4 (81) |33.3 27 /19.8| 16 |46.9 38 3.20 54.94
;’JIE A (339) |14.5| 49 [19.2| 65 |66.4) 225| 3.68 66.96
=
%4;5 gle (1661) 22.7| 377 | 28.1 467 | 49.2 817| 3.30 57.62
IHE = e (89) |11.2) 10 |33.7| 30 |55.1| 49 3.64 66.01
el
=0}
ZAIR gls (1911)| 21.8| 416 | 26.3| 502 | 52.0| 993 || 3.36 58.88
= 33 ol& | (772)|18.1) 140 | 24.7| 191 | 57.1| 441 3.48 62.08
o= .
de F 1-23] (670) | 21.6| 145 | 27.6| 185|50.7| 340| 3.32 58.10
okat (558) | 25.3| 141 | 28.0| 156 | 46.8 | 261 3.26 56.54
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p
= ot
i

600-800¢HY @

8.8 | 23 |17.9| 47 | 25.6| 67 |36.6| 96 |11.1| 29
11.3) 24 (15,5 33 |27.7| 59 [ 34.3] 73 |11.3| 24

[E58] AlME M 4) L= siE2 E8% 22|E & = AUt
el B2 awx go) w0 | amd oie aud
% | N % | N| % | N| %] N| %N
"R (2000) 10.4 207 19.5 389 28.8 576 33.0 659 8.5 | 169
" A (1008) 11.4| 115 | 21.3 215 31.2 314 |28.3 285 7.8 | 79
(GRS (992) | 9.3 | 92 |17.5/ 174 |26.4| 262 |37.7| 374 | 9.1 | 90
19-20M | (329) |22.8| 75 255 84 22.5 74 225 74 6.7 22
30t} (315) | 16.5| 52 |22.9 72 30.8 97 |23.5 74 6.3 20
s 40tH (386) | 8.8 | 34 (19.4 75 31.3 121 32.6 126 7.8 30
50cH (417)| 5.5 | 23 |17.5| 73 | 32.4| 135/36.0| 150 | 8.6 | 36
60cH (365) | 4.4 | 16 |15.6 57 26.6 97 |43.0 157 10.4| 38
704l OlAF | (188) | 3.7 | 7 |14.9 28 27.7 52 415 78 12.2| 23
N (1018) 11.3| 115 |19.6| 200  26.6 271 | 34.4 350 8.1 | 82
557 (210)| 8.6 | 18 (19.5 41 36.7 77 30.5 64 4.8 10
= A=A (192) | 13.5 26 |20.8 40 27.1 52 30.7 59 7.8 15
A 2 (302) | 8.9 | 27 |18.5 56 33.4| 101 28.8 87 |10.3| 31
Haja (191)| 7.3 | 14 [19.4 37 27.2) 52 351 67 11.0| 21
2l /H F (87) | 8.0 7 [17.2) 15 26.4 23 |36.8 32 11.5| 10
MYFEE | (320) 3.3 | 11 10.9 36 28.9 95 46.2| 152 10.6| 35
X e (229)| 9.2 | 21 [18.8 43 30.6 70 32.8 75 8.7 | 20
g | HOISEE [(971) 119 116 217 211 27,7 269 313  304| 7.3 | 71
PAESE (142)| 6.3 9 (12.7 18 32.4 46 |39.4 56 9.2 | 13
sty (92) |19.6 18 |27.2 25 21.7 20 |25.0 23  6.5| 6
! (237) | 13.5| 32 |23.6) 56 32.1 76 20.7 49 |10.1| 24
2008kl Olgt | (265)| 9.4 | 25 20.0 53 32.8 87 |27.5 73 10.2| 27
agz 2004002 OISt (690) 1.3 78 |20.0) 138 28.6 107 33.5 281 6.7 46
7k7 |400-6002+8l DlBH (570) 10.0| 57 120.7| 118 29.1 166 32.6| 186 | 7.5 | 43

5 (262)
(213)

8002+l 0|4}



0x
NE

e
o

=
x|of

)|
i)

dgyz
7t

=
25

286 |

[ JRSbl |
=1
oM
19-29A|
30cH
40ti
50cH
60cCH

70M| of At

2002+t of
200-4002H4
400-6002+H
600-8002+H
8002+ of

|:|‘_|.
o|
o|
o|

A}
o

|:|‘_|.
|:|‘_|.

|:|‘_|.

At

(2000)| 29.8
(1008)| 32.7
(992) | 26.8
(329) | 48.3
(315) | 39.4
(386) | 28.2
(417) | 23.0
(365) | 20.0
(188) | 18.6
(1018) 30.9
28.1
34.4
27.5
26.7
(87) |25.3
14.3
27.9
33.7
19.0
(92) | 46.7
37.1
29.4
31.3
30.7
26.7

315
59
66
83

22
47
64

327
27
43
88
78

216

175
70

26.8| 57

28.8| 576
31.2| 314
26.4| 262
22.5| 74
30.8| 97
31.3] 121
32.41 135
26.6| 97
27.7| 52
26.6| 271
36.7| 77
27.1| 52
33.4| 101
27.2| 52
26.4| 23
28.9| 95
30.6| 70
27.7| 269
32.4| 46
21.7| 20
32.1| 76
32.8| 87
28.6| 197
29.1] 166
25.6| 67
27.7| 59

41.4
36.1
46.8
29.2
29.8
40.4
44.6
53.4
53.7
42.4
35.2
38.5
39.1
46.1
48.3
56.8
41.5
38.6
48.6
31.5
30.8
37.7
40.1
40.2
47.7
45.5

375
69
29
73

100

277

229

125
97

3.10
3.00
3.20
2.65
2.80
3.11
3.25
3.39
3.44
3.08
3.03
2.98
3.13
3.23
3.26
3.50
3.13
3.00
3.32
2.72
2.90
3.09
3.04
3.07
3.23
3.19

(1007 &ht
g
52.43
49.95
54.94
41.19
45.08
52.78
56.18
59.86
60.90
52.06
50.83
49.61
53.23
55.76
56.61
62.46
53.28
50.08
58.10
42.93
47.57
52.26
51.05
51.75
55.82
54.69



[E58] AlMdE W=
ISPl |

EYES 1nE olst

] L= ofAb
19
e 2%

A

T 3-49

5% old

of& ol

XI°_|:‘ PN=]

2'<_

23 A
HE S L=
T

=0f
Z AR} A=

F 35| o|4t

s - .

i 1-23]

gl T

Ol'ém}'

At

(2000)| 10.4
(510)
(1490)/10.9
(338)
(568)
(1013)/10.0
(81)

8.6

15.7
6.5

19.8

(339) | 7.7

(1661)/10.9

(89) | 2.2

(1911)10.7 | 205

8.3 | 64
9.7 | 65
14.0| 78

(772)
(670)
(558)

15.7

19.6

171
201
21.9

37.1

28.4

28.9
28.4
29.2

74

502

33

33.0
36.1
31.9
28.1
36.4
33.2
25.9

43.4

30.8

36.0

32.8

356.2
34.9
27.4

32

627

272
234
153

oj$ 2o
% N
8.5 169
11.2| 57
7.5 112
8.3 | 28
8.6 | 49
8.4 85
8.6 7
121 41
7.7 128
9.0 8
8.4 | 161
10.5| 81
6.9 | 46
7.5 | 42
% | 287



[H58] AldE WK 4) L FME
=
At B
%
BN | (2000)| 29.8
= IZE ot (510) | 23.1
B STEPY! (1490) 32.1
14 (338) 137.9
pI=E 29 (568) | 25.2
* 3-49 (1013) 28.8
5% ofAt (81) | 40.7
A 2g (339) | 22.7
-:F
23 e (1661) 31.2
INE 3 AS (89) | 18.0
4
&0}
Z AR} e (1911) 30.4
Z 33| o4t (772) | 25.4
= _
s x 1-23| (670) | 29.9
okst (558) | 35.8

288 |

519

580

196
200
200

37.1

28.4

28.9
28.4
29.2

74

502

33

543

223
190
163

45.7
41.8
34.9

640

40

788

353
280

3.10
3.27
3.04
2.91
3.22
3.11
2.83

3.37

3.04

3.34

3.09

3.23
3.09
2.93

(1007 shet
gz]
52.43
56.67
50.97
47.78
55.50
52.79
45.68

59.29

51.02

58.43

52.15

55.63
52.28
48.16



A2 orc JX| gt ESso|ct a8k (o9

% N | % | N| % | N| %| N| %

[ RSBl | (1172) 4.9 | 58 |19.2| 225|38.4) 450 35.0 410 | 2.5

e =y (644)| 4.7 | 30 |19.6| 126|37.1| 239 |37.0| 238 | 1.7

04y (528) | 5.3 | 28 |18.8| 99 |40.0| 211 |32.6| 172 | 3.4

19-29A (233)| 9.4 | 22 |22.3| 52 |36.5| 85 |28.3| 66 | 3.4

30cH (221) | 5.4 | 12 [19.0| 42 |45.2| 100 |29.4| 65 | 0.9

- 40cH (230) | 4.8 | 11 |18.7| 43 |42.6| 98 |31.3| 72 | 2.6

50CH (231)| 4.8 | 11 |16.5| 38 |33.8| 78 |42.0| 97 | 3.0

60CH (170)| 1.2| 2 |25.3| 43 |31.8| 54 [39.4| 67 | 2.4

70M| 0|4t (87) | 0.0 0 | 80| 7 |40.2 35 49.4 43 |23

| (586) | 4.6 | 27 |20.5| 120 |39.2| 230 |34.1| 200 | 1.5

ek (136) | 3.7 | 5 |18.4| 25 |42.6| 58 [30.9| 42 | 4.4

A= z284 (118)| 5.9 | 7 |20.3| 24 |35.6| 42 |33.9| 40 | 4.2

X 2 (184) 5.4 10 |17.9 33 |36.4| 67 37.0 68 | 3.3

MakA (103)| 6.8 | 7 |12.6| 13 |40.8| 42 |37.9]| 39 | 1.9

Z/H T (45) | 4.4 | 2 |22.2] 10 |24.4| 11 |46.7| 21 | 2.2

HAFH (142)| 42| 6 |14.8| 21 |42.3| 60 [33.8| 48 | 4.9

=74 (134)| 6.0 | 8 |[17.9| 24 |40.3 54 |34.3| 46 | 1.5

e slo|E#HE (596) | 5.0 | 30 |20.1| 120 | 37.8| 225 |34.6| 206 | 2.5

A e (73) | 1.4 | 1 |19.2| 14 |34.2| 25 |43.8) 32 | 1.4

sHY (63) |12.7| 8 |22.2| 14 [30.2) 19 ' 31.7) 20 | 3.2

7| gt (164)| 3.0 | 5 |19.5| 32 |40.9| 67 |35.4| 58 | 1.2

2002 ojgk | (165)| 4.8 8 | 18.2) 30 |38.8| 64 345/ 57 | 3.6

P 200-4002H o|gH (413) | 5.3 | 22 |19.4| 80 |41.2) 170 32.7 135| 1.5

7k |400-600%HY O|2H (341) | 4.7 | 16 |17.9] 61 |38.7| 132 35.8 122 | 2.9

= 600-8002+ o|gH (137) | 4.4 | 6 |21.9| 30 |33.6 46 36.5 50 | 3.6
(116)

8002+ o4t 52| 6 |20.7| 24 |32.8| 38 |39.7| 46 | 1.7

[e¢]

N OO N NN

[o) NN O) NN \C RN\

—_
o

n o



225 (g1 | [(2mch . |[1o0® st
At B (5% ®a) | "y,
% N % N % N
RSB | (1172) 241 283 38.4 450 37.5 439 3.1 52.71
g =2 (644) |24.2| 156 | 37.1| 239 | 38.7| 249 3.1 52.87
ofM (528) |24.1 127 | 40.0| 211 36.0 190 3.10 52.51
19-294 (233) | 31.8| 74 36.5 85 31.8 74 2.94 48.50
30t (221) | 24.4| 54 | 45.2) 100  30.3 67 3.01 50.34
o 40cH (230) | 23.5 54 42.6| 98 33.9 78 3.08 52.07
50cH (231) |21.2) 49 33.8| 78 45.0 104| 3.22 55.52
60cH (170) |26.5 45 31.8 54  41.8 71 3.16 54.12
70M 0|4k (87) | 8.0 7 40.2 35 51.7| 45 3.46 61.49
| (586) | 25.1 147 | 39.2| 230 35.7 209 | 3.08 51.88
s8A (136) | 22.1| 30 42.6 58 35.3 48 3.14 53.49
VES Z=4 (118) |26.3 31 35.6 42 38.1 45 3.10 52.54
ok Zu (184) | 23.4| 43 |36.4 67 40.2| 74 | 3.15 53.67
et (103) [19.4 20 40.8 42 39.8 41 3.16 53.88
2/ E (45) | 26.7 12 |24.4 11 48.9| 22 3.20 55.00
NIEEC (142) [19.0 27 42.3 60 38.7 55 3.20 55.11
54 (134) |23.9| 32 140.3| 54 |35.8| 48 3.07 51.87
s slo|EZ (596) | 25.2| 150 | 37.8| 225 37.1 221 3.09 52.35
A (73) |20.5| 15 |34.2| 25 452 33 3.25 56.16
B2 (63) 134.9 22 30.2 19 34.9 22 2.90 47.62
7| e} (164) |22.6| 37 40.9 67 36.6/ 60 3.12 53.05
2009kl o|gk | (165) [23.0| 38 38.8 64 | 38.2 63 3.14 53.48
gy g 20074002 vlgt (413) 247 102 41.2) 170 |34.1] 141  3.06 51.39
7k |400-6009H2 0|2H (341) [22.6| 77 1 38.7| 132 38.7 132 3.14 53.59
25 600-8002tel ojet (137) | 26.3 36 | 33.6 46 401 55 3.13 53.28
8002+l O|Ak | (116) 25.9 30 |32.8| 38  41.4 48 3.12 53.02
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[E59] Mg W] 4-1) Lt MES
= AS A 2o AHH)
M& x|
Al B
% | N
RSB | (1172) 4.9 | 58
-’-El'f';' & O|3|' (269) 5.2 14
EE ENIPN (903) | 4.9 | 44
194 (215) | 7.9 | 17
PIE oy (312) | 22| 7
3-49 (592) | 4.4 | 26
5% 0| At (53) 115.1 8
;’JE 9 (151) | 7.3 | 11
~
2; elg (1021), 4.6 | 47
IHE 3 A2 (49) 1 0.0 0
Fake]
=0}
EJN ole (1123)| 5.2 | 58
= 33| o|4 (419) 4.1 | 17
=
Hie z 1-23] (390) | 5.4 | 21
okst (363) | 5.5 | 20

16.3

19.3

16.5
17.4
24.2

217

69
68
88

38.4
42 .4
37.2
36.3
40.1
38.9
32.1

34.4

39.0

37.8

35.6
38.5
41.6

52

398

25

2 H2 glen, &
agc oje 2o
% N % N
35.0/ 410 2.5 | 29
32.3/ 87 | 3.0 8
35.8/ 323 | 2.3 | 21
34.00 73 | 0.9 2
35.6/ 111 | 2.2 7
35.5/ 210 | 2.9 | 17
30.2) 16 | 5.7 3
35.1 53 | 5.3 8
35.00 357 | 2.1 | 21
30.6/ 15 | 2.0 1
35.2/ 395 | 25| 28
40.3/ 169 | 3.6 | 15
36.9 144 1.8 7
26.7) 97 | 1.9 7
W22 BAE | 291



| b |
2= IE olst
o
2= 0z ola
19
78 2%
3-4Y
5% o|4
ol & ol
AF oo
70;{‘%:..{ HA DT
IE 3 e
ok
o}
Z AR} AnS
F 33 of&
2& =
F 1-23|
gl

292 |

%
(1172) 24.1
(269) | 22.3
(903) | 24.7
(215) | 28.8
(312) | 22.1
(592) | 22.8
(53) | 32.1

(151) 1 25.2

(1021) 24.0

(49) 16.3

(1123) 24.5

(419) | 20.5
(390) | 22.8
(363) | 29.8

283
60
223
62
69
135

38

245

275

86
89
108

38.4
42.4
37.2
36.3
401
38.9
32.1

34.4

39.0

37.8

35.6
38.5
41.6

52

398

25

425

149
150
151

% N
37.5| 439
35.3] 95
38.1 344
34.9| 75
37.8/ 118
38.3| 227
356.8| 19

40.4| 61

37.0| 378

32.7, 16

37.7| 423

43.9 184
38.7| 151
28.7| 104

3.11
3.11
3.11
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3.16
3.14
2.94
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3.23
3.12
2.95

52.63
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X gl ESo|C =l
el o | gt 2solct i

N % N % N % N
| b | (2000) 0.3 | 5 | 7.0 | 139 44.7 893 |43.3| 865
4

g A (1008)| 0.4 7.4 75 | 43.8| 442 | 42.4| 427
oy (992) | 0.1 | 1 | 6.5 | 64 |45.5| 451 | 44.2| 438

19-29A (329)| 0.6 | 2 | 7.6| 25 |38.3 126 46.5 153

3och (315) | 0.3 | 1 | 86| 27 |47.9| 151 |39.4| 124

- 40CH (386) | 0.3 1 | 80| 31 |49.2/ 190 |37.3| 144
50CH (417)/ 0.0 0 | 7.2| 30 |50.4| 210 |39.3| 164

60CH (365)| 0.3 | 1 | 52| 19 |39.7| 145 |49.6| 181

70M| 0|4t (188)| 0.0 | 0 | 3.7 | 7 |37.8] 71 |52.7| 99

| (1018) 0.1 | 1 | 7.2 | 73 | 44.6 454 43.2 440

ek (210)/ 0.0 | 0 | 6.2 | 13 |51.0/ 107 |38.1| 80

= z284 (192) | 0.0 | 0 | 57| 11 |44.3| 85 [47.9| 92
X 2 (302) 0.3 1 | 7.3| 22 421|127 46.0 139
MakA (191)| 0.5 1 | 6.3 | 12 |41.4| 79 |43.5 83

ZA/HF (87) | 23| 2 | 92| 8 |47.1| 41 356 31
HeFs (329)| 0.0 | 0 | 46| 15 |48.3 159 44.1 145

e (229) | 0.4 | 1 |11.8| 27 |48.9| 112 | 36.7 84

Al slo|EZY (971) | 0.0 | 0 | 6.9 | 67 |43.9) 426 43.9 426
Rpd e (142)| 0.7 | 1 | 42| 6 |49.3| 70 |41.5 59

i (92) | 0.0| 0 | 87| 8 |21.7) 20 63.0 58

7|Et (237) | 1.3 | 3 | 6.8 | 16 |44.7/10639.2] 93

2002kl ojgk | (265) 0.4 | 1 | 8.7 | 23 |47.2| 125|38.1| 101

e 200-4002+2 O|2H (690) | 0.3 | 2 | 7.1 | 49 | 48.3| 333 |40.3| 278
7H |400-6002H 0|2H (570) | 0.0 | O | 7.5 | 43 |42.5| 242 |45.4| 259
=5 600-8002+ o|gk (262) | 0.8 | 2 | 5.7 | 15 |43.5 114 42.7| 112
8002k Ol | (213) 0.0 0 | 4.2 9 37.1| 79 |54.0| 115



(2] (2% ] [100% it

otr]|
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[ RSPl | (2000), 7.2 | 144 | 44.7 893 48.2 963 3.46 61.40

e e (1008)| 7.8 | 79 |43.8| 442 | 48.3| 487 3.46 61.51
oM (992) | 6.6 | 65 |45.5 451 | 48.0| 476 3.45 61.29

19-294| (329) | 8.2 | 27 |38.3| 126 | 53.5 176 3.52 62.92

30ch (315)| 8.9 | 28 |47.9| 151 43.2| 136 3.38 59.44

- 40ty (386) | 8.3 | 32 |49.2| 190 |42.5| 164 3.39 59.78
50CH (417)| 7.2 | 30 |50.4| 210 | 42.4| 177 3.38 59.59

60cCH (365) | 5.5 | 20 |39.7| 145 | 54.8| 200 3.54 63.56

70M| o4t (188)| 3.7 | 7 |37.8/ 71 |58.5 110 3.61 65.16

=23 (1018)| 7.3 | 74 |44.6| 454 | 48.1| 490 3.46 61.42

XA (210)| 6.2 | 13 |51.0| 107 | 42.9| 90 3.41 60.36

= a54 (192) | 5.7 | 11 |44.3| 85 |50.0| 96 3.46 61.59
A a4 (302) | 7.6 | 23 |42.1 127 |50.3 152 3.47 61.67
el (191)| 6.8 | 13 |41.4| 79 |51.8] 99 3.53 63.22

Z/HF (87) |11.5| 10 |47.1| 41 41.4 36 3.33 58.33
Meixs (329) | 4.6 | 15 |48.3| 159  47.1| 155 3.46 61.40

sy (229) |12.2| 28 |48.9| 112 |38.9| 89 3.28 57.10

Al slo| EZY (971) | 6.9 | 67 |43.9| 426 49.2| 478 3.48 61.92
R (142)| 4.9 | 7 |49.3| 70 |45.8| 65 3.44 61.09

£ (92) | 8.7| 8 |21.7 20 69.6] 64 3.67 66.85

7| &t (237)| 8.0 | 19 |44.7| 106 47.3 112 3.46 61.50

2008kl Ojgk | (265) 9.1 | 24 47.2| 125 |43.8| 116 3.40 60.00

e 200-4002+ O|2H (690) | 7.4 | 51 | 48.3| 333 | 44.3| 306 3.41 60.18
7H |400-6002HA 0|2H (570) | 7.5 | 43 | 42.5| 242 | 50.0| 285 3.47 61.75
=5 600-8002+¢) 0|2t (262) | 6.5 | 17 |43.5| 114|50.0| 131 3.50 62.50
8002t oA | (213)| 42| 9 |37.1 79 |58.7| 125 3.59 64.79
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(2000)| 0.3

IZE o|st (510) | 0.2 | 1
Z ol (1490) 0.3 | 4
19 (338) 0.0 ©
2y (568) | 0.2 1
3-494 (1013)] 0.2 | 2
54 of4 (81) | 2.5 2
AS (339)| 0.3 1
AnS (1661) 0.2 | 4
S (89) | 0.0 0
A2 (1911) 0.3 | 5
35 ol | (772) 0.1 | f
1-23] (670) 0.1 | 1
kst (558)| 0.5 | 3

=2, Mao i3l
JYRA gk 28olct
% | N | % | N
7.0 139 44.7 893
8.2 | 42 |46.5 237
6.5 97 |44.0 656
9.8 | 33 |45.3 153
6.0 34 | 46.3 263
6.7 | 68 |43.6 442
4.9 4 432 35
21| 7 37.8 128
7.9 132 46.1 765
4.5 4 449 40
7.1 185 |44.6 853
5.3 | 41 |40.0 309
6.6 44 | 44.6 299
9.7 | 54 |51.1 285

T )
Jgct o a2
% N % N
43.3 865 4.9 | 98
40.4| 206 | 4.7 | 24
442/ 659 | 5.0 | 74
39.9/ 135 5.0 | 17
4421 251 3.3 | 19
44.0| 446 | 5.4 | 55
40.7| 33 | 86| 7
51.9| 176 | 8.0 | 27
415/ 689 43| 71
38.2] 34 [12.4) 11
43.5| 831 | 4.6 | 87
47.3| 365 7.3 | 56
445|298 4.2 | 28
36.2| 202 | 2.5 | 14
w0 AN | 295



225 (g1 | [(2mch A s
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% | N | % | N| % | N i
[ Bl | (2000)| 7.2 | 144 | 44.7| 893 | 48.2| 963 3.46 61.40
E'ES IE olst (510) | 8.4 | 43 | 46.5| 237 | 45.1] 230 3.41 60.29
B Z ol4  (1490) 6.8 101 44.0 656 49.2) 733| 3.47 61.78
14 (338) | 9.8 | 33 |45.3| 153 |45.0| 152 3.40 60.06
Jk7e 2y (568) | 6.2 | 35 |46.3 263 |47.5| 270 3.45 61.14
* 3-43 (1013)| 6.9 | 70 |43.6| 442 | 49.5 501 3.48 61.94
53 0|4 (81) | 7.4 | 6 143.2) 35 |49.4 40 3.48 62.04
;’JE AS (339) | 2.4 | 8 |37.8| 128 |59.9| 203 3.65 66.30
=
%4;5 = (1661)| 8.2 | 136 | 46.1| 765 | 45.8| 760 3.42 60.40
INE 3 A2 (89) | 45| 4 |44.9 40 |50.6 45 3.58 64.61
A
2o}
Z AR} = (1911)| 7.3 | 140 | 44.6| 853 | 48.0| 918 3.45 61.25
Z 33 0|4k | (772)| 5.4 | 42 |40.0 309 | 54.5 421 3.56 64.05
e _
e F 1-23 (670) | 6.7 | 45 |44.6| 299 | 48.7| 326 3.46 61.49
obst (558) |10.2| 57 |51.1| 285 |38.7| 216 3.30 57.62
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NER ﬁasg:cfg Mawm g wsodt | azc

% N | % N | % | N| %

[ RSBl | (2000) 10.2| 203 | 49.3| 986 | 29.4| 587 | 9.6

e e (1008) 10.1| 102 | 46.0| 464 | 29.3| 295 12.0

04y (992) |10.2| 101 |52.6| 522 | 29.4| 292 | 7.1

19-294 (329) | 8.5 | 28 |44.7| 147|28.0/ 92 |15.2

30th (315)| 7.0 | 22 |42.9| 135|34.3 108 | 14.3

ol 40CH (386)| 9.8 | 38 |51.3 198 28.8| 111 | 7.8

50cH (417) [10.1| 42 | 48.9| 204 | 32.4| 135 | 8.2

60CH (365) |11.8| 43 |55.3| 202 |25.2| 92 | 6.6
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X 2 (302) | 12.3| 37 |51.3| 155 24.5| 74 | 9.6

MakA (191)| 9.9 | 19 |51.3| 98 26.7| 51 | 8.4

UA/HF (87) [13.8| 12 |41.4) 36 |29.9 26 |12.6

HeFs (329) | 8.8 | 29 |54.4| 179 29.8| 98 | 6.4

e (229)| 7.9 | 18 |47.2/ 108 34.1| 78 | 8.3

Al slo|EZ (971) |10.4| 101 | 48.4| 470 | 28.7| 279 | 10.8

Rpd e (142) [12.0| 17 |52.8| 75 |26.1| 37 | 8.5

B (92) | 7.6 | 7 |53.3 49 |18.5| 17 |[17.4

7|t (237)|13.1| 31 |44.3/105|32.9/ 78 | 7.6

2002k gjgk | (265) | 9.4 | 25 |41.1| 109 |36.2| 96 | 10.9

P 200-4002H) 0|2k (690) | 8.6 | 59 |49.6| 342|30.6) 211 | 9.6
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(28] | (2% [1008 2
RGN EY
% N % N % N

mEA W (2000) 59.5 1189 29.4 587 11.2 224 | 2.43 35.81

o =AM (1008) 56.2| 566 | 29.3| 295 | 14.6| 147 2.51 37.72
0f4d (992) 62.8| 623 |29.4 292 | 7.8 | 77 | 2.35 33.87

19-20A] (329) |53.2| 175 |28.0 92 | 18.8 62 | 2.61 40.20

30t (315) | 49.8 157 |34.3 108 15.9| 50 |  2.61 40.16

s 40t (386) | 61.1 236 | 28.8 111 10.1 39 |  2.41 35.36
50c (417) | 59.0| 246 |32.4| 135 | 8.6 | 36 | 2.40 35.01

60c (365) | 67.1| 245 | 25.2) 92 | 7.7 | 28 | 2.30 32.47

704 0l4 | (188) 69.1| 130 26.1| 49 | 4.8 9 2.20 30.05

253 (1018) 59.8 609  29.2| 297 | 11.0 112 2.42 35.49

zxA (210) |55.7| 117 |35.7| 75 | 8.6 18 | 2.48 36.90

= z=H (192) | 55.2| 106 |33.3 64 |11.5 22 | 2.49 37.37
A a4 (302) 63.6| 192 |24.5 74 |11.9) 36 | 2.38 34.60
Hapa (191) 61.3 117 |26.7| 51 |12.0, 23 | 2.45 36.13

Zel/HE (87) |55.2| 48 |29.9 26 |14.9 13 | 2.48 37.07

SR (329) 63.2/ 208 |29.8 98 | 7.0 23 | 2.36 33.89

S22 (229) | 55.0| 126 |34.1 78 |10.9| 25 | 2.51 37.66

o | CHOISHEE (071) 588 571 128.7] 279 125 121|245 36.23
TS (142) 64.8) 92 |26.1 37 | 9.2 13| 2.33 33.27

T (92) 160.9 56 |18.5 17 |20.7) 19 | 2.55 38.86

7| et (237) | 57.4/ 136 /32,9 78 | 9.7 | 23 2.4 35.34

200%tel ojab | (265) | 50.6| 134 | 36.2) 96 |13.2| 35 | 2.55 38.87

ayuz | 20040082l DIEH (690) 5B.1| 401 30.6| 211 1.3 78 | 2.46 36.59
7k 400-60082 0|2H (570) | 60.0| 342 |29.3| 167 | 10.7 61 | 2.44 35.92
*5 |600-s002r! olet (262) 65.6 172 244 64 | 99 26 | 2.3 33.02
8008kl oA} | (213) 65.7 140 23.0 49 11.3 24 |  2.31 32.63

298 |



[H61] AME 18 6) 22|LI2t ME Al
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JAEES 2ot
% N
RSP (2000) 10.2 203
3= E o|st (510) | 9.8 | 50
B hE ol4  (1490) 10.3 153
19 (338) | 10.1| 34
Jtsl o9 (568) | 10.2| 58
T 3-4% (1013) 10.3| 104
5% 0|4 (81) | 8.6 7
A 212 (339) 1.5 39
=
2 glg (1661) 9.9 | 164
75 3 US (89) |11.2] 10
Fte]
=0}
Z AR} A= (1911)/10.1| 193
= 33 olA | (772) 11.5 89
o= ;
i x 1-23] (670) | 8.7 | 58
obst (558) | 10.0| 56

Sal, Augols B0l grt (%)
JEX| ot 28olct Jgct  oje a™ch
% N % N % N % N
49.3 986 1 29.4| 587 9.6 | 191 | 1.7 | 33
46.3| 236 (33.9/ 173 | 8.6 | 44 | 1.4 | 7
50.3| 750 | 27.8| 414 | 9.9 | 147 | 1.7 | 26
441 149 |30.5| 103 |13.3| 45 | 2.1 7
519/ 295/29.4/ 167 6.9 39 | 16| 9
49.1| 497 |29.1| 295 |10.1) 102 | 1.5 | 15
556/ 45 27.2| 22 | 62| 5 | 25| 2
50.4 171 1 23.3| 79 [ 10.6| 36 | 4.1 | 14
49.1| 815|30.6| 508 | 9.3 | 155 | 1.1 | 19
315/ 28 [32.6| 29 [22.5| 20 | 2.2 | 2
50.1) 958 | 29.2| 558 | 8.9 | 171 | 1.6 | 31
51.9/ 401 | 24.1| 186 10.4| 80 | 2.1 | 16
49.9| 334 129.6|/ 198 |10.3| 69 | 1.6 | 11
45.01 251 |1 36.4| 203 | 7.5 | 42 | 11 6
W52 BAE | 299
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* 3-49 (1013) 59.3
58 o|A} (81) | 64.2
A 21g (339) 61.9
=
# gle (1661)| 58.9
75 3 A2 (89) |42.7
]
=0}
= ALK} gle (1911) 60.2
733 o4 | (772) 63.5
2= _
Hie = 1-23 (670) | 58.5
okst (558) | 55.0
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N %
1189 29.4
286
903
183
353
601
52

33.9
27.8
30.5
29.4
291
27.2

2101 23.3

979 1 30.6

38 32.6

29.2

490
392
307

241
29.6
36.4

79

508

29

558

186
198
203

% N
11.2| 224
10.0| 51
173
52
48
17
86| 7

11.6

15.4
8.5

11.5

14.7| 50

10.5| 174

24,7, 22

10.6| 202

12.4| 96
11.9 80
8.6 | 48

2.43
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2.42
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2.38
2.43
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2.46
2.45

(1007 shet
gz]
35.81
36.37
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[E62) AN 08 7) Q2L Sl RN, B4, MY 5)2 ¢
Mot}

e B2 awx go) w0 | amd oie aud
% | N | % | N % | N|%| N| %] N
mEA W (2000) 13.7 274 41.3 826 29.5 590 12.5 250 3.0 60
- LA (1008) 12.8| 129 |37.4| 377 30.0 302 | 16.3 164 3.6 | 36
0fAd (092) 14.6| 145 | 45.3| 449 29.0 288 8.7 86 2.4 | 24
19-20A (329) 10.9| 36 |27.4| 90 32.8 108 23.4 77 | 5.5 18
30t (315)| 8.6 | 27 |32.1| 101 40.3 127 152 48 | 3.8 12
e 40t} (386) | 12.4| 48 |45.1| 174 30.3 117 10.1 39 21| 8
50t (417) 16.5 69 |48.0 200 24.7 103 9.1 38 1.7 7
60} (365) | 17.8| 65 |46.6| 170 | 24.9| 91 | 7.9 29 | 2.7 | 10
704l Ol | (188) | 15.4| 29 48.4 91 |23.4 44 101 19 2.7 5
Nt (1018) 11.2| 114 | 41.0 417 | 32.0| 326 12.9| 131 | 2.9 | 30
ExA (210) | 18.6| 39 |40.5 85 29.5 62 10.5 22 | 1.0| 2
H= z=a (192) | 12.0 23 |40.6| 78 29.7 57 15.6 30 2.1 | 4
A 2 (302) | 17.9| 54 |43.0 130 25.8 78 10.6 32 2.6 8
Hab (191) 16.8 32 |42.4| 81 22.0| 42 13.6 26 | 5.2 | 10
Zel/HF (87) 113.8 12 |40.2| 35 28.7| 25 10.3 9 | 6.9 6
Moz (329) | 15.5| 51 |54.4 179 23.4 77 | 4.6 15 24| 7
=74y (229) [17.0| 39 |34.9| 80 |29.7| 68 [14.8 34 | 3.5| 8
g | TOISEE 971117 114 415 403 30.2 293 141 137 25| 24
x5l (142) 12.7) 18 |37.3| 53 35.2) 50 12.0 17 2.8 4
stul (92) 115.2 14 |23.9 22 33.7 31 23.9 22 | 33| 3
7| E} (237) |[16.0| 38 |37.6| 89 |30.0| 71 [10.5 25 | 59| 14
2008kl oj3t | (265) 14.0 37 |37.4 99 29.8 79 13.6 36 53 14
aymg 20074002t Dlek (690) 4.6 101 139.7 274 31.7 219 11.2 77 | 2.8 19
JFF 400-6008 0|2H (570) 12.3| 70 |41.4 236 30.9 176 13.0 74 2.5 14
=5 |500-8008¢8l olt (262) | 15.3 40 | 45.4| 119 23.7 62 134 35 2.3 6
8002H o|AF | (213)[12.2| 26 1 46.0) 98 |25.4| 54 |13.1| 28 | 3.3 | 7
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a2 oo w=s 23t
NP [sx wa) 008 B
% N | % N | %| N g3
mEA W (2000) 55.0 1100 29.5 590 15.5 310 2.50 37.45
- LA (1008) 50.2| 506 | 30.0| 302 | 19.8 200| 2.60 40.10
0f4d (992) | 59.9| 594 | 29.0 288 | 11.1| 110|  2.39 34.75
19-20A (329) 38.3 126 |32.8 108 | 28.9 95 | 2.85 46.28
30t (315)  40.6| 128 |40.3 127 |19.0, 60 | 2.74 43.41
ot 40t (386) | 57.5 222 30.3 117 |12.2| 47 | 2.44 36.08
50t (417) | 64.5 269 |24.7 103 10.8 45 | 2.31 32.85
6oc (365) 64.4 235 24.9 91 10.7| 39 | 2.31 32.81
704 Ol4 | (188) 63.8 120 23.4| 44 12.8 24 | 2.36 34.04
N (1018) 52.2| 531  32.0| 326 15.8 161| 2.55 38.85
ExA (210) | 59.0| 124 |29.5 62 |11.4] 24 | 2.35 33.69
H= z=H (192) | 52.6| 101 |29.7| 57 |17.7| 34 | 2.55 38.80
A a4 (302) 60.9 184 |25.8 78 |13.2] 40 | 2.37 34.27
Hapa (191) 1 59.2| 113 |22.0 42 |18.8 36 | 2.48 37.04
Ze/HE (87) |54.0 47 |28.7 25 |17.2] 15| 2.56 39.08
SR (329) 69.9| 230 |23.4| 77 | 6.7 22 | 2.23 30.85
s=28 (229) | 52.0| 119 | 29.7 68 |18.3 42 | 2.53 38.21
o | OISR (071) 532 517 302] 203 166 161] 2.5 38.52
xfeiof (142) | 50.0| 71 |35.2) 50 |14.8| 21 | 2.55 38.73
St (92) 139.1| 36 |33.7) 31 |27.2| 25 2.76 44.02
7|Et (237) | 53.6| 127 |30.0| 71 |16.5 39 | 2.53 38.19
2008kgl ojgk | (265) 51.3| 136 |29.8| 79 18.9 50 |  2.59 39.72
ayuz | 200400812l DIEH (690) 54.3| 375817 219 13.9 96 |  2.48 36.92
7t7 |400-6002H O|gH (570) | 53.7| 306 | 30.9| 176 |15.4| 88 2.52 37.98
=5 | 500-800r8l olat (262) 60.7 159 | 23.7| 62 |15.6 41 | 2.42 35.50
8008k OlAF | (213) 58.2 124 25.4| 54 16.4 35 | 2.49 37.32
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29.5/ 590 |12.5/ 250 | 3.0 | 60
26.7/ 136 |14.3) 73 | 3.5 | 18
30.5| 454 {119 177 | 2.8 | 42
32.2/ 109 | 13.3| 45 | 3.0| 10
28.2/ 160 | 10.7) 61 | 2.5| 14
29.9/ 303 13.3/ 135 2.9| 29
222/ 18 |[11.1] 9 8.6 7
23.9/ 81 |13.0) 44 | 53| 18
30.6| 509 | 12.4| 206 | 2.5 | 42
34.8 31 (20.2 18 | 7.9| 7
29.3| 559 |12.1| 232 | 2.8 | 53
27.6/ 213 | 11.5) 89 | 3.5 | 27
29.6/ 198 | 13.4) 90 | 2.5 | 17
321179 12,7, 71 | 29| 16
¥% 2 57 | 303
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% N | % | N| % | N| % | N| % | N

[ RSBl | (2000) 1.0 | 20 | 3.7 | 73 |21.8 435 53.7 1073 20.0| 399

e e (1008)| 1.1 | 11 | 3.7 | 37 |21.3| 215 52.4 528 |21.5| 217
04y (992) | 0.9 | 9 | 3.6 | 36 |22.2| 220 | 54.9| 545 |18.3| 182

19-294] (329) | 21| 7 | 6.1 | 20 |26.4| 87 |47.1| 155|18.2] 60

30th (815)| 2.2 | 7 | 5.4 | 17 |29.5| 93 |47.9| 151 |14.9| 47

- 40CH (386) | 0.0 | 0 | 3.6| 14 [19.7| 76 |54.7 211 |22.0| 85
50C4 (417)| 1.0 4 | 2.6 | 11 [22.1| 92 |54.0| 225|20.4| 85

60CH (365)| 0.5 2 | 22| 8 |16.2| 59 |57.3| 209 | 23.8| 87

70M ol (188) | 0.0 | 0 |1.6| 3 |14.9| 28 |64.9| 122 18.6| 35

| (1018) 1.2 | 12 | 3.9 | 40 [18.9 192 | 56.6| 576 | 19.4| 198

ek (210)| 0.0 | 0 | 4.8 | 10 |30.0| 63 |48.1] 101 |17.1| 36

= =4 (192)| 0.5 | 1 | 42| 8 |20.3| 39 |53.6/ 103 |21.4| 41
A 2 (302) 0.3 1 | 26| 8 222 67 5506 168 19.2] 58
MakA (191) | 2.6 | 5 | 2.6 | 5 |24.6| 47 |46.6] 89 |23.6| 45

UA/HF (87) | 11| 1 |23 2 [31.0] 27 |41.4| 36 |24.1| 21
HeFs (329)| 0.9 | 3 | 3.0 10 |22.2| 73 |59.3]| 195 | 14.6| 48

g2 (229) | 1.7 | 4 | 3.9 9 |24.9| 57 |48.0] 110 |21.4| 49

Al slo|EZ (971) | 0.5 | 5 | 4.2 | 41 |20.1| 195 |54.6| 530 | 20.6| 200
Rpd e (142) | 0.7 | 1 | 1.4| 2 |26.8| 38 |47.2] 67 |23.9| 34

B (92) /3.3 3 | 1.1 1 |250| 23 |50.0/ 46 [20.7| 19

7|Et (237)| 1.7 | 4 | 42| 10 [20.7| 49 |52.7| 125|20.7| 49

2002k ojgk | (265)| 1.5 4 | 4.2 11 |27.2| 72 |48.3| 128 18.9| 50

P 200-4008H o|gk (690) | 1.2 | 8 | 4.1 | 28 |23.3) 161 55.1 380 | 16.4| 113
7} |400-6002H o|gH (570) | 0.5 | 3 | 2.8 | 16 |21.9 125 55.1 314 19.6| 112
=5 600-800%+ 0|t (262) | 1.5 | 4 | 3.4| 9 |17.9| 47 |53.1| 139 | 24.0| 63
8003 ol | (213) 0.5 1 | 42| 9 141 30 |52.6| 112 28.6| 61



0x
NE

e
o

=
x|of

)|
i)

dgyz
7t

=
25

306 |

[ JRSbl |
=1
oM
19-29A|
30cH
40ti
50cH
60cCH

_8) 71=|7F Fo{TICt

70M| of At

2002+t of
200-4002H4
400-6002+H
600-8002+H
8002+ of

|:|‘_|.
o
o
o

A}
o

|:|‘_|.
|:|‘_|.

ot

[2EX]
Al % BT

%

(2000)| 4.7
(1008)| 4.8
(992) | 4.5
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(315) | 7.6
(386) | 3.6
(417)| 3.6
(365) | 2.7
(188) | 1.6
(1018)| 5.1
(210) | 4.8
(192) | 4.7
(302) | 3.0
(191) | 5.2
(87) | 3.4
(329) | 4.0
(229) | 5.7
(971) | 4.7
(142) | 2.1
(92) | 4.3
(237) | 5.9
(265) | 5.7
(690) | 5.2
(670) | 3.3
(262) | 5.0
(213) | 4.7

N
93
48
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24
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21.8
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14.9
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30.0
20.3
22.2
24.6
31.0
22.2
24.9
201
26.8
25.0
20.7
27.2
23.3
21.9
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3.86
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3.68
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0.8 8 4.0 | 41
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1.0 20 | 8.7 | 71
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(2000) 4.7 | 93
(510) | 5.3 | 27
(1490)| 4.4 | 66
(338) | 5.0 17
(568) | 3.9 | 22
(1013)| 4.8 | 49
(81) | 6.2 5
(339)| 4.1 | 14
(1661)| 4.8 | 79
(89) | 2.2 2
(1911)| 4.8 | 91
(772) | 2.7 | 2t
(670) | 5.7 | 38
(558) | 6.1 | 34

oo
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%
21.8
23.1
21.3
23.7
21.0
21.6
21.0

17.4

22.6

34.8

18.1
23.4
24.7
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435
118
317
80
119
219

59

376

404

140
157
138

62.9

741

79.1
70.9
69.2

266

1206

56

611
475
386

ot Ao (A1)

= e
3.88 71.98
3.86 71.57
3.88 7211
3.86 71.38
3.88 72.01
3.89 72.14
3.89 72.22
3.99 74.63
3.86 71.43
3.79 69.66
3.88 72.08
3.99 74.71
3.82 70.45
3.80 70.03
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RN orc | et Solct oo t

% N % N % N % N % N

[ bl | (2000) 1.8 | 36 | 9.2 | 183 |39.1 781 40.6 812 | 9.4 | 188

g A (1008)| 2.3 | 23 | 9.5 96 |37.5 378 | 41.4/ 417 9.3 | 94
04y (992) | 1.3 | 13 | 8.8 | 87 |40.6| 403  39.8 395 9.5 | 94

19-294 (329)| 4.9 | 16 | 9.4 | 31 |42.6| 140 |34.3| 113 | 8.8 | 29

30cH (315) | 3.2 | 10 |14.3| 45 37.8/ 119/35.9| 113| 8.9 | 28

- 40cH (386) | 1.0 | 4 | 7.0 | 27 |39.6| 153 | 42.0 162 |10.4| 40
50CH (417) 1.0 | 4 [10.3| 43 |38.1| 159  40.8 170 9.8 | 41

60CH (365)| 0.5 2 | 6.0 | 22 |38.6| 141 44.7/ 163|10.1| 37

70M| 0|4t (188)| 0.0 | 0 | 8.0 | 15 |36.7| 69 48.4 91 | 6.9 13

| (1018) 2.1 | 21 | 9.2 | 94 |38.1| 388|40.6| 413 | 10.0| 102

ek (210)| 1.0 | 2 [12.9| 27 [47.1| 99 |31.4| 66 | 7.6 | 16

A= =4 (192) | 1.6 | 3 | 8.9 | 17 |37.0 71 479 92 47| 9
A 2 (302) 0.7 2 |10.3 31 34.1 103 47.0 142 7.9 24
MakA (191) | 31| 6 | 47| 9 |41.9| 80 |36.1] 69 |14.1| 27

LA/HF (87) | 2.3 2 | 57| 5 |46.0/ 40 |34.5/ 30 [11.5] 10
HeFs (329) | 0.9 | 3 | 7.3 24 |42.9| 141 |39.5 130| 9.4 | 31

=74 (229) | 1.7 | 4 | 9.6 | 22 |44.5/102/36.2 83 | 7.9 | 18

- sto|EZ Y (971) | 1.2 | 12 |10.1| 98 | 35.9| 349 | 42.7| 415|10.0| 97
R (142) 0.0 0 | 7.0| 10 |40.1| 57 |43.7) 62 | 9.2 | 13

sy (92) | 76| 7 | 6.5, 6 |37.0 34 37.0 34 [12.0| 11

7| gt (237) | 42| 10 | 9.7 | 23 |41.4| 98 371 88 | 7.6 | 18

2002l ojgk | (265) 2.6 | 7 | 7.5| 20 |43.4| 115/35.8/ 95 |10.6| 28

e 200-4002Hel 0|2H (690) 2.0 | 14 | 9.6 | 66 | 42.0/ 290 |39.0) 269 | 7.4 | 51
7 |400-6002H o|gk (570) 1.6 | 9 | 8.8 | 50 |37.9 216 41.8 238 /10.0| 57
=5 600-8008+ o|gt (262) | 2.3 | 6 |10.7| 28 |35.1| 92 443 116 | 7.6 | 20
8002k O|4F | (213)| 0.0 0O | 89| 19 31.9 68 |44.1| 94 |15.0| 32
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% N | % | N| %

| ch | (2000)| 11.0| 219 | 39.1| 781  50.0

e (1008) 11.8| 119 | 37.5| 378 | 50.7

0{4 (992) | 10.1] 100 | 40.6| 403 | 49.3

19-29A| (329) [14.3| 47 |42.6| 140 |43.2

30cH (315) |17.5| 55 | 37.8| 119 | 44.8

40ty (386) | 8.0 | 31 | 39.6| 153 |52.3

50cH (417)11.3| 47 | 38.1| 159 |50.6

60cH (365) | 6.6 | 24 | 38.6| 141 |54.8

70M| o4 (188)| 8.0 | 15 | 36.7| 69 |55.3

S (1018)[11.3| 115 |38.1| 388 | 50.6

XA (210) | 13.8| 29 |47.1| 99 |39.0

454 (192) | 10.4| 20 | 37.0/ 71 |52.6

2 (302) | 10.9| 33 | 34.1| 103 |55.0

el (191)| 7.9 | 15 [41.9| 80 |50.3

2 /M (87) | 8.0| 7 |46.00 40 |46.0

HAFE (329) | 8.2 | 27 | 42.9| 141 48.9

74y (229) | 11.4| 26 |44.5| 102 | 44.1

slo|EZ 2 (971) | 11.3| 110 | 35.9| 349 | 52.7

A (142) | 7.0 | 10 |40.1| 57 |52.8

A (92) |14.1| 13 |37.0) 34 |48.9

7| et (237) |13.9| 33 |41.4| 98 |44.7

2002k o|gk | (265)|10.2| 27 | 43.4| 115 |46.4

200-4002H2l 0|2H (690)  11.6| 80 | 42.0| 290 | 46.4

400-6002+ 0|2t (570) [10.4| 59 |37.9| 216 |51.8

600-8002+l 0|2t (262) [13.0| 34 |35.1| 92 |51.9

8002l of4+ | (213)| 8.9 | 19 |31.9]| 68 59.2

1000
511
489
142
141
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211
200
104
515
82
101
166
96
40
161
101
512
75
45
106
123
320
295
136
126

3.47
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3.47
3.33
3.33
3.54
3.48
3.58
3.54
3.47
3.32
3.45
3.51
3.53
3.47
3.49
3.39
3.50
3.55
3.39
3.34
3.44
3.40
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3.44
3.65
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bl
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61.84
58.21
58.25
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62.05
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ax| gt ®Eolct | azc
RN orc [ b 1= b
% N | % | N | % N % N
LR | (2000) 1.8 36 9.2 183 39.1 781 40.6 812
3= E o|st (510)| 1.8 | 9 | 8.4 | 43 |45.5| 232 35.3| 180
B hE ol4  (1490) 1.8 | 27 | 9.4 | 140 36.8 549  42.4 632
14 (338)| 2.7 | 9 |10.4| 35 [38.5/ 130 38.8| 131
Jkel o9 (568) | 1.4 | 8 | 9.5 54 40.8 232 40.5 230
T 3-4Y (1013) 1.6 | 16 | 8.5 | 86 | 38.2| 387 | 41.7 422
534 0|4t (81) | 3.7 3 | 99| 8 395 32358 29
ne g (339) 21 7 | 6.8 23 33.6 114 44.2| 150

AZ o
2 gls (1661) 1.7 | 29 | 9.6 | 160 | 40.2| 667 | 39.9 662
715 3 A2 89) |11 1 |56 5 |42.7 38 [38.2 34

el
=0}

ZAIR glg (1911) 1.8 | 35 | 9.3 | 178|38.9| 743 40.7 778
x 33 o4 |(772) 0.8 6 | 6.6 51 351 271 45.5 351

o= ;
e = 1-23| (670)| 2.4 | 16 | 8.2 55 40.9 274 41.0 275
obst (558) | 2.5 | 14 13.8 77 | 42.3 236 33.3 186
75 2.5

NERES
o< 2ot
% N
9.4 188
9.0 | 46
9.5 | 142
9.8 | 33
7.7 | 44
10.1| 102
1.1 9
13.3| 45
8.6 | 143
1241 11
9.3 | 177
12.0| 93
7.5 50
8.1 45
A | 311
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600-8002+H 0|2t (262) [34.4| 90 20.2) 53 |14.1| 37 [13.4/ 35 | 7.3| 19 |10.7| 28

37.6/ 80 (17.4| 37 [19.2) 41 14,6/ 31 | 7.0/ 15 /4.2 9

[ RSBl | (2000)(36.0 720|18.7 373 16.3/ 326 15.3 305| 7.3 | 146| 6.5 130

o A (1008)|35.1/354(19.9/ 201(15.7/ 158|14.5 146/ 9.5| 96 | 5.3| 53
04y (992) [36.9/366/17.3/172/16.9 168|16.0 159 5.0 50 | 7.8| 77

19-294| (329) |38.6/ 127(19.8/ 65 [17.0/ 56 [11.9/ 39 [10.6 35 | 2.1| 7

30cH (315) |40.0 126|21.6| 68 [14.6 46 | 8.9| 28 9.2 29 | 5.7| 18

- 40CH (386) [38.3/148/17.6| 68 |16.3 63 |15.3 59 | 6.5 25 |6.0| 23
50CH (417) |34.1/142/19.2 80 [16.8 70 |16.1| 67 | 6.7| 28 | 7.2| 30

60CH (365) [31.8/116/16.2| 59 |16.7 61 [20.8 76 4.9 18 |9.6| 35

70M| 0|4t (188) [32.4/ 61 17.6/ 33 |16.0 30 [19.1 36 | 5.9 11 |9.0| 17

| (1018)/36.1/368/17.0 173/16.6/169|16.3 166| 7.5| 76 | 6.5 66

ek (210) [34.3) 72 19.5| 41 |14.8 31 [15.2/ 32 |9.5/ 20 | 6.7| 14

HE= z284 (192) [37.0| 71 20.3| 39 |14.6 28 [16.7/ 32 | 7.3 14 | 4.2| 8
x| 2 (302) 136.1/10921.2 64 15.9 48 [13.2 40 6.0 18 | 7.6| 23
MakA (191) |36.1| 69 20.4| 39 [15.7| 30 14.1| 27 | 6.3 12 | 7.3| 14

Z/HF (87) 135.6/ 31 |19.5 17 |23.0/ 20 |9.2| 8 |6.9 6 57| 5

HeFs (329) |34.3/113/16.1| 53 |17.9 59 [16.7 55 3.3 11 [11.6 38

e (229) |40.6/ 93 116.6| 38 |12.2 28 (19.2 44 | 3.9 9 |7.4| 17

. slo|EZ (971) |36.5/ 354 20.1/195/15.8 153|14.3 139 8.0 78 | 5.4 52
R (142) |28.2) 40 |21.1| 30 [22.5/ 32 [12.7/ 18 | 9.2 13 | 6.3| 9

i (92) 139.1/ 36 |17.4/ 16 [17.4/ 16 [12.0/ 11 [13.0 12 | 1.1 1

7|t (237) |135.4/ 84 [17.3| 41 |16.0/ 38 [16.0 38 | 9.7 23 | 5.5 13

2002H o|gk | (265) 134.0 90 (18.5/ 49 |15.1| 40 [14.0 37 |12.1] 32 | 6.4 17

. 200-400%+ o]k (690) |38.4/265(18.8/130(16.1/ 111|15.1/104| 7.1| 49 | 4.5| 31
7+ |400-6002+2 O|2H (570) (34.2195(18.2104(17.0 97 [17.2] 98 | 5.4| 31 | 7.9/ 45
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